Current Contract Information
Contract No. 01912 Catch Basin Cleaners
Page 21

State of Washington

Pricing and Ordering Information
Updated date:
 August 1, 2018
    ** Note Pricing and Ordering can be made from one of three (3) active vendors on this contract depending upon items offered under each vendor’s pricing:

1) Environ Clean  -  starting on page #3 of this document.

2) Owen Equipment – starting on page # 29 of this document.
3) Hi-Vac Corporation –starting on page 65 of this document
	Contract number:
	01912
	
	

	Contract title:
	Catch Basin Cleaners

	Purpose:
	Price adjustment for Owen Equipment

	Original award date:
	8/21/2012

	Current contract period:
	8/21/2012
	through:
	8/20/2018

	Contract term:
	Not to exceed six (6) years or 8/20/2018 

	Contract type:
	This contract is designated as mandatory use.

	Scope of contract
	This contract is awarded to Three contractor(s). 

	Primary user agency(ies):
	Seattel Public Utilities, Pierce County and Washington Department of Transportation


	For use by:
	All State Agencies, Political Subdivisions of Washington and Oregon State, Qualified Non-profit Corporations, Materials Management Center, Participating Institutions of Higher Education (College and Universities, Community and Technical Colleges).


This page contains key contract features.  Find detailed information on succeeding pages.  For more information on this contract, or if you have any questions, please contact your local agency Purchasing Office, or you may contact our office at the numbers listed below.

MCC Contact Information

	Thomas Allman, Contracts Specialist

	Phone Number:
	(360) 407-7964 

	Fax Number:
	(360) 407-9174

	Email:
	Thomas.Allman@des.wa.gov


Visit our Internet site: http://www.des.wa.gov
	Products/Services available:
	Tandem axle and 5 axle catch basin cleaners

	Ordering information:
	Contact vendors directly (see below)

	Ordering procedures:
	See below

	Term worth:
	$7,000,000


Notes:

I. State Agencies: Submit Order directly to Contractor for processing.  Political Subdivisions: Submit orders directly to Contractor referencing State of Washington contract number.  If you are unsure of your status in the State Purchasing Cooperative call (360) 902-7415 or visit https://fortress.wa.gov/ga/apps/coop/Default.aspx   

II. Only authorized purchasers included in the State of Washington Purchasing Cooperative (WSPC) and State of Oregon Cooperative Purchasing Program (DASCPP/ORCPP) listings published and updated periodically by OSP and DAS may purchase from this contract.  It is the contractor’s responsibility to verify membership of these organizations prior to processing orders received under this contract.  A list of Washington members is available on the Internet https://fortress.wa.gov/ga/apps/coop/Default.aspx, and a list of the Oregon members is available at http://www.oregon.gov/DAS/SSD/SPO/docs/orcpp-member-list.pdf contractors shall not process state contract orders from unauthorized users.

III. Contract Terms: This Document includes by reference all terms and conditions published in the original IFB including Standard Terms and Conditions, and Definitions, included in the Competitive Procurement Standards published by MCC (as Amended).

Contractor Information & Pricing
	Contractor: 
	Enviro-Clean
	Contact:
	Frank Clanton

	
	PO Box 160
	Phone:
	360.931.6999

	
	Gresham, OR
	FAX:
	503.491.2283

	Email:
	gm@envirocleanequip.com

	Supplier No.:
	W3156

	Website address:



	www.envirocleanequip.com
	Fed. I.D. No.:
	93-1298960

	Minimum orders:
	None

	Delivery:
	FOB Destination

	Delivery time:
	90-180 days After Receipt of Order (ARO)

	Credit card acceptance:
	YES- up to $15,000

	Payment terms:

Volume Discount:
	Net 30
1% with the purchase of 5 or more

	Shipping destination:
	Free On Board (FOB) Destination

	Freight:
	Prepaid and included in unit 

	Contract pricing:
	See Below

	Payment address:

Items Awarded:
	Same as order placement

See below:


	
	


Pricing shall be FOB Destination, Freight Prepaid & Included and Does Not Include Sales Tax
	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price
	Total Price

	1.
	765-77
	Truck Mounted Catch Basin Cleaner Tandem Axle 

For Product Bid Indicate:

Mfg:  Vac-Con, Inc. / International 7600
Brand/Model: V309SHAE/1000

Delivery ARO: Approx. 90 to 180 days ARO, (90 days after receipt of chassis)
	1
	EA
	$347,327.00


	

	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price
	Total Price

	2.
	765-77
	Truck Mounted Catch Basin Cleaner 

Five (5) Axle
For Product Bid Indicate:

Mfg: Vac-Con, Inc. / International 7600
Brand/Model: 
V311LHAE/1000
Delivery ARO: 
Approx. 90 to 180 days ARO, (90 days after receipt of chassis)
	4
	EA
	$369,147.00
	

	Subtotal
	$  N/A

	Prompt Payment Discount:

(offered for 30 days or greater will be included in price of evaluation)
	N/A %
	Net 30 Days

	Price Sheet Total
	$

	Additional Prompt Payment Discount: 

(offered for less than 30 days will not be included in price of evaluation)
	N/A %
	Net 30 Days


Other: Provide additional options that may be available for this item in accordance with Appendix C, Technical Requirements. Provide additional sheet(s) if necessary.

a.






 
$ _________________
b.







$ _________________
c.







$ _________________
d.







$ _________________
International Cab & Chassis Options:

	ITEM
	CODE
	
	COST

	OMIT FR BUMPER:
	01LLK
	
	($15.00)

	7 PIECE CROSSMEMBER:
	01WBC
	
	$56.00

	20" FRONT FRAME EXT
	01WDS
	
	$176.00

	21 CFM AIR COMP
	04SPL
	
	$301.00

	ON-OFF REGEN SWITCH
	07WZY
	
	$35.00

	CIGAR LIGHTER / ASH CUP
	8518
	
	$14.00

	CIGA TYPE PWR SOURCE
	8718
	
	$24.00

	BODY BLDR WIRING INSIDE CAB
	08HAU
	
	$0.00

	J1939 HARNESS / TRANSMISSION
	O8TNX
	
	$32.00

	2 SEALED BATTERY POSTS, 1 POS, 1 NEG
	O8TRV
	
	$32.00

	MANUAL ENG FAN OVERRIDE
	12WBR
	
	$23.00

	AUTO TR DIPSTICK RELOCATE
	13WGH
	
	$24.00

	EATON ULTRASHIFT 16E09ALL 11SP (ILO ALLISON)
	13GTL
	Req Engineer Approval
	($2,500.00)

	100 GAL ALUM F/T DUAL SUPPLY & RTN
	15SSD
	
	$195.00

	CONVEX LOOK DOWN MIRROR PASS SIDE
	16SDG
	
	$45.00

	POWER WINDOWS & DOOR LOCKS
	16WJU
	
	$294.00

	EXTERIOR SUNSHADE
	16XWD
	
	$162.00

	TRACTION REAR TIRES
	*
	
	$750.00

	RT-463 REAR SUSP ILO HMX
	14UHK
	
	($560.00)

	NON POLISHED ALUMINUM WHEELS FR
	*
	
	$275.00

	NON POLISHED ALUMINUM WHEELS REAR
	
	
	$1,536.00

	BACK UP ALARM
08WDG
	$168.00

	Vertical DPF & DOC
07BDS

NAVISTAR TRAINING MINIMUM 8 TO A CLASS 8 HR MINIMUM $1800.00 PER CLASS
	$0.00


Alternate Chassis Configurations:

Pricing shall be FOB Destination, Freight Prepaid & Included and Does Not Include Sales Tax
	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price
	Total Price

	1.
	765-77
	Truck Mounted Catch Basin Cleaner Tandem Axle

For Product Bid Indicate:

Mfg:Vac-Con Freightliner

Brand/Model: V309SHAE/1000

Delivery ARO: 

	1
	EA
	$348,923.00
	

	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price
	Total Price

	2.
	765-77
	Truck Mounted Catch Basin Cleaner 

Five (5) Axle

For Product Bid Indicate:

Mfg:Vac-Con Freightliner
Brand/Model: V311LHAE/1000


Delivery ARO: 

	1
	EA
	$370,956.00
	

	Subtotal
	$

	Prompt Payment Discount:

(offered for 30 days or greater will be included in price of evaluation)
	____%
	Net 30 Days

	Price Sheet Total
	$

	Additional Prompt Payment Discount: 

(offered for less than 30 days will not be included in price of evaluation)
	____%
	Net 30 Days


Other: Provide additional options that may be available for this item in accordance with Appendix C, Technical Requirements. Provide additional sheet(s) if necessary.

a.
** See Attached Composite  regarding Oil Pan
$ ____0____________
b.
Pusher Axle




$ 11,537.00



c.
Tag Axle





$ 11,537.00



d.
*** SEE ADDITIONAL PAGE


$ _________________
Freightliner Options:
	1. 
	DD13 Liter - 1450LB/FT
	($300.00)

	2. 
	Cummins ISC 350HP - 1000LB/FT
	($9,800.00)

	3. 
	Battery Shut Off Switch In Cab Mounted
	$300.00

	4. 
	13 Gallon DEF Tank
	$20.00

	5. 
	DEF Tank Aluminum Cover
	$200.00

	6. 
	Front PTO Flange
	$200.00

	7. 
	Eaton Ultra Shift Plus FO-16E309ALL-VMS
	$10,700.00

	8. 
	Deduct 4000 Allison RDS Transmission
	($15,000.00)

	9. 
	Alcoa Frt. Aluminum Rims Two (2) - 22.5x12.25
	$400.00

	10. 
	Alcoa Rear Aluminum Rims Eight (8) - 22.5x8.25
	$1,200.00

	11. 
	Pusher/Tag Aluminum Rim Each 22.5x8.25
	$350.00

	12. 
	Stainless Steel Oil Pan
	$1,950.00

	13. 
	Fiber Glass Hood 114SD With Access Latches
	$525.00

	14. 
	Dual 24" Air Horns With Shields
	$175.00

	15. 
	Exterior Chassis Sun Visor
	$275.00

	16. 
	Power Widows & Door Locks
	$290.00

	17. 
	Day Time Running Lights
	$15.00

	18. 
	Dual Electric Horns
	$20.00




19.  Fuller RTLO16918B Manual 18 speed transmission
   <$10,300.00> Deduct
20.  80 gallon fuel tank replacing 100 gallon tank

     $136.00

21.  Suck on the Go is only available with Ultra shift              <$1,900.00> Deduct
22.  Deduct diagnostic software (for Engine)


   <$1,625.00> Deduct
23.  Deduct diagnostic software(for Allison Transmission)
   <$500.00> Deduct
24.  Deduct price for each hour of chassis training

   <$100.00> per hour
Pricing shall be FOB Destination, Freight Prepaid & Included and Does Not Include Sales Tax
	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price
	Total Price

	1.
	765-77
	Truck Mounted Catch Basin Cleaner Tandem Axle

For Product Bid Indicate:

Mfg: Vac-Con, Inc. / Kenworth T800
Brand/Model: V309SHAE/1000

Delivery ARO: Approx. 90 to 180 days ARO, (90 days after receipt of chassis)
	1
	EA
	$351,053.00
	

	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price
	Total Price

	2.
	765-77
	Truck Mounted Catch Basin Cleaner 

Five (5) Axle

For Product Bid Indicate:

Mfg: Vac-Con, Inc. / Kenworth T800
Brand/Model: 
V311LHAE/1000

Delivery ARO: 
Approx. 90 to 180 days ARO, (90 days after receipt of chassis)
	1
	EA
	$372,329.00
	

	Subtotal
	$    N/A

	Prompt Payment Discount:

(offered for 30 days or greater will be included in price of evaluation)
	N/A %
	Net 30 Days

	Price Sheet Total
	$

	Additional Prompt Payment Discount: 

(offered for less than 30 days will not be included in price of evaluation)
	N/A %
	Net 30 Days


Other: Provide additional options that may be available for this item in accordance with Appendix C, Technical Requirements. Provide additional sheet(s) if necessary.

a.
Pusher Axle       




$ 9,757.00



b.
Tag Axle





$ 9,757.00



c.
Delete WSDT radio installation


<$990.00>

 

d.
** SEE ADDITIONAL PAGE 


$ _________________
Kenworth Options:
1. Pusher axle for 3 axle configuration


$7,258.00

2. Tag axle for 3 axle configuration


$7,258.00

3. Delete WSDOT Radio installation


<$990.00> Deduct
4. Fuller RTLO16918B manual 18 speed transmission
<$10,100.00> Deduct

5. Fuller Ultrashift model FO-16E309ALL-VMS
<$3,870.00> Deduct

6. 75 Gallon fuel tank




<$85.00> Deduct

7. Delete diagnostic software for engine


<$1,200.00> Deduct

8. Delete diagnostic software for transmission

<$1,300.00> Deduct
	[image: image1]
	Dual Engine Combination 

	Auxiliary

	Ford Power Products Gas WSG-1068, 6.8 Liter, (415 CID) (10)-Cylinder, V-10, 222HP at 3200RPM/360 ftlbs at 3200RPM
	Emission Information: California Air Resources Board (CARB), Environmental Protection Agency (EPA)
	$0.00

	John Deere 6-Cylinder 185 HP at 2400 rpm 415 CID Tier 3 Flex (if available)
	Consult factory for availability - in lieu of gas
	$14,466.00

	John Deere 4- Cylinder 140 HP at 2400 rpm Tier 3 Flex (if available)
	Consult factory for availability- in lieu of gas
	$2,891.00

	John Deere Tier 4 Technology. Model: 4045HFC04 EPA Certified. 140HP @ 2400 RPM
	Please consult factory for availability
	$28,978.00

	-- Single Engine Configuration--
	In lieu of twin engine configuration
	$0.00

	Blowers
	
	

	624 Roots PD Blower
	Includes: Roots 624 PD Blower Free Air up to 3670 CFM (2650 CFM at 18" HG)
	$18,944.00

	824 Roots PD Blower
	Includes: Roots 824 RCS PD Blower Free Air up to 5197 CFM (4000 CFM at 18" HG)
	$19,846.00

	827 Roots PD Blower
	Includes: Roots 827 RCS PD Blower Free Air up to 6000 CFM (4500 CFM at 18" HG)
	$23,484.00

	MODEL CHANGES
	
	

	12 yard debris tank
	12 yard debris tank in lieu of 11 yard tank
	$4,873.00

	5 yard debris tank
	5 yard single axle in lieu of 11 yard tandem deduct
	-$5,456.00

	9 yard debris tank
	9 yard single axle in lieu of 11 yard tandem deduct
	-$4,885.00

	850 gallons of water
	850 gallons in lieu of 1000 gallons
	-$1,241.00

	1300 gallons of water
	1300 gallons in lieu of 1000 gallons
	$4,873.00

	1500 gallons of water
	1500 gallons in lieu of 1000 gallons
	$9,943.00

	

	

	Booms

	Fixed Boom - Standard
	
	$0.00

	6' Aluminum Telescoping Boom with Pendant Control Station
	
	$8,275.00

	10' Aluminum Telescoping Boom with Pendant Control Station
	
	$12,420.00

	6' Aluminum Telescoping Boom with 10" Inlet and Pendant Control Station
	10" Boom Inlet, Boom and Elbow with 10" to 8" Adapter & 8" hose
	$14,272.00

	10' Aluminum Telescoping Boom with 10" Inlet and Pendant Control Station
	10" Boom Inlet, Boom and Elbow with 10" to 8" Adapter & 8" hose
	$18,416.00

	Blower Drives

	Hydrostatic Drive
	Option Price
	$8,857.00

	High Volume Hydrostatic Drive Upgrade 
	Option Price 
	$10,621.00

	Hose Reels

	Front Mounted, Fixed, Standard
	
	$0.00

	Front Mounted, Fixed, 800' (1") Capacity
	
	$3,166.00

	Front Mounted, Articulating to Driver Side (Std Pivot)
	
	$12,274.00

	Front Mounted, Articulating to Driver Side, 800' (1") Capacity (Std. Pivot)
	
	$15,438.00

	Front Mounted, Articulating to Passenger Side (Reverse Pivot)
	
	$12,313.00

	Front Mounted, Articulating to Passenger Side, 800' (1") Capacity (Reverse Pivot)
	
	$15,478.00

	Rear Mounted, Articulating Hose Reel
	Pivot to Driver's Side
	$12,286.00

	Rear Mounted, Articulating Hose Reel, 800' Capacity
	Pivot to Driver's Side
	$15,438.00

	Front Mounted Swivel Hose Reel, 600' (1") Capacity
	
	$8,823.00

	Rear Mounted Swivel Hose Reel, 600' (1") Capacity
	
	$8,566.00

	Hose Reel Options

	Pivoting Shield / Lexan
	
	$2,512.00

	Hose Reel Shield / Lexan
	
	$1,526.00

	Hose Reel Cage
	
	$1,055.00

	Automatic Power Guide, includes electronic footage for either Omnibus or Non-Omnibus units.
	
	$7,496.00

	Electro Magnet for outrigger leg
	
	$4,415.00

	Pinch Roller for Automatic Level Wind
	
	$2,089.00

	Inspector Cam Camera System with DVR Recording Device
	Includes monitor with sun shield, pivot style, self-leveling camera with 6 in-12 in camera roller skids, 600 ft. of video cable mounted on a hydraulic reel, independent hydraulic circuit for hydraulic camera reel, automatic level wind with footage counter, DVR recording device mounted in monitor, memory card, power cable and scan disc reader, and keyboard for data entry.
	$34,094.00

	Hose Footage Counter (Standard - Driver Side)
	
	$524.00

	Hose Footage Counter (Curb Side)
	
	$524.00

	Digital electronic footage counter
	Standard on Omnibus and Power Level Wind Guide
	$3,506.00

	Metric Hose Counter (Driver Side)
	
	$524.00

	Dual Roller Level Wind Guide, plastic (in lieu of single)
	
	$165.00

	Aluminum Single Roller Level Wind Guide, (in lieu of plastic)
	
	$409.00

	Aluminum Dual Roller Level Wind Guide, (in lieu of plastic)
	
	$615.00

	HD Level Wind Guide Aluminum 
	711-24985 (A16 Variable)
	$215.00

	Water Systems

	30 gpm/3000 psi Pump
	Pump rating is 40 gpm
	$0.00

	30 gpm/3000 psi Pump - FMC / Hydro-Excavation Package
	Combo Units without Hose Reel
	$0.00

	60 gpm/2000 psi Pump
	
	$0.00

	65 gpm/2000 psi Pump
	
	$0.00

	60 gpm/2500 psi Pump
	
	$0.00

	50 gpm/3000 psi Pump
	
	$0.00

	80 gpm/2000 psi Pump
	
	$0.00

	80 gpm/2500 psi Pump 
	
	$0.00

	60 gpm/3000 psi Pump
	
	$0.00

	65 gpm/3000 psi Pump
	
	$0.00

	80 gpm/3000 psi Pump 
	
	$8,860.00

	120 gpm/2000 psi Water System (includes 500' x 1Â¼" Hose & 800' Capacity Reel) 
	
	$21,981.00

	Water System Options

	Debris Body "Power Flush" System, 8 jets
	
	$1,761.00

	Centrifugal Compressor Fan Flush Out System
	
	$1,091.00

	Water & Debris Tanks Tied Together
	
	$2,075.00

	Winter Recirculating System for Rodder Hose
	
	$937.00

	Winter Recirculating connection for low pressure circuit.
	Requires winter recirculating system for rodder hose.
	$235.00

	Winter Recirculating connection for high pressure circuit.
	Requires winter recirculation system for rodder hose.
	$404.00

	Artic Winter Recirculating System for rodder hose, includes plumbing to upper water tanks.
	
	$1,177.00

	Air Purge System
	
	$759.00

	Drivers Side Hand Gun Connection
	
	$273.00

	Rear Hand Gun Connection
	
	$273.00

	Front Bumper Hand Gun Connection
	
	$316.00

	Pre-Tank Water Filter (In-line)
	
	$316.00

	Pre-Tank Water Filter (Y-type)
	
	$846.00

	2Â½" Water Drain Gate Valve Assembly (cannot choose both 2-1/2" gate valve and 1/4 turn ball valve, only choose one)
	Note: cannot choose both 2-1/2" gate valve and 1/4 turn ball valve, only choose one.
	$266.00

	1/4 turn ball valve water drain ( cannot choose both 2-1/2" gate valve and 1/4 turn ball valve, only choose one)
	Note: cannot choose both 2-1/2" gate valve and 1/4 turn ball valve, only choose one.
	$414.00

	Automatic Continuous Fill System
	
	$1,986.00

	Folding Spray Bar Assembly with In Cab Controls
	
	$3,423.00

	Variable Flow Valve (Valve Only ) - nozzles required
	
	$391.00

	50' Capacity Retractable Hand Gun Hose Reel
	Hose included
	$1,860.00

	100' Capacity Handgun Hose Reel
	Hose Included
	$3,269.00

	Water Ring Assembly (inlet mounted)
	
	$2,013.00

	Pulsation Feature for Water Pump
	
	$3,259.00

	Lateral Cleaning Kit w/150' x Â½" Hose w/Nozzle, Dolly style mounts
	
	$2,888.00

	Lateral Cleaning Kit w/200' x 1/2" Hose w/Nozzle, Permanently Mtd, Electronically Controlled
	
	$5,335.00

	Lateral Cleaning Kit w/400' Hose w/Nozzle, Permanently Mtd, Hydraulically Controlled
	
	$6,673.00

	Hydroexcavation package includes: 50' retractable handgun hose reel wtih 50' of 1/2" high pressure hose, HP/Quick disconnect, heavy duty HP unloader valve, main control ball valve, 72â€�x1/2â€� Sch. 80 Lance w/Quick Dcn., Sngl. Fwd. Spray Nozzle, Horiz. Hand.
	Long handle storage/PVC (2) under storage box shelf - Standard
	$5,832.00

	Street Flusher, 450 GPM, air actuated spray heads, includes water and debris tanks tied together
	Consult factory for adaptability for Single Engine Design
	$30,287.00

	Auxiliary Engine Driven Hydraulics
	
	$4,190.00

	Water Pump Remote Oil Drain
	
	$245.00

	Chemical Tank (15) Gallons
	120volt Pump with Invertor (Consult Factory for Compatibility) 711-8088
	$2,857.00

	1,200,000 BTU Diesel Fired Boiler
	667-0030
	$21,136.00

	410,000 BTU Diesel Fired Boiler
	667-0039
	$17,957.00

	Anti-Freeze System
	17 gallon reservoir with ball valve for changing system. System uses bio-degradable anti-freeze only.
	$1,850.00

	FMC Water Pump Option: 30/3000, 60/2000, 65/3000, 80/2000, 80/2500
	Replaces standard Giant water pump
	$1,967.00

	Provision for Dealer/Customer installed Vaporooter Commander
	Specify Desired Location
	$0.00

	Gate Valve at Water Pump Inlet
	
	$600.00

	Water Pump Flow Meter - Omnibus Units Only
	
	$1,950.00

	FMC Water Pump Option: 30/3000, 50/3000, 60/2000, 65/3000, 80/2000, 80/2500
	Replaces standard Giant water pump
	$1,967.00

	FMC Water Pump Option: 80/3000 Must be used with minimum 185hp DIESEL engine
	Consult factory for Gasoline engine applications
	$2,267.00

	Giant upgrade for 80/3000 pump - 8000 series pump
	
	$8,100.00

	Water System Accessories

	Hand Gun Assembly, Low Pressure
	Hand Gun Only - no hose
	$281.00

	Hand Gun Assembly with 25' of Â½" hose, Low Pressure
	
	$581.00

	10' Hand Gun Hose Extension
	
	$103.00

	25' Hand Gun Hose Extension
	
	$238.00

	30' Hand Gun Hose Extension
	
	$277.00

	50' Hand Gun Hose Extension
	
	$361.00

	Water Ring (Ring Only)
	
	$424.00

	Hand Gun Bracket Assembly
	
	$64.00

	Hand Gun Assembly (2) Handle with Adjustable Spray
	
	$525.00

	Cam-locks for Water Fill Hose
	
	$217.00

	Cam-locks for Rear Drain Hose
	
	$306.00

	Additional Water Tank Sight Guage (Drivers Side)
	
	$167.00

	711-30904 Hydro. X Lance Assy. - Must Choose Hydro X. Package - 72" with quick disconnects, 1/2 schedule 80, horizontal handle
	Standard with Hydro. X Package - Extensions are Available 
	$0.00

	711-30907 A 48" Extension for 711-30904 high-pressure handwand
	Must choose 711-30904 Hydro. X Lance Assy.
	$155.00

	711-30907 B 72" Extension for 711-30904 high-pressure handwand 
	Must choose 711-30904 Hydro. X Lance Assy. 
	$165.00

	711-30903 High-pressure handwand 51"x1/2" S.S., pistol grip handle with adjustable handle (No extensions available) - Single foward jet 
	No extensions available 
	$967.00

	711-30903T Turbo Jet with Single Foward Jet
	
	$975.00

	711-30903A Multiple Forward Jets with Chisel Nozzle
	
	$985.00

	Jet Rodder Hose

	400' x 3/4" Jet Rodder Hose - Standard
	3000 psi/7500 psi 
	$0.00

	500' x 3/4" Jet Rodder Hose
	3000 psi/7500 psi 
	$404.00

	600' x 3/4" Jet Rodder Hose
	3000 psi/7500 psi 
	$808.00

	700' x 3/4" Jet Rodder Hose - (non-continuous)
	3000 psi/7500 psi 
	$1,211.00

	800' x 3/4" Jet Rodder Hose - (non-continuous)
	3000 psi/7500 psi 
	$1,615.00

	1000' x 3/4" Jet Rodder Hose - (non-continuous)
	3000 psi/7500 psi 
	$2,421.00

	400' x 1" Jet Rodder Hose - Standard
	2500 psi/6250 psi 
	$0.00

	500' x 1" Jet Rodder Hose
	2500 psi/6250 psi 
	$404.00

	600' x 1" Jet Rodder Hose
	2500 psi/6250 psi 
	$808.00

	700' x 1" Jet Rodder Hose - (non-continuous)
	Requires large hose reel - 2500 psi/6250 psi 
	$1,211.00

	800' x 1" Jet Rodder Hose - (non-continuous)
	Requires large hose reel - 2500 psi/6250 psi 
	$1,615.00

	400' x 1" - 3000 psi Jet Rodder hose
	3000 psi/7500 psi
	$584.00

	500' x 1" - 3000 psi Jet Rodder Hose
	3000 psi/7500 psi
	$1,169.00

	600' x 1" - 3000 psi Jet Rodder Hose
	3000 psi/7500 psi
	$1,724.00

	700' x 1" 3000 psi - Jet Rodder Hose - (non-continuous)
	Requires large hose reel - 3000 psi/7500 psi
	$2,012.00

	800' x 1" 3000 psi - Jet Rodder Hose - (non-continuous)
	Requires large hose reel - 3000 psi/7500 psi
	$2,832.00

	500' x 1Â¼" Jet Rodder Hose
	Standard on 120 gpm water system - 2500 psi/6250 psi
	$0.00

	800' x 3/4" Jet Rodder Hose - Continuous
	3000 psi/7500 psi
	$3,482.00

	800' x 1" Jet Rodder Hose - Continuous
	2500 psi/6250 psi
	$3,482.00

	800' x 1" 3000 psi - Jet Rodder Hose - Continuous
	3000 psi/7500 psi
	$4,698.00

	Spare Rolls of Jet Rodder Hose

	400' Spare Roll of Jet Rodder Hose
	3/4" 3000 psi or 1" 2500 psi
	$1,623.00

	500' Spare Roll of Jet Rodder Hose
	3/4" 3000 psi or 1" 2500 psi
	$2,040.00

	600' Spare Roll of Jet Rodder Hose
	3/4" 3000 psi or 1" 2500 psi
	$2,426.00

	Debris Body Options

	Hydraulic Rear Door Opener, removes door grabber
	Removes door grabber; Stand. on Highdump; Not Available w/ Flatdoor
	$3,427.00

	6" Knife Valve, Lower Rear Door Mounted with Cam-Lock (Drain hose NOT included)
	(Drain hose NOT included)
	$1,827.00

	6" Knife Valve with Center Post and Handle, in Lieu of the 5" Butterfly Valve (662-0125)
	Standard drain hose included
	$665.00

	8" Knife Valve, Lower Rear Door Mounted (Drain hose NOT included)
	(Drain hose NOT included)
	$1,978.00

	6" Air operated knife valve/Front Drivers Side Mounted w/Cam-lock and 25' of layflat hose with Cam-lock
	
	$2,500.00

	Debris Tank Inspection Hatch , 8" w/steps & handles
	
	$699.00

	Rear, Hydraulic Pump Off System, 200 GPM w/20' lay flat Hose
	Optional pump placement below
	$6,413.00

	Rear, Hydraulic Pump Off System, 350 GPM w/20' lay flat Hose
	Optional pump placement below
	$8,546.00

	Rear, Hydraulic Pump Off System, 400 gpm with 20' lay flat hose
	Optional pump placement below
	$8,546.00

	Rear, Hydraulic Pump Off System, 450 gpm with 20' lay flat hose
	Optional pump placement below
	$11,541.00

	Rear, Hydraulic Pump Off System, 575 GPM w/20' lay flat Hose
	Optional pump placement below
	$11,541.00

	Gravity Drain System; plumbing to mid-passenger side of unit, allowing return of liquids to the manhole
	
	$1,707.00

	Front gate valve, for use with Gravity Drain Option
	Must Choose Gravity Option
	$331.00

	High Dump Option, Single Axle (9 Yard)
	Includes: Rear Hydraulic Door Opener
	$14,939.00

	High Dump Option, Tandem Axle
	Includes: Rear Hydraulic Door Opener
	$18,767.00

	Ceramic Coating in Debris Tank, Single Axle
	
	$4,214.00

	Ceramic Coating in Debris Tank, Tandem Axle
	
	$5,621.00

	A Flat Style Rear Door ilo Dome Style Door Including Hydraulic Opener will be Provided
	A Wear Plate, Swing Style is Included
	$4,919.00

	Rear Splash Shield - Rear Flange Mounted
	Domed or Flat Door
	$1,722.00

	Rear Splash Shield Diamond Plate Aluminum
	
	$3,349.00

	Water Tank Side Panels, Diamond Plate Aluminum
	
	$1,545.00

	Vacuum Enhancer, Fan or PD, Air Operated
	
	$4,416.00

	Screen assembly over rear drain port in lieu of bar weldments
	
	$404.00

	Wear Plate, Swing Style 
	
	$937.00

	Rubber pad on standard deflector
	On flat door, will be on swing style wear plate
	$461.00

	Electric Vibrator
	
	$3,836.00

	Wear Plate to cover entire rear door, with hinge
	
	$909.00

	Built in Body Prop - Rear Frame Support Mounted
	
	$425.00

	Move Pump Off to Front, Driver's Side of Debris Tank
	Must be used with "Rear Pump Off System" option
	$700.00

	Move Pump Off to Front, Curbside of Debris Tank
	Must be used with "Rear Pump Off System" option
	$700.00

	Rear Door Drain Valve Flush Out Connection
	Select per valve if multiple required
	$426.00

	Stainless Steel Ball on Debris Body Level Indicator
	Replaces plastic
	$220.00

	Electrical Options

	Low Water Alarm with Light
	
	$460.00

	Body Load Limit Alarm, Level Indicator
	
	$619.00

	Rear Axle Load Limit Alarm
	
	$838.00

	Front Axle Load Limit Alarm
	
	$838.00

	Auxiliary Engine Kill Switch (Vandalism Protection)
	
	$120.00

	Safety Shut Down Switch for Boom
	Stand. on Omnibus
	$160.00

	Remote Control (Wireless): Boom, Vacuum Breaker, Throttle & Debris Body (includes Hi-Dump, if applicable). Does not include remote cable pendant controls for boom or hi dump.
	Replaces Standard Pendant
	$4,214.00

	4 Way Pendant Control Station
	
	$463.00

	6 Way Pendant Control Station (Spare)
	
	$463.00

	Grounding Cable with Screw Clamp & 25' of Cable
	
	$462.00

	Hi Dump pendant control station with 25' cable
	
	$375.00

	Back Up Alarm
	(Standard on Vac-Con 114SD Pool Trucks)
	$248.00

	Omnibus-2 Electronic Controller System-Color Monitor-Omnibus footage counter standard.
	A state-of-the-art Omnibus electronic control system with electronic joystick, and color monitor, will be supplied mounted on hose reel. The system performs numerous functions for boom, auxiliary engine (if supplied), hose reel, and vehicle control, etc. which are electronically monitored on screen. Omnibus footage counter standard.
	$4,980.00

	Omnibus Precision Power (Hammer) – MUST SELECT OMNIBUS-2 WITH THIS OPTION
	Chssis electronic control system is integrated with the machine control system so both systems work together to enhance safety interlocks. Control system replaces several individual mechanically operated hydraulic levers and electric mechanical switches.
	$3,997.00

	Grounding Mat
	
	$886.00

	Digital Scale System
	Single Axle or Tandem Axle
	$6,427.00

	Omni-View - Data Logging and Telematics System
	Requires Omnibus Option
	$8,280.00

	Additional E-stop at Dump Station
	
	$400.00

	Traffic Camera With Color Monitor - MUST PICK CAMERA PLACEMENT
	Pick up to FOUR cameras maximum
	$1,082.00

	Rear Camera Placement
	To be used with "Traffic Camera" option
	$500.00

	Curbside Camera Placement - Mirror Mounted Standard
	To be used with "Traffic Camera" option
	$500.00

	Driver's Side Camera Placement - Mirror Mounted Standard
	To be used with "Traffic Camera" option
	$500.00

	Front Bumper Camera Placement - To View Manhole Work Area
	To be used with "Traffic Camera" option
	$500.00

	Front Hose Reel Camera Placement - To View in Front of Hose Reel Area
	To be used with "Traffic Camera" option
	$500.00

	Lighting Options

	Mirror Mounted LED Strobe Light with Limb Guard
	Please Indicate Driver Side or Passenger Side; When (1) is selected, D/S is standard
	$840.00

	LED strobe with Limb Guard, Rear Debris Tank Mounted
	
	$840.00

	LED 4 Strobes - (2) front bumper / (2) rear bumper
	
	$1,733.00

	LED Arrow Board, Rear Debris Tank Door Mounted
	
	$2,263.00

	LED Arrow stick
	
	$2,343.00

	Arrow Board, D.O.T., WANCO, LED - Rear Debris Tank Door Mounted
	
	$5,928.00

	Hand Held Spot Light - LED
	
	$543.00

	Hand Held Spot Light - LED with 50' Retractable Cord
	
	$957.00

	Hand Light Connection, Rear Dump Control Location
	Reaches entire unit
	$109.00

	Limb Guard for Flood Light - each
	
	$86.00

	ICC - LED Lighting Package 
	
	$1,435.00

	LED Boom Mounted Flood Lights
	
	$751.00

	LED Rear Mounted Flood Lights
	
	$751.00

	LED Flood Light - Water Pump Work Area
	
	$394.00

	LED Flood Light - Level Wind Guide
	
	$394.00

	Midbody LED Strobes - Frame Mounted
	When picked with bumper strobes - (6) strobes total
	$880.00

	Misc Machine Options

	Heavy Reinforced Elbow "Wear Back"
	
	$1,004.00

	Heavy Duty Rubber Hose in lieu of Kanaflex (replace standard)
	(Limits Boom Rotation)
	$1,170.00

	Auxiliary engine control panel (lockable door)
	For use with Deutz & JD Auxiliary Engines
	$297.00

	Cyclone Separator, add on for fan units, consult factory for adaptability
	Contact factory for adaptability. Standard on PD units.
	$4,441.00

	Hydraulic Power Tool Option, front bumper control valve mount location
	
	$3,068.00

	Hydraulic Power Tool Option, Rear Bumper Control Valve Mount Location
	
	$3,513.00

	Offset Manhole Roller 711-0050
	
	$345.00

	Grate Lifting Hook 711-9700
	
	$403.00

	Rear Mounted Tow Hooks
	
	$320.00

	Auxiliary Engine Remote Oil Drain
	
	$251.00

	Remote Boom Grease Zerk Assembly (Ground Level - includes water pump drive)
	
	$2,166.00

	Remote Debris Tank Grease Assembly (Ground Level)
	Does not include rollers or cams
	$2,335.00

	Grease Assembly Articulating Hose Reel
	
	$1,000.00

	Remote Hi-Dump Grease Assembly (Single Axle)
	
	$1,712.00

	Remote Hi-Dump Grease Assembly (Tandem Axle)
	
	$2,048.00

	Automatic Lube System - in addition to manual remote grease options (Vac-Con Module)
	
	$4,802.00

	Automatic Lube Kit for Centrifugal Compressor
	Available on 2-Stage or 3-Stage Blower
	$2,509.00

	Hydraulic System Temperature Gauge
	
	$293.00

	Vacuum gauge front bumper location behind reel
	
	$510.00

	Plastic engraved decals - adhesive type (ilo standard)
	
	$1,553.00

	Water Cooler Rack
	
	$278.00

	Centrifugal Compressor Quiet Silencer, Class 4, 304 Stainless Steel Construction, 14in x 40in with 8in discharge, available 8-1-12
	
	$4,354.00

	Spanish Decals
	
	$0.00

	French Decals
	
	$0.00

	Vanair PTO Shaft Driven Underdeck Mount Air Compressor with Air Knife, Retractable Reel w/70' x 3/4" hose, 185 CFM at 100-150 psi rating. (Delete driver side front water tank).
	
	$26,693.00

	12VDC Auxiliary Hydraulic Pump
	Back-up to standard hydraulic pump
	$2,600.00

	Rear Bumper Assembly
	Standard on Hi-Dump
	$1,600.00

	Long Handle Storage/PVC (2) - MUST SELECT LOCATION BELOW
	
	$457.00

	Long Handle Storage Placement - Mounted in Storage Box Under Shelf
	Standard with Hydro-X package
	$0.00

	Long Handle Storage Placement - Rear of Mainframe
	Must be picked with "Long Handle Storage/ PVC (2)" above
	$0.00

	Cone Storage Rack - MUST SELECT PLACEMENT BELOW
	
	$377.00

	Cone Storage Rack Placement - Rear of Frame
	Must be used with "Cone Storage Rack" Option
	$0.00

	Cone Storage Rack Placement - Best Location Driver's Side
	Must be used with "Cone Storage Rack" option
	$0.00

	Cone Storage Rack Placement - Best Location Curbside
	Must be used with "Cone Storage Rack" option
	$0.00

	Cone Storage Rack Placement - Best Location - Vac-Con to select
	Must be used with "Cone Storage Rack" option
	$0.00

	Cone Rack, Hinged Style/Deck
	
	$679.00

	Cone Rack, Between Bogies, Tandem
	(2) racks included, one each side
	$502.00

	Misc Accessories

	Hose Guide, spare 665-0004
	
	$163.00

	Catch Basin Retriever 711-0371
	
	$515.00

	Manhole Cover Lifting Hook 681-0084
	
	$97.00

	Cover Shover 681-0143
	
	$589.00

	5# Fire Extinguisher 711-1326 (one is standard), spare
	
	$144.00

	First Aid Kit 690-0500
	
	$88.00

	Triangle Kit 690-0494 (one is standard), spare
	
	$88.00

	Grease Gun 690-0093
	
	$70.00

	Anti-Sail Mud Flaps (rear)
	
	$278.00

	Vacuum Tubing

	3' x 8" Aluminum Pipe Extension 800-0063
	
	$220.00

	4' x 8" Aluminum Pipe Extension 800-0347
	
	$242.00

	5' x 8" Aluminum Pipe Extension 800-0064
	
	$258.00

	6' x 8" Aluminum Pipe Extension 800-0089
	
	$290.00

	7' x 8" Aluminum Pipe Extension 800-0352
	
	$320.00

	8' x 8" Aluminum Pipe Extension 800-0261
	
	$320.00

	10' x 8" Aluminum Pipe Extension 800-0133
	
	$351.00

	6Â½' x 8" Catch Basin Nozzle with Serrated End 800-0065
	
	$334.00

	7Â½' x 8" Catch Basin Nozzle with Serrated End 800-0572
	
	$367.00

	Non-conducting Catch Basin Nozzle
	
	$959.00

	Leaf Nozzle, 25" x 8" No Holes 800-0088
	
	$238.00

	8" Adjustable Air Gap
	
	$377.00

	Snorkel Nozzle Kit (Includes 1- 3' pipe) 711-0031
	
	$449.00

	5' x 5" Snorkel Pipe Nozzle Extension 800-0127
	
	$144.00

	3' x 8" Clear Demo Tube 711-1255
	
	$522.00

	Circular Operator Handle 711-0172
	
	$242.00

	8" to Double 4" Y Adapter 800-0476
	
	$345.00

	8" Flange to 6" Sleeve Adapter 800-0351
	
	$172.00

	8" Quick Clamp, spare, 680-0015
	
	$36.00

	8" Gasket with Holes 690-0025
	
	$10.00

	8" Rubber Debris Hose / Per Foot 680-0001
	
	$74.00

	8" Hose End 800-0097
	
	$91.00

	8" Power Clamp 680-0016
	
	$103.00

	Rubber Kanaflex hose end for CB Tube/Hydroexcavation
	
	$106.00

	5' x 6" Aluminum Pipe
	6" Intake System
	$258.00

	3' x 6" Aluminum Pipe
	6" Intake System
	$219.00

	6' x 6" Aluminum Pipe
	6" Intake System
	$290.00

	6" Quick Clamp
	6" Intake System
	$48.00

	6" Adjustable Air Gap
	6" Intake System
	$390.00

	Pipe Storage Racks - 4 standard per unit

	Additional Pipe Rack(s), specify any requested locations in comments section, otherwise engineering will place in best available locations.
	Specify any requested location in comments section
	$170.00

	Vertical Pipe Rack (Holds 3 Pipes)
	
	$508.00

	Lazy Susan Pipe Rack (Holds 5 Pipes)
	
	$2,329.00

	Folding Pipe Rack (3), Mtd Rear Door
	
	$2,636.00

	Folding Pipe Rack (3), Tank Mtd, Driver Side
	
	$2,636.00

	Folding Pipe Rack (3), Tank Mtd, Curbside
	Not Available on 3-Yard Machine
	$2,636.00

	Additional Side Steps (8 are Standard)
	
	$97.00

	Tool / Storage Boxes

	Storage Box Behind Cab 16" x 42" x 96"
	Std on units with 1300 & 1500 gallons of water and 5 yard units with 1000 gallons
	$2,165.00

	Aluminum Storage Box Behind Cab 16" x 42" x 96"
	
	$4,649.00

	Aluminum Storage Box Behind Cab in lieu of Standard Steel
	
	$2,484.00

	(2) Roll out shelves for storage box behind cab
	
	$1,448.00

	Side Mounted Tool Box 35" x 14" x 24"
	
	$719.00

	35" x 14" x 24" Aluminum Side Mounted Tool Box, ea (ilo steel)
	
	$452.00

	16" x 13" x 72" Aluminum Side Mounted Tool Box, ea (ilo steel)
	
	$1,415.00

	2 ) 24" x 18" x 18" Steel Rear Tool Boxes, mtd each side of extended frame units, 1000 or 1300 gallons only
	
	$884.00

	2 ) 24" x 18" x 18" Aluminum Rear Tool Boxes, mtd each side of extended frame units, 1000 or 1300 gallons only
	
	$1,501.00

	12" x 18" x 96" Steel Tool Box, mounts under storage box behind cab
	
	$1,002.00

	12" x 18" x 96" Aluminum Tool Box, mounts under storage box behind cab
	
	$1,021.00

	Dry Decking - side tool boxes (6' & 35") - each
	
	$198.00

	Dry Decking - behind cab storage box (96")
	
	$484.00

	16x42x48 Steel Storage Box (Drivers Side Behind Cab)
	Consult factory for adaptability on tandem axle units
	$1,054.00

	16x42x48 Aluminum Storage Box (Drivers Side Behind Cab)
	consult factory for adaptability on tandem axle units
	$2,717.00

	24x18x18 Steel Tool Box (Extended Frame Units w/o rear tanks)
	
	$833.00

	(2) 24x18x18 Aluminum Tool Box (Extended Frame Units w/o Rear Tanks)
	
	$1,609.00

	(2) Front Bumper Tool Boxes 8"x14"x6" Aluminum 
	711-50463 Curbside/711-50484 Driver's side
	$800.00

	3/4" Spare Nozzles

	3/4" Nozzle rack
	
	$108.00

	3/4" 30 gpm - Standard Nozzle, spare
	
	$350.00

	3/4" 50 gpm - Standard Nozzle, spare
	
	$350.00

	3/4" 30 gpm Penetrator Chisel - Standard, spare
	
	$401.00

	3/4" 50 gpm Penetrator Chisel - Standard, spare
	
	$401.00

	3/4" Nozzle Pipe Assembly (skid), spare
	
	$92.00

	3/4" 30 gpm Grenade Nozzle
	
	$753.00

	3/4" 50 gpm Grenade Nozzle
	
	$753.00

	Aluminum Storm Nozzle 3/4" 30 gpm
	
	$417.00

	Aluminum Storm Nozzle 3/4" 50 gpm
	
	$417.00

	3/4" Storm Nozzle Pipe Assembly (skid)
	
	$92.00

	3/4" 30 gpm Rotating Spinning Nozzle
	
	$887.00

	3/4" 50 gpm Rotating Spinning Nozzle
	
	$887.00

	3/4" 30 gpm Little Bruce 5" Culvert Nozzle
	
	$1,306.00

	3/4" 50 gpm Little Bruce 5" Culvert Nozzle
	
	$1,306.00

	3/4" Brass Flusher Nozzle
	
	$64.00

	1" Spare Nozzles

	1" Nozzle rack
	
	$108.00

	Aluminum Storm Nozzle 1" 60 gpm
	
	$417.00

	Aluminum Storm Nozzle 1" 70 gpm
	
	$417.00

	Aluminum Storm Nozzle 1" 80 gpm
	
	$417.00

	1" Storm Nozzle Pipe Assembly (skid)
	
	$92.00

	1" 60 gpm Standard Nozzle, spare
	
	$350.00

	1" 70 gpm Standard Nozzle, spare
	
	$350.00

	1" 80 gpm Standard Nozzle, spare
	
	$350.00

	Standard nozzle
	
	$350.00

	1" 60 gpm Penetrator Chisel - Standard, spare
	
	$401.00

	1" 70 gpm Penetrator Chisel - Standard, spare
	
	$401.00

	1" 80 gpm Penetrator Chisel - Standard, spare
	
	$401.00

	Penetrator nozzle
	
	$401.00

	1" Nozzle Pipe Assembly (skid), spare
	
	$92.00

	1" 60 gpm Grenade Nozzle
	
	$753.00

	1" 70 gpm Grenade Nozzle
	
	$753.00

	1" 80 gpm Grenade Nozzle
	
	$753.00

	Grenade nozzle
	
	$753.00

	1" 60 gpm Rotating Spinning Style
	
	$887.00

	1" 70 gpm Rotating Spinning Style
	
	$887.00

	1" 80 gpm Rotating Spinning Style
	
	$887.00

	Little Bruce culvert nozzle
	
	$1,907.00

	1" 60 gpm Big Otto 8" Culvert Nozzle
	
	$1,907.00

	1" 70 gpm Big Otto 8" Culvert Nozzle
	
	$1,907.00

	1" 80 gpm Big Otto 8" Culvert Nozzle
	
	$1,907.00

	1" Brass Flusher Nozzle
	
	$75.00

	Spare Nozzles

	Standard nozzle
	
	$350.00

	Rotating Spinning Nozzle
	
	$887.00

	Big Otto culvert nozzle
	
	$1,907.00

	Leader Hose

	3/4" x 10' Length Leader Hose
	
	$244.00

	1" x 10' Length Leader Hose
	
	$244.00

	1-1/4" x 10' Length Leader Hose
	
	$244.00

	3/4" x 15' Length Leader Hose
	
	$367.00

	1" x 15' Length Leader Hose
	
	$367.00

	1-1/4" x 15' Length Leader Hose
	
	$367.00

	3/4" x 20' Length Leader Hose
	
	$391.00

	1" x 20' Length Leader Hose
	
	$391.00

	1-1/4" x 20' Length Leader Hose
	
	$391.00

	3/4" x 25' Length Leader Hose
	
	$468.00

	1" x 25' Length Leader Hose
	
	$468.00

	1-1/4" x 25' Length Leader Hose
	
	$468.00

	3/4" x 30" Length Leader Hose, Spare
	
	$115.00

	1" x 30" Length Leader Hose, Spare
	
	$115.00

	1-1/4" x 30" Length Leader Hose, Spare
	
	$115.00

	Swedge Tools

	Hydraulic Swage Kit
	
	$2,644.00

	Manual Swage Kit
	
	$1,733.00

	1" Swage End
	
	$70.00

	3/4" Swage End
	
	$66.00

	Root Cutter

	Rotating Turbine Chain Scraper 5"-10" with skids & chain 10.125TR6-10
	
	$3,804.00

	Rotating Turbine Chain Scraper with skids and Chain 10.125TR8-12 set
	
	$3,985.00

	1" to 3/4" Bushing for Chain Scraper
	
	$16.00

	1" Bulldog with skid 400.600BS
	
	$3,152.00

	3/4" Bulldog 400.060A
	
	$2,873.00

	Manuals

	Electronic Vac-Con Manual (Thumb Drive), spare
	One electronic manual standard per unit
	$179.00

	Paper Vac-Con Manual - No longer standard
	
	$179.00

	Paint - Module Options

	Paint Module: DuPont Elite White N0006EX (white is standard unless otherwise specified)
	
	$0.00

	Paint Module: DuPont Elite School Bus Yellow N0662EX
	
	$0.00

	Paint Module: DuPont Elite Safety Yellow N1155EX
	
	$0.00

	Paint Module: DuPont Elite Coca Cola Red N0252EX
	
	$0.00

	Paint Module: DuPont Elite Candy Apple Red 748727
	
	$0.00

	Paint Module: DuPont Elite Medium Blue 748701
	
	$0.00

	Paint Module: DuPont Elite Deep Blue 748718
	
	$0.00

	Paint Module: DuPont Elite Pepsi Blue N4147-HN
	
	$0.00

	Paint Module: DuPont Elite Omaha Orange 748739
	
	$0.00

	Paint Module: DuPont Elite Cat Yellow 771861EX
	
	$0.00

	Paint Module: DuPont Elite Lime Green 748724
	
	$0.00

	Paint Module: DuPont Elite Green 748713
	
	$0.00

	Paint Module: DuPont Elite Woodland Green 748708
	
	$0.00

	Undercoat - Vac-Con Module & Chassis
	
	$1,895.00

	Paint Tool Box/Storage Boxes to match Unit
	Standard - Black Powder Coating
	$697.00

	Metallic paint Option
	
	$2,854.00

	Line X Deck Coating
	In lieu of adhesive grip tape
	$2,500.00

	Paint - Module Stripe Options

	Reflective Striping, Other than standard colors
	Avail colors: Black, Red, Orange, Yellow, Green, Pink
	$625.00

	Standard Striping Package - White 692-5204-01
	
	$0.00

	Standard Striping Package - Blue 692-5204-02
	
	$0.00

	Paint - Chassis Options

	Vac-Con to Paint Cab - Specify Color
	
	$2,942.00

	Paint Chassis Hood Flat Black
	
	$697.00

	Paint - Chassis Stripe Options

	Cab "Z" Striping Package, specify Color
	Avail colors: White, Blue, Black, Red, Orange, Yellow, Green
	$1,131.00

	Cab "Small Stripes" Striping Package, Specify Color
	See available colors
	$1,131.00

	Cab Painted with Flames
	
	$2,825.00

	Pool Trucks (Chassis)

	Freightliner 108SD 4x2 37000GVWR ISL270 3000RDS
	
	$83,800.00

	Freightliner 114SD 4x2 43000GVWR ISL370 3000RDS
	
	$91,400.00

	Freightliner 114SD 6x4 66000GVWR ISL370 3000RDS
	
	$101,300.00

	Freightliner 114SD 66000 6X4 10 SPD 450HP DD13 
	
	$107,200.00

	Freightliner 114SD 6x4 66000GVWR DD13 450HP 4500RDS
	
	$119,200.00

	Freightliner 75DGE 114SD 4x2 43000GVWR ISL320 3000RDS
	
	$146,000.00

	Freightliner 115DGE 114SD 4x2 43000GVWR ISL 320 3000RDS
	
	$165,000.00

	Freightliner 75DGE 114SD 6x4 60000GVWR ISL320 3000RDS
	
	$153,500.00

	Freightliner 115DGE 114SD 6x4 60000GVWR ISL320 3000RDS 
	
	$175,700.00

	Peterbilt 348 4x2 43000GVWR PX-9 345HP 3000RDS
	Single Axle
	$96,000.00

	Peterbilt 348 6x4 66000GVWR PX-9 345HP 3000RDS
	Tandem Axle
	$105,500.00

	Pool Truck Modifications

	Roll Bogies, Single Axle
	
	$2,457.00

	Roll Bogies, Tandem Axle
	
	$3,207.00

	Air dryer - Bendix AD-9
	
	$1,401.00

	Air dryer - Bendix AD-IP
	(Standard on Vac-Con 114SD Pool Trucks)
	$2,000.00

	Air horn - single base
	(Standard on Vac-Con 114SD Pool Trucks)
	$972.00

	Air restriction gauge, dash mounted
	
	$630.00

	Air seat, passenger
	
	$1,185.00

	2-man passenger seat
	
	$1,195.00

	Block Heater
	
	$773.00

	Metric speedometer
	
	$943.00

	Heated motorized mirrors
	
	$2,685.00

	Silicone hoses
	
	$647.00

	Front Mud Flaps
	
	$123.00

	Transmission temperature gauge
	
	$1,257.00

	Spare Tire and Rim, Front (Please specify size in comments) 
	
	$1,817.00

	Spare Tire and Rim, Rear (Please specify size in comments)
	
	$909.00

	Spare Front Wheel (Please specify size in comments)
	
	$516.00

	Spare Rear Wheel (Please specify size in comments)
	
	$229.00

	12 ton jack & lug wrench
	
	$343.00

	Chassis Parts Catalog
	
	$458.00

	Chassis Operators Manual
	
	$58.00

	Parts Manual on CD-Rom
	
	$458.00

	Service Manual on CD-Rom
	
	$458.00

	Wheel Simulators
	
	$2,286.00

	Daytime Running Lights
	(Standard on Vac-Con 114SD & IH Pool Trucks)
	$458.00

	Remote Chassis Engine Start Switch
	
	$2,856.00

	Duralift "Self-steer" suspension axle: 13,500lb./Air Ride, Air Lift w/275/70R22.5 tires (Consult factory for adaptability)
	Available: Pusher or tag configuration 
	$14,490.00

	Extended Warranties

	Allison Series 3000 5-year/unlimited mileage
	Requires TrandSynd Synthetic Transmission Fluid or TES-295
	$1,725.00

	Allison Series 4500 5-year/unlimited mileage
	Requires TrandSynd Synthetic Transmission Fluid or TES-295
	$2,139.00

	IH 7300&7400: 3yrs./150,000mi. base-vehicle ext. warranty-Includes: 3yrs./UNLmi. towing, Navistar DT engine 3 yrs./150,000mi. W/Aftertreatment, Allison 3000 3yrs. is standard (Requires TrandSynd Synthetic Transmission Fluid or TES-295)
	
	$8,279.00

	IH 7300&7400: 4yrs./150,000mi. base-vehicle ext. warranty-Includes: 4yrs./UNLmi. towing, Navistar DT engine 4yrs./150,000mi. W/3yrs. of Aftertreatment, Allison 3000 5yrs./UNLmi. (Requires TrandSynd Synthetic Transmission Fluid or TES-295)
	
	$12,543.00

	John Deere auxiliary engine 3 Years/4000 hours (subject to $250 deductible) extended warranty
	
	$2,284.00

	John Deere auxiliary engine 4 Years/5000 hours (subject to $250 deductible) extended warranty
	
	$2,905.00

	John Deere auxiliary engine 5 Years/5000 hours (subject to $250 deductible) extended warranty
	
	$3,843.00

	IH 7300&7400: 5yrs./150,000mi. base-vehicle ext. warranty-Includes: 5yrs./UNLmi. towing, Navistar DT engine 5yrs./150,000mi. W/3yrs. of Aftertreatment, Allison 3000 5yrs./UNLmi. (Requires TrandSynd Synthetic Transmission Fluid or TES-295)
	
	$14,723.00

	FR 114SD: 5yrs./200,000mi. ext. warranty: Includes-5yrs. towing, Cummins-ISL370 5yr./150,000mi. (PP1 W/Aftertreatment), Allison 3000 5yrs./UNLmi. (Requires TrandSynd Synthetic Transmission Fluid or TES-295)
	
	$13,361.00

	FR 114SD: 3yrs./200,000mi. ext. warranty: Includes- 3yrs. towing, Cummins-ISL370 3yr./150,000mi. (PP1 W/Aftertreatment), Allison 3000 5yrs./UNLmi. (Requires TrandSynd Synthetic Transmission Fluid or TES-295)
	
	$8,446.00

	FR 114SD: 4yrs./200,000mi. ext. warranty: Includes- 4yrs. towing, Cummins-ISL370 4yr./150,000mi. (PP1 W/Aftertreatment), Allison 3000 5yrs./UNLmi. (Requires TrandSynd Synthetic Transmission Fluid or TES-295)
	
	$10,579.00

	Gas Engine Extended Warranty - 5YRS/5000HRS
	
	$2,400.00


WSDOT Options:
Tandem Axle
	1. Pusher Axle with a 13,500# rating will be located in front of the drive axles. Hendrickson Model Para lift Ultra Light or equal. The tires shall be 255/70R22.5 mounted on 8.25x22.5” hub piloted wheels. Fender to be included.
	
	
	
	Watson Chalin $8,450.00

	2. Tag Axle with a 13,500# rating and will be located behind the drive axles. Hendrickson Model Para lift Ultra Light or equal. The tires shall be 255/70R22.5 mounted on 8.25x22.5” hub piloted wheels. Fender to be included.
	
	
	
	Watson Chalin $8,450.00

	3. All optional axles shall be cab controlled for deployment only.  All adjustment controls will be located outside, directly behind the cab on the street side.
	
	
	
	

	4. All optional axles shall rise when the transmission is in reverse.
	
	
	
	

	5. When WSDOT chooses the additional rear mounted tag axle a chute shall be provided to ensure debris does not fall onto the axle or the unit.
	
	
	
	

	6. Bidders shall provide a deduct amount for the WSDOT radio installation. 
	
	
	
	 <$500.00> Deduct

	7. Fuller 18 Speed manual transmission, with an Easy Pedal Plus clutch and a two-piece clutch brake.
	
	
	
	<$9,250.00> Deduct

	8. An 80 gallon fuel tank for the chassis 
	
	
	
	<$65.00> Deduct

	9. Provide pricing for alternate Rodder hose reel locations.
	
	
	
	$10,00.00

	10. Wireless controls for Boom and Rodder systems (Radio Controlled).
	
	
	
	$3,800.00

	11. Add 500 gallons of water carrying capability.
	
	
	
	$4,395.00 with push axle addition, 395 gallons of water capacity can be added while meeting the State Bridge Deck Laws

	12. 300 feet of 1-inch high-pressure hose in lieu of the 1 ¼ inch hose. 
	
	
	
	Replace 1 ¼” hose with 500’ of 1” high pressure hose

	13. Shall provide a deduct amount for the entire high pressure Rodding Water System.
	
	
	
	<$12,000.00> Deduct

	14. Shall have a hose reel shield to protect the operator in case of hose failure.
	
	
	
	$1,375.00

	15. Overweight debris-warning system with a light and audible alarm.
	
	
	
	$558.00

	16. The ability of the boom to reach 24 feet from the centerline of the chassis. 
	
	
	
	

	17. Shall provide a deduct amount for each set of diagnostic software.
	
	
	
	Allison <1,450.00> Deduct
NAV Engine <2,200.00> Deduct

	18. Rear mounted hose reel in lieu of a front mounted reel. 
	
	
	
	Rear Hose Reel Mounted

	19. Provide deduct pricing for each hour of required equipment training. 
	
	
	
	No Charge for Training

	20. Option for suck on the go capability to include a fully functional boom and water flow to the hand gun.  The unit shall have the specified vacuum capability during this style of operation.
	
	
	
	Suck on the go is only available with Ultra Shift 16E09ALL 11SP (ILO Allison)
<$5,000> Deduct


WSDOT Options
5 Axle

	1. An 80 gallon fuel tank for the chassis. 
	
	
	
	<$65.00> Deduct

	2. Vendor shall provide pricing for alternate hose reel locations.
	
	
	
	$10,00.00

	3. Wireless controls for Boom and Rodder systems (Radio Controlled).
	
	
	
	$3,800.00

	4. Add 500 gallons of water carrying capability.
	
	
	
	$4,395.00 with push axle addition, 395 gallons of water capacity can be added while meeting the State Bridge Deck Laws

	5. 300 feet of 1-inch high-pressure hose in lieu of the 1 ¼ inch hose. 
	
	
	
	Replace 1 ¼” hose with 500’ of 1” high pressure hose

	6. Shall provide a deduct amount for the entire high pressure Rodding Water System.
	
	
	
	<$12,000.00> Deduct

	7. Shall have a hose reel shield to protect the operator in case of hose failure.
	
	
	
	$1,375.00

	8. Overweight debris-warning system with a light and audible alarm.
	
	
	
	$558.00

	9. Bidders shall provide a deduct amount for the WSDOT radio installation  
	
	
	
	<$500.00> Deduct

	10. Provide pricing for alternate rodder hose reel locations.
	
	
	
	Allison <1,450.00> Deduct

NAV Engine <2,200.00> Deduct

	11.  Provide a deduct amount for each set of diagnostic software.
	
	
	
	Rear Hose Reel Mounted

	12. Provide deduct pricing for each hour of required equipment training.
	
	
	
	No Charge for Training

	13. Fuller 18 Speed manual transmission, with an Easy Pedal Plus clutch and a two-piece clutch brake.
	
	
	
	<$9,250.00> Deduct

	14.  Option for suck on the go capability to include a fully functional boom and water flow to the hand gun.  The unit shall have the specified vacuum capability during this style of operation.
	
	
	
	Suck on the go is only available with Ultra Shift 16E09ALL 11SP (ILO Allison)

<$5,000> Deduct


Contractor Information & Pricing

	Contractor: 
	Owen Equipment
	Contact:
	Matt Wlodarczyk

	
	PO Box 30959

Portland, Or 97294
	Phone:
	800.992.3656

	
	
	FAX:
	503.255.9055

	Email:
	mattw@owenequipment.com

	Supplier No.:
	W2516

	Website address:
	www.owenequipment.com   
	Fed. I.D. No.:
	93-0666853

	Minimum orders:
	None

	Delivery:
	FOB Destination

	Delivery time:
	360 days or less After Receipt of Order (ARO)

	Credit card acceptance:
	Yes – up to $15,000.00

	Payment terms:
	Net 30

	Shipping destination:
	Free On Board (FOB) Destination

	Freight:
	Prepaid and included in unit 

	Contract pricing:
	See below

	Payment address:

Items Awarded:
	Same as order placement

See below

	
	


Pricing shall be FOB Destination, Freight Prepaid & Included and Does Not Include Sales Tax
	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price

	1.
	765-77
	Truck Mounted Catch Basin Cleaner Tandem Axle
Mfg: Vactor/IH 7600
For Product Bid Indicate:

Mfg:___________________________

Brand/Model: 2100 Classic Fan

Delivery ARO: 360 days or sooner
	1
	EA
	$ 358,861.00

	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price

	2.
	765-77
	Truck Mounted Catch Basin Cleaner 

Five (5) Axle
Mfg: Vactor/IH 7600
For Product Bid Indicate:

Mfg:___________________________

Brand/Model: 2100 “Plus” Fan

Delivery ARO: 360 days or sooner
	1
	EA
	$ 392,713.00


ITEM 1: Truck Mounted Catch Basin Cleaner, Tandem Axle

#0817 – Deductible Options Part Of Base Bid

	Part Number
	Description
	New Deduct Amount

	Chassis
	Deduct for IH7600 Chassis
	$112,159

	 
	 DEBRIS TANK  ACCESSORIES
	$0

	1001A
	FLAT REAR DOOR W/HYDRAULIC LOCKS AND POWER UP AND POWER DOWN OPEN/CLOSE/NO GRABBER 
NOT AVAILABLE ON HEIGHT RESTRICTED UNITS WITH LARGE WATER CAPACITY.
	$4,472

	1003A
	DEBRIS BODY FLUSH OUT SYSTEM/80-100 GPM
	$988

	1007
	6" BUTTERFLY VALVE/REAR DOOR 
	$783

	1014
	CENTRIFUGAL SEPARATOR (CYCLONE) 
MAY LIMIT WATER CAPACITY
	$2,785

	1015
	FOLDING PIPE RACK/CURBSIDE
	$686

	1015A
	FOLDING PIPE RACK/STREET SIDE
	$686

	1022
	SPLASH SHIELD - BOLTED TO BODY FLANGE REAR DOOR
	$1,006

	1023PA
	LAMINATED LUBE CHART
	$40

	 
	WATER TANK ACCESSORIES
	

	2001
	LOW WATER ALARM WITH LIGHT
	$347

	 
	BOOM ACCESSORIES
	$0

	4004
	8 FT. HYDRAULIC TELESCOPIC BOOM WITH 180 DEGREE ROTATION
	$9,217

	4006
	JOYSTICK CONTROL FOR BOOM FUNCTION (1) - FRONT
	$540

	4010
	POST TYPE FRONT BUMPER BOOM STORAGE ILO STD 
(STANDARD WITH 5X5 BOOM OPTION)
	$355

	 
	HIGH PRESSURE WATER PUMP
	

	5002A
	80 GPM/2500 PSI WATER SYSTEM - ILO STD WATER SYSTEM
	NC

	5015
	FRONT AND REAR HANDGUN COUPLERS
	$347

	 
	HOSE REEL ACCESSORIES
	

	6002 - 43571
	600' X 1" AERO-QUIP SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$655

	6004D
	PINCH ROLLER - 2100 SERIES ONLY 
(INCLUDED IN 6004A) 
	$936

	6008
	HOSE REEL MANUAL REWIND
	$347

	6011
	HANDGUN HOSE REEL - SPRING RETRACTABLE REEL WITH 50' HOSE ASSEMBLY
	$850

	6017
	HYDRAULIC SHUT - OFF VALVES AT SUCTION, RETURN AND FILTER LINE (3)
	$618

	 
	LIGHT ACCESSORIES
	

	8003
	HAND LIGHT WITH RETRACTABLE REEL 
	$369

	8008
	BRACKETS AND WIRING FOR REVOLVING OR STROBE LIGHT (EACH)  (BRACKET IS FOR REVOLVING OR STROBE ONLY) REAR
	$287

	8008A
	BRACKETS AND WIRING FOR REVOLVING OR STROBE LIGHT (EACH)  (BRACKET IS FOR REVOLVING OR STROBE ONLY) FRONT
	$287

	8011
	WORK LIGHTS (2) ON EXTENDABLE OR TELESCOPIC BOOM 
	$522

	8012
	ADDITIONAL CONNECTOR FOR HAND LIGHT 
	$94

	 
	CHASSIS ACCESSORIES
	

	9000
	ADDITIONAL VACTOR FULL PRINTED MANUAL 
	$106

	9000A
	ADDITIONAL VACTOR MANUAL 
	$106

	9015A
	45 X 16 X 12 ALUMINUM TOOL BOX (45895A)
	$701

	9016A
	96 X 30 X 16 ALUMINUM FULL WIDTH TOOL BOX (46849AB)
(REQUIRES ADDITIONAL 18" CA)
MAY NOT BE AVAILABLE ON ALL CHASSIS
	$1,310

	 
	PAINT
	

	P112
	MODULE - IMRON (PRIMER BASE)
	$1,344

	ITEM #
	SPECIAL OPTIONS/INSERT DESCRIPTIONS
	

	NPN1
	6" Standpipe
	$599

	NPN2
	Decant Flush
	$1,058

	NPN3
	Hard Elbow
	$529

	NPN4
	6" Air Gap
	$458

	NPN5
	1 1/4" x 10' Leader hose
	$67

	
	6" operator safety handle
	$317

	
	Water Pump Over Pressure Light
	$212

	
	High Water Temp, Low Oil Shutdown
	$317

	
	Handgun Shut Off Valves At Each Location
	$353

	 
	SPARE PARTS/ACCESSORIES
	

	
	#10 Storm Nozzle W/8 Replaceable  Nozzles - 80 GPM
	$244

	
	Nozzle Pipe For  #10 Nozzle - 1" Pipe (Included w/#10 Nozzle)
	$55

	
	8" Adjustable Air Adapter
	$180

	
	6" Adjustable Air Adapter
	$226

	
	6" Quick Clamp Assy
	$19

	
	8" x 6" Flange Adapter
	$79

	
	Additional 6" Lay Flat Drain Hose - 25ft
	$124

	
	Catch Basin Handle Assy
	$316

	
	6" x 3' Alum Pipe Assy
	$146

	
	6" x 7.5' Alum Pipe Assy
	$256


ITEM 1: Truck Mounted Catch Basin Cleaner, Tandem Axle

#0817 – Additional Purchase Options Available

Pricing For Converting to a Positive Displacement System


For a 16”PD –Add $4,030.00


For an 18” PD – Add $6,044.00

Pricing For Other Chassis Per Bid Specifications


For A Tandem Axle 2015 Kenworth T440 - Add $125,361, Amendment #5

For A Tandem Axle 2013 Kenworth T800 - Add $125,361


For A Tandem Axle 2013 Freightliner  114SD – Add $124,212


For A Tandem Axle 2013 Volvo VHD64F – Add $128,947


Pusher Axle – Add $9,520
Tag Axle – Add $9,914

Pricing for additional Chassis

Tandem Axle IH 7400 - $100,792.00


Single Axle IH 7400 - $91,792.00


Tandem Axle IH 7500 - $103,815.00


Single Axle IH 7500 - $94,815.00

Other Modifications to these Chassis Priced At Time Of Order 

	PART #
	DESCRIPTION
	New Price

	Tier IV Aux Engine
	Upgrade charge for Tier IV Aux Engine if required by Vactor Manufacturing
	$13,902

	2105


	Centrifugal Fan, 5 Yard Debris Body Capacity, 1000 Gallon Water Capacity as Standard
	-$2,015

	2112
	Centrifugal Fan, 12 Yard Debris Body Capacity, 1000 Gallon Water Capacity as Standard
	$5,994

	2115
	Centrifugal Fan, 15 Yard Debris Body Capacity, 1300 Gallon Water Capacity as Standard
	$13,776

	1000
	HI DUMP OPTION-INCLUDES HXX STYLE SPILL PLATE, 1300 GALLON WATER CAPACITY, FLAT DOOR HYD LOCKS/OPEN/CLOSE
12 CUBIC YARD ONLY (TANDEM AXLE ONLY)
	$16,441

	1001
	DOMED REAR DOOR WITH HYDRAULIC LOCKS (ENCLOSED) AND LOWER HYDRAULIC GRABBER ARM
	$6,771

	1001D
	DOMED REAR DOOR WITH HYDRAULIC LOCKS/HYDRAULIC OPEN AND GRAVITY CLOSE, W/GRABBER
	$9,758

	1003
	DEBRIS BODY FLUSH OUT SYSTEM/60 GPM
	$1,552

	1003B
	REAR DOOR FLUSH OUT VALVE
	$394

	1004
	DEBRIS BODY VACUUM RELIEF SYSTEM WITH DEBRIS BODY LOAD LIMIT ALARM
	$2,138

	1004B
	ONBOARD ELECTRONIC,DIGITAL SCALE SYSTEM - TIED TO VAC RELIEF & CONT FILL (IF EQUIPPED) TO MAINTAIN LEGAL LOADS
	$13,260

	1008
	6" KNIFE VALVE/REAR DOOR WITH CAMLOC 
	$1,405

	1008C
	6" PORT IN REAR DOOR WITH PERFORATED STAND PIPE AND HINGED PERFORATED SCREEN BDC 6:00 POSITION/NO VALVE
	$1,371

	1009
	SUBMERSIBLE TRASH PUMP -  INTERNAL MOUNTED - FORWARD WALL IN BODY/INCLUDES INTERNAL SCREEN/2.5 X 25' DRAIN HOSE AND HOSE HOLDER
	$11,251

	1009A
	SUBMERSIBLE TRASH PUMP/EXTERNAL MOUNTED - FORWARD WALL W/FLOATING ARM & 2.5" X 25' DRAIN HOSE AND HOSE HOLDER
	$12,090

	1009B
	TRASH PUMP SCREEN,INT (FOR PORTS ONLY)
	$1,282

	1009D
	FULL WIDTH SWINGING PERFORATED DECANT SCREEN FLAT DOOR ONLY - A SCREEN DESIGNED TO COVER VALVES LOCATED AT 6:00 AND 3:00 POSITIONS ON REAR DOOR (FULL WIDTH) AVAILABLE ON SINGLE VALVES ALSO
	$813

	1010
	(PLUMBING ONLY) FOR TRASH PUMP PLUMBED TO FRONT BUMPER - 2.5"
CONSULT FACTORY FOR THIS OPTION
NOT AVAILABLE ON ALL CHASSIS
	$6,924

	1010A
	PUMP-OFF PORT INSTALLATION ONLY
	$369

	1011
	GRAVITY DRAIN-OFF SYSTEM TO FRONT BUMPER - 2.5" DIA 
CONSULT FACTORY FOR THIS OPTION
ALL CHASSIS WILL NOT HAVE THIS CAPABILITY
	$3,115

	1012
	6" DECANT SYSTEM WITH AIR OPERATED KNIFE VALVE - FORWARD MOUNTED W/SCREEN
	$2,396

	1013
	DEBRIS/WATER TANKS COMBINED - ADDITIONAL WATER CAPACITY
	$2,494

	1014A
	CENTRIFUGAL SEPARATOR 304 STAINLESS STEEL (CYCLONE) MAY LIMIT WATER CAP.
	$5,431

	1015B
	FOLDING PIPE RACK/REAR DOOR
	$1,078

	1023
	LUBE MANIFOLD  (INCLUDES OPTION 1023PA)
	$2,349

	1031
	DEFLECTOR PLATE IN DEBRIS BODY
	$346

	2002
	LOW WATER WARNING LIGHT
	$352

	2003
	LAVAL WATER SEPARATOR (CENTRIFUGAL WATER SEPARATOR AT WATER TANK FILL)
	$1,840

	2004
	CONTINUOUS FILL SYSTEM AT WATER TANK INLET 
	$1,840

	2006
	AIR PURGE SYSTEM UTILIZING CHASSIS AIR SYSTEM
	$1,341

	2007
	650 GALLON STREET FLUSHER - 4 HEADS - TANKS JOINED - CONTROLS  IN CAB - REQUIRES ADDITIONAL 18" CHASSIS CA, REQUIRES FRONT CRANKSHAFT DRIVE IF A MANUAL TRANSMISSION
(INCLUDES OPTION 1013 DEBRIS/WATER TANKS COMBINED)
	$22,374

	2008
	300 GALLON STREET FLUSHER - 2 HEADS - ON/OFF IN CAB ONLY-REQUIRES ADDITIONAL 18" CHASSIS CA
REQUIRES FRONT CRANKSHAFT DRIVE IF A MANUAL TRANSMISSION
	$15,387

	2011
	3" Y-STRAINER IN LIEU OF 2" AT WATER TANK FILL
	$451

	2012
	SIDE SKIRTS ON REAR OF UNIT
	$363

	2016
	1300 GALLON WATER CAPACITY - ADDITIONAL ON 5, 10, 12 YD UNITS
	$2,929

	2017
	1500 GALLON WATER CAPACITY - ADDITIONAL ON 15 YD UNITS
	$1,405

	2018
	1500 GALLON WATER CAPACITY - ADDITIONAL ON 5, 10, 12 YD UNITS
	$4,211

	2020
	6" GRAVITY WATER FILL WITH 3" Y-STRAINER ON WATER TANK IN ADDITION TO STD FILL SYSTEM
	$938

	2021
	ADDITIONAL AIR GAP - WATER FILL SYSTEM 
(INCLUDES Y-STRAINER, 2.5" X 25' FILL HOSE, HOSE STORAGE) 
	$767

	2022
	ADDITIONAL WATER TANK SIGHT GAUGE
	$192

	3013
	LEVEL I-VAC-ON-THE-GO DRIVEN VIA THE AUTOMATIC TRANSMISSION - This system utilizes the Allison 3500, 3000, 4000 and 4500 RDSP automatic transmission as a source of power for the water pump and boom functions.  
LEVEL I MACHINES MUST HAVE OPTION # 5012 MULTI-FLOW SYSTEM. THIS OPTION MUST BE SELECTED FROM PRICE LIST BELOW Otherwise select Level II #3013A as a Vac-On-The-Go option.  LEVEL I is for the cleaning of drying beds, vacuuming leaves and debris along curbs. INCLUDES;
1. Vac-On The-Go with full, constant vacuum
2. Full range of the boom 
3. A water ring, installed in the boom inlet, operating at up to 10 gallons of water per minute to aid in vacuuming of dry materials. 
	$1,229

	3013A
	LEVEL II-VAC-ON-THE-GO DRIVEN VIA THE AUXILIARY ENGINE 
This utilizes hydraulic system from the auxiliary engine.
Does not require an automatic transmission.
LEVEL II is for the cleaning of drying beds, vacuuming leaves and debris along curbs. INCLUDES;
1. Vac-On The-Go with full, constant vacuum
2. Full range of the boom 
3. A water ring, installed in the boom inlet, operating at up to 10 gallons of water per minute to aid in vacuuming of dry materials. 
4. Cold weather recirculator system is included
	$3,299

	4003
	8 FT. HYDRAULIC EXTENDABLE BOOM WITH 180 DEGREE ROTATION
	$11,028

	4014
	5 x 5 TELESCOPIC & EXTENDABLE BOOM
(INCLUDES OPTION 4010P)
	$18,468

	4006A
	JOYSTICK CONTROL FOR BOOM FUNCTION (1) - REAR
	$849

	4008
	GRATE LIFTING HOOK - INSTALLED ON BOOM
	$322

	4009
	WATER RING ASSEMBLY - INSTALLED IN VACUUM SUCTION HOSE AT ELBOW
	$849

	4009A
	WATER RING ASSEMBLY - INSTALLED IN VACUUM SUCTION HOSE TO  BODY
	$849

	4011
	CORDLESS REMOTE BOOM CONTROL (THIS SYSTEM WILL ACTIVATE ALL BOOM FUNCTIONS (UP, DOWN ,LEFT, RIGHT, IN & OUT (IF SO EQUIPPED) VACUUM RELIEF ON/OFF, RODDER PUMP ON/OFF, THROTTLE UP/DOWN (EXCEPT IF CUMMINS ENGINE), THROTTLE AND RODDER PUMP FUNCTION NOT AVAILABLE
	$4,810

	140STD
	60 GPM/2000 PSI WATER SYSTEM
	NC

	5000
	40 GPM/2500 PSI WATER SYSTEM - ILO 60GPM/2000PSI SYSTEM- DOES NOT INCLUDE WATER ACCUMULATOR OR MULTI-FLOW
	NC

	5001A
	60 GPM/2500 PSI WATER SYSTEM - ILO STD WATER SYSTEM
	NC

	5002
	80 GPM/2000 PSI WATER SYSTEM - ILO STD WATER SYSTEM
	NC

	5004
	100 GPM/2000 PSI WATER SYSTEM - INCLUDES 500' X 1 1/4" SEWER HOSE
	$6,724

	5005
	DANA GEAR BOX WITH P.T.O. - FOR TRANSMISSION THAT DOES  NOT PERMIT PROPER MOUNTING FOR WATER PUMP SYSTEM
	$9,365

	5008
	12 GPM COLD WEATHER RECIRCULATION SYSTEM–(FAN MACHINES)  SYSTEM DRIVEN FROM ALLISON AUTOMATIC TRANSMISSION
	$2,242

	5008A
	12 GPM COLD WEATHER RECIRCULATION SYSTEM– (FAN MACHINES) DRIVEN FROM AUXILIARY ENGINE
	$3,151

	5008B
	20 GPM EXTREME COLD WEATHER RECIRCULATION SYSTEM 
THIS IS UPGRADE FROM 12 GPM SYSTEMS (ADD TO RECIRCULATOR SELECTION)
	$732

	5009A
	12 GPM COLD WEATHER RECIRCULATION SYSTEM - THIS OPTION AVAILABLE FOR ALL MACHINES WITH MANUAL TRANSMISSION. REQUIRES FRONT CRANKSHAFT DRIVE PROVISION. CHASSIS MUST BE ORDERED WITH FRONT CRANK PROVISION. 
	$4,587

	5010
	ACCUMULATOR SYSTEM FOR JET RODDER WATER SYSTEM
	$2,859

	5012
	MULTI-FLOW SYSTEM WITH NOZZLE STORAGE RACK 
3 ADDITIONAL NOZZLES WITH 80 GPM SYSTEM & 
2 ADDITIONAL NOZZLES WITH 60 GPM SYSTEM
	$5,805

	5014
	WATER RELIEF VALVE, 1" -  FOR VACTOR WATER PUMP
	$1,336

	5021
	HYDRO EXCAVATION KIT/ RETRACTABLE REEL W/50' X 3/8" HOSE, HANDGUN & PLUMBING - THIS SYSTEM MUST HAVE THE FOLLOWING OPTIONS ON THE MACHINES:  5012 MULTI-FLOW, 5014 WATER RELIEF VALVE, AND 5010 ACCUMULATOR. (THIS IS NOT AVAILABLE ON CATCH BASIN UNITS)
	$4,645

	5021A
	HYDRO-EXCAVATION PACKAGE - THIS SYSTEM IS IN LIEU OF THE VACTOR WATER PUMP AND HOSE REEL SYSTEM- THE PACKAGE WILL INCLUDES A  20 GPM/2500 PSI EXCAVATION WATER PUMP.
	$5,400

	5023
	FAN FLUSH OUT SYSTEM
	$527

	5031
	WATER PUMP HOUR METER
	$346

	6000B - 48783VS4
	400' X 1" PIRANHA SEWER HOSE/2500 PSI 
	NC

	6001B - 48783VS5
	500' X 1" PIRANHA SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$502

	6002B - 48783VS6
	600' X 1" PIRANHA SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$940

	             - 48783VS7
	700' X 1" PIRANHA SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$1,378

	6003C - 48783VS8
	800' X 1" PIRANHA SEWER HOSE/2500 PSI (IN LIEU OF STD) 
REQUIRES EXTRA CAPACITY REEL
	$1,817

	          - 43569
	400' X 1" AEROQUIP SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$122

	6001 - 43570
	500' X 1" AERO-QUIP SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$575

	          - 43569F
	700' X 1" AERO-QUIP SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$1,482

	6003 - 43569E
	800' X 1" AERO-QUIP SEWER HOSE/2500 PSI (IN LIEU OF STD) 
REQUIRES EXTRA CAPACITY REEL
	$1,935

	             - 48783AS4
	400' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI 
(IN LIEU OF STD)
	$608

	6001C - 48783AS5
	500' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI 
(IN LIEU OF STD)
	$1,183

	6002E - 48783AS6
	600' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI
(IN LIEU OF STD)
	$1,758

	6002C - 48783AS7
	700' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI 
(IN LIEU OF STD HOSE) REQUIRES EXTRA CAPACITY REEL
	$2,333

	             - 48783AS8
	800' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI 
(IN LIEU OF STD HOSE) REQUIRES EXTRA CAPACITY REEL
	$2,907

	             - 48783BS4
	400' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$807

	6001D - 48783BS5
	500' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$1,431

	6002F - 48783BS6
	600' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI
(IN LIEU OF STD)
	$2,056

	6002D - 48783BS7
	700' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI (IN LIEU OF STD) REQUIRES EXTRA CAPACITY REEL
	$2,681

	             - 48783BS8
	800' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI (IN LIEU OF STD) REQUIRES EXTRA CAPACITY REEL
	$3,304

	6000A - 476504
	400' X 1" SHARK SEWER HOSE/3000 PSI (IN LIEU OF STD) REQUIRES 80 GPM WATER SYSTEM
	$4,173

	6001A - 476505
	500' X 1" SHARK SEWER HOSE/3000 PSI (IN LIEU OF STD) REQUIRES 80 GPM WATER SYSTEM
	$5,638

	6002A - 476506
	600' X 1" SHARK SEWER HOSE/3000 PSI (IN LIEU OF STD) REQUIRES 80 GPM WATER SYSTEM
	$7,104

	6004A
	AUTOMATIC HOSE LEVEL WIND GUIDE
	$4,938

	6005A
	ADDITIONAL MECHANICAL HOSE FOOTAGE COUNTER 
LOCATED ON THE REAR OF HOSE REEL
	$516

	6005D
	ACCU-COUNT DIGITAL HOSE COUNTER - ENGLISH OR METRIC 
	$3,326

	6006
	HOSE GUARD/RODDER HOSE
	$1,195

	6011A
	HANDGUN HOSE REEL - MANUAL TYPE REEL WITH 50' HOSE ASSEMBLY
	$943

	6012
	LATERAL CLEANING KIT WITH 150' HOSE AND NOZZLE/25 GPM, 2000 PSI
	$3,222

	6013
	HYDRAULIC TOOL PACKAGE 
(WILL OPERATE CLASS THREE TOOLS - 9 TO 12 GPM)
	$1,529

	6014A
	AERO-STYLE TELESCOPING ROTATING  HOSE REEL - CAPACITY: 
500' X 1" PIRANHA ARMOR BELT OR PIRANHA ARMOR BELT BEACON SEWER HOSE
600' X 1" PIRANHA OR SHARK (MUST BE 80 GPM) SEWER HOSE
	$1,402

	6014B
	AERO-STYLE TELESCOPING ROTATING  HOSE REEL - CAPACITY: 
700' X 1" PIRANHA ARMOR BELT OR PIRANHA ARMOR BELT BEACON SEWER HOSE
800' X 1" SHARK (MUST BE 80 GPM) SEWER HOSE 
	$3,851

	6015
	TELESCOPING ROTATING  HOSE REEL - CAPACITY: 
500' X 1 1/4" PIRANHA OR AEROQUIP SEWER HOSE
700' X 1" PIRANHA ARMOR BELT, PIRANHA ARMOR BELT BEACON, OR SHARK SEWER HOSE
800' X 1" PIRANHA OR AEROQUIP SEWER HOSE
	$2,449

	6016A
	TELESCOPING ROTATING  HOSE REEL - CAPACITY: 
600' X 1 1/4" PIRANHA OR AEROQUIP SEWER HOSE
900' X 1" PIRANHA ARMOR BELT, PIRANHA ARMOR BELT BEACON, OR SHARK SEWER HOSE 1000' X 1" PIRANHA OR AEROQUIP SEWER HOSE
	$4,898

	6018
	NOZZLE STORAGE RACK (STD WITH MULTI-FLOW SYSTEM)
	$175

	6019
	RODDER PUMP DRAIN VALVES (2)
	$516

	6022
	SEWER INSPECTION CAMERA SYSTEM (IBAK)/FRONT MOUNTED, CONTROLLER, CABLE REEL, CRAWLER W/CAMERA (PAN AND TILT) INCLUDES STORAGE TOOLBOX    
	$89,508

	8001
	SPLIT ARROW TRAFFIC CONTROLLER-TWO PIECE 10 LIGHTS - REAR ONLY
	$1,453

	8001A
	SIGNAL-MASTER DIRECTIONAL ARROW 
ONE PIECE 10 LIGHTS - REAR
	$1,453

	8001B
	SIGNAL-MASTER DIRECTIONAL ARROW STICK 
ONE PIECE 8 LED LIGHTS - REAR
	$2,132

	8001C
	SIGNAL-MASTER DIRECTIONAL ARROW STICK 
ONE PIECE 8 LED LIGHTS - FRONT
	$2,132

	8001D
	WHELEN DIRECTIONAL LARGE ARROW 
ONE PIECE 16 STROBE LIGHTS - REAR ONLY
	$4,960

	8001E
	LED SPLIT ARROW TRAFFIC CONTROLLER
TWO PIECE 10 LED LIGHTS - REAR ONLY
	$1,664

	8002
	HAND LIGHT WITH BUMPER PLUG 
	$387

	8004
	REVOLVING AMBER BEACON LIGHT - FED SIG 100 SERIES
MOUNTED REAR ONLY
	$727

	8004A
	REVOLVING AMBER BEACON LIGHT - FRONT CAB GUARD MOUNTED ONLY/FED SIG 100 SERIES
	$727

	8007
	STROBE LIGHT - FED SIG US-5 SERIES
REAR MOUNTED ONLY
	$1,014

	8007A
	STROBE LIGHT MOUNTED FRONT CAB GUARD MOUNTED/FED SIG US-5 SERIES
	$1,014

	8007B
	STROBE LED AMBER LIGHT - FED SIG
FRONT CAB GUARD MOUNTED  
	$1,130

	8007C
	STROBE LED AMBER LIGHT - FED SIG
REAR MOUNTED ONLY
	$1,130

	8009
	WORK LIGHT AT OPERATOR STATION (EACH)
	$644

	8009A
	WORK LIGHT @ HOSE REEL MANHOLE (EACH)
	$644

	8010
	WORK LIGHTS (2) ON STANDARD BOOM 
	$762

	8013
	LIMB GUARD FOR REVOLVING OR STROBE LIGHT (EACH)
	$207

	8015
	WORK LIGHT @ CURB SIDE
	$467

	8016
	WORK LIGHT/REAR DOOR 
	$609

	8020
	WHELEN DOT 3 LIGHTING SYSTEM 
FOUR STROBE LIGHT HEAD ASSEMBLY
	$5,400

	8020A
	WHELEN DOT 3 LIGHTING SYSTEM 
SIX STROBE LIGHT HEAD ASSEMBLY
	$5,660

	8020B
	REAR BUMPER MOUNT 2 AMBER STROBES - TWO RECESSED IN BUMPER/FED SIG 6"
	$1,112

	8020C
	VACTOR 4 FLASHING LIGHT ASSEM - TWO PIECE EACH WITH (2) 7” AMBER LIGHTS 
	$644

	8020E
	FS DOT 3 - 6 LIGHT SYSTEM - ALL LED SYSTEM - 2 FED SIG MIRROR MOUNT STROBES, 2 MID-SHIP, 2 REAR MOUNTED OVAL LED QUAD FLASH STROBES
	$2,999

	8020F
	FS DOT 3 - 4 LIGHT SYSTEM - ALL LED SYSTEM - 2 FED SIG MIRROR MOUNT STROBES, 2 REAR MOUNTED OVAL LED QUAD FLASH LIGHTS
	$2,377

	8020G
	FS DOT 3 - 5 LIGHT SYSTEM - ALL LED SYSTEM - 1 CAB GUARD STROBE, 2 MID-SHIP, 2 REAR MOUNTED  OVAL LED QUAD FLASH LIGHTS
	$2,752

	8022
	LED BUMPER STROBES LIGHTS - FED SIG 
RECESSED IN THE TAIL PLATE OF THE VACTOR
	$1,312

	8025
	LED LIGHTS, CLEARANCE, STOP, TAIL & TURN 
	$685

	8025A
	LED LIGHTS, CLEARANCE, BACK-UP, STOP, TAIL & TURN 
	$838

	8026
	FS DOT 3 - 6 LIGHT SYSTEM - FED SIG 2 MIRROR MOUNT STROBES, 2 MIDSHIP, 2 REAR WATER TANK MOUNTED OVAL QUAD FLASH LIGHTS, AND LED CLEARANCE, STOP-TAIL-TURN LIGHTS, BACK-UP
(CONSISTS OF OPTIONS 8025A AND 8020E)
	$3,326

	9001
	ZIEBART CORROSION PROTECTION 
	$1,583

	9001A
	ROAD SALT PROTECTION - A PROTECTIVE COATING/KATS UL5000 A water based synthetic acrylic copolymer coating sprayed on the exterior of the machine for protection against the elements during transit. Requires a water based KATS L8000 (Supplied by Vactor) to remove the coating.  
	$372

	9002
	TOW HOOKS/FRONT 
	$381

	9002A
	TOW HOOKS/REAR 
	$265

	9011
	PINTLE HITCH ASSEMBLY (STATE HEIGHT REQUIRED)
	$1,259

	9012A
	24 X 18 X 18 ALUMINUM TOOL BOX (45353A)
	$878

	9016C
	22 X 36 X 66 ALUMINUM  BEHIND THE CAB TOOL BOX - 2 TRAY 
	$5,143

	9016D
	ALUMINUM TOOL TRAY FULL WIDTH BEHIND CAB
MAY NOT BE AVAILABLE ON ALL CHASSIS
	$1,136

	9021
	CAMERA SYSTEM, REAR CAMERA ONLY
	$2,612

	9021A
	CAMERA SYSTEM, FRONT & REAR CAMERA 
	$3,597

	9021B
	QUAD CAMERA SYSTEM, FRONT, REAR AND BOTH SIDES
	$4,211

	9023
	SAFETY CONE STORAGE RACK/PLATE FOR DROP IN CONES
	$169

	9023A
	SAFETY CONE STORAGE RACK/POST TYPE
	$169

	9024
	WATER COOLER STORAGE RACK
	$169

	P113
	MODULE STRIPE - SINGLE
	$2,307

	P114
	MODULE STRIPE - MULTIPLE (3 MAXIMUM)
	$2,801

	P115
	REAR DOOR STRIPE - PAINTED
	$1,154

	P116
	REAR DOOR STRIPE - REFLECTIVE TAPE (CHEVRON)
	$735

	P119
	CAB PAINT- IMRON
	$4,678

	P120
	CAB STRIPE - SINGLE
	$1,489

	P121
	CAB STRIPE - MULTIPLE (3 MAXIMUM)
	$1,646

	
	1" - 15 Deg. Sand Nozzle W/6-Tungsten Carbide Inserts - 60 GPM @ 2000
	$332

	
	1" - 15 Deg. Sand Nozzle W/6-Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$332

	
	1" - 15 Deg. Sand Nozzle W/6-Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$332

	
	1" - 15 Deg. Sand Nozzle W/6-Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$332

	
	1" - 30 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Ins - 60 GPM @ 2000 PSI
	$730

	
	1" - 30 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$730

	
	1" - 30 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$730

	
	1" - 30 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$730

	
	1" - 15 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 60 GPM @ 2000 PSI
	$730

	
	1" - 15 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$730

	
	1" - 15 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$730

	
	1" - 15 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$730

	
	3" Dia. General Purpose Nozzle W/8 - Replaceable Nozzles
	$715

	
	3" Dia. General Purpose Nozzle W/8 - Replaceable Nozzles
	$715

	
	3" Dia. General Purpose Nozzle W/8 - Replaceable Nozzles
	$715

	
	3" Dia. General Purpose Nozzle W/8 - Replaceable Nozzles
	$715

	
	Storm Nozzle W/12 Replaceable  Nozzles - 60 GPM
	$1,356

	
	 Floor Cleaner Nozzle W/11- Replaceable Nozzles - 40 GPM
	$4,080

	
	 Floor Cleaner Nozzle W/11- Replaceable Nozzles - 60 GPM
	$4,080

	
	Floor Cleaner Nozzle W/11- Replaceable Nozzles - 80 GPM
	$4,080

	
	Floor Cleaner Nozzle W/11- Replaceable Nozzles - 100 GPM
	$4,080

	
	Culvert Nozzle W/11- Replace Nozzles 40GPM
	$4,080

	
	Culvert Nozzle W/11- Replaceable Nozzles - 60 GPM
	$4,080

	
	Culvert Nozzle W/11- Replaceable Nozzles - 80 GPM
	$4,080

	
	Culvert Nozzle W/11- Replaceable Nozzles - 100 GPM
	$4,080

	
	1" - 15 Deg. Probe Nozzle W/5 Jets - 60 GPM @ 2000 PSI
	$528

	
	1" - 15 Deg. Probe Nozzle W/5 Jets - 60 GPM @ 2500 PSI
	$528

	
	1" - 15 Deg. Probe Nozzle W/5 Jets - 80 GPM @ 2000 PSI
	$528

	
	1" - 15 Deg. Probe Nozzle W/5 Jets - 80 GPM @ 2500 PSI
	$528

	
	1" - 30 Deg. Lateral Kit Nozzle (Non-Tungsten Carbide)
	$157

	
	1" - 30 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2000 PSI
	$715

	
	1" - 30 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$715

	
	1" - 30 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$715

	
	1" - 30 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$715

	
	1" - 15 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2000 PSI
	$715

	
	1" - 15 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$715

	
	1" - 15 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$715

	
	1" - 15 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$715

	
	1" - 30 Deg. Sand Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2000 PSI
	$1,159

	
	1" - 30 Deg. Sand Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$1,159

	
	1" - 30 Deg. Sand Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$1,159

	
	1" - 30 Deg. Sand Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$1,159

	S190 - 69649A
	Additional 1/2" Handgun Hose - 10ft
	$73

	S190 - 69649E
	Additional 1/2" Handgun Hose - 15ft
	$63

	S190 - 69649B
	Additional 1/2" Handgun Hose - 25ft
	$89

	S190 - 69649D
	Additional 1/2" Handgun Hose - 35ft
	$146

	S190 - 69649C
	Additional 1/2" Handgun Hose - 50ft
	$187

	S190 - 69649F
	Additional 1/2" Handgun Hose - 75ft
	$312

	S200 - 31096
	Additional 1"  Leader Hose - 30" (Not Shark)
	$66

	S200 - 31096A
	Additional 1"  Leader Hose - 5ft (Not Shark)
	$113

	S200 - 31096B
	Additional 1"  Leader Hose - 10ft (Not Shark)
	$195

	S200 - 31096C
	Additional 1"  Leader Hose - 15ft (Not Shark)
	$297

	S200 - 31096D
	Additional 1"  Leader Hose - 25ft (Not Shark)
	$500

	S200 - 31096E
	Additional 1"  Leader Hose - 30ft (Not Shark)
	$693

	S200 - 31096F
	Additional 1"  Leader Hose - 35ft (Not Shark)
	$809

	S210 - 44492
	Basin Retriever (Handi-Clam)
	$952

	S220 - 20943
	Basin Shovel
	$323

	S230 - 20944
	Basin Spoon
	$534

	S240 - 36983
	Offset Manhole Roller
	$548

	S250 - 43516
	Root Cutter Kit (Does Not Include Saws)
	$4,059

	S260 - 43517
	6" Spiral Saw Blade
	$279

	S270 - 43518
	8" Spiral Saw Blade
	$319

	S280 - 43519
	10" Spiral Saw Blade
	$339

	S290 - 43520
	12" Spiral Saw Blade
	$381

	S300 - 43521
	15" Spiral Saw Blade
	$468

	S310 - 31685
	Nozzle Pipe For Std. 1" Nozzle
	$97

	S320 - 67488
	Nozzle Pipe For  #10 Nozzle - 1-1/4" Pipe (Included w/#10 Nozzle)
	$106

	S330 - 34142
	Round Leaf Pick-up Nozzle
	$284

	S340 - 34878
	Grate Lifting Hook
	$66

	S360 - 50507
	Underwater Debris Nozzle (Snorkel Kit)
	$1,010

	S370 - 25637C
	8" x 3' Aluminum Pipe Assy
	$185

	S380 - 25637
	8" x 5' Aluminum Pipe Assy
	$243

	S390 - 25637F
	8" x 7.5' Aluminum Pipe Assy
	$338

	S400 - 25268
	8" x 6.5' Catch Basin Nozzle Assy
	$278

	S410 - 16584
	8" Quick Clamp Assy
	$30

	S430 - 29314
	Water Ring Assy
	$380

	S450 - 33838
	8"x4"x4" Adapter
	$600

	S460 - 65297A
	Additional Handgun Assy. With Hose
	$788

	S470 - 29898A
	Additional 6" Lay Flat Drain Hose - 5ft
	$44

	S470 - 29898F
	Additional 6" Lay Flat Drain Hose - 6ft
	$101

	S470 - 29898B
	Additional 6" Lay Flat Drain Hose - 8ft
	$136

	S470 - 29898C
	Additional 6" Lay Flat Drain Hose - 10ft
	$88

	S470 - 29898E
	Additional 6" Lay Flat Drain Hose - 15ft
	$132

	S470 - 29898D
	Additional 6" Lay Flat Drain Hose - 35ft
	$308

	S470 - 29898i
	Additional 6" Lay Flat Drain Hose - 40ft
	$353

	S470 - 29898H
	Additional 6" Lay Flat Drain Hose - 50ft
	$522

	S480 - 81321C
	Additional 2 1/2" Water Fill Hose - 15ft
	$262

	S480 - 81321
	Additional 2 1/2" Water Fill Hose - 25ft
	$285

	S480 - 81321K
	Additional 2 1/2" Water Fill Hose - 30ft
	$313

	S480 - 81321A
	Additional 2 1/2" Water Fill Hose - 50ft
	$389

	S480 - 81321B
	Additional 2 1/2" Water Fill Hose - 75ft
	$719

	S490 - 45803
	Additional 2" Water Screen
	$27

	S500 - 41280
	Additional 3" Water Screen
	$29

	S510 - 48806D
	1" Piranha Swage Kit - Manual (Includes Machine, Dies, and Pusher)
	$938

	S510 - 48786D
	1" Piranha Armor Belt and Armor Belt Beacon Swage Kit - Manual (Includes Machine, Dies, and Pusher)
	$1,013

	S510 - 66286
	1" Areoquip Swedge Kit (Includes Machine, Dies, and Pusher)
	$2,119

	S515 - 47748C & 47748D & 47748E & 47748F
	1" Shark Hose Swedge Kit (Includes Machine, Dies, and Pusher)
	$4,129

	S520 - 66286A
	1 1/4" Aeroquip Hose Swedge Kit (Includes Machine, Dies, and Pusher)
	$2,817

	S530 - 52846
	Flexible Hose Guide
	$86

	S550 - 20836
	Hydrant Wrench
	$28

	S560 - 40615
	Emergency Flare Kit
	$26

	S570 - 36158
	8" Jet Digger
	$1,790

	S590 - 45124
	5# Fire Extinguisher
	$114

	89957
	Higbee C/B Nozzle Assy 8" x 78"
	$1,074

	89957A
	Higbee C/B Nozzle Assy 8" x 36"
	$780

	501523
	Higbee C/B Nozzle Assy 6" x 36"
	$981

	501523A
	Higbee C/B Nozzle Assy 6" x 78"
	$950

	34763A
	6" x 5' Alum Pipe Assy
	$329

	34766
	6" x 6.5' Catch Basin Nozzle Assy
	$409

	
	1” High Speed Rotational Drill Nozzle
	$1,713

	
	1” Injector Nozzle 20” to 80”
	$6,850

	
	1” Injector Nozzle 16” to 40”
	$5,742

	
	1” Oil Filled Rotational Nozzle
	$1,964

	
	1” Magnetic Rotational Nozzle
	$3,123

	
	1” Chain Cutter
	$3,627

	
	1” Lift Station Nozzle
	$3,022

	
	1” Chain Cutter 8” – 16”
	$9,067

	
	1” Chain Cutter 16” – 32”
	$11,837

	
	Quickview Haloptic Camera – 30’ Pole
	$18,133

	
	Quickview Haloptic Camera – 16’ or 24’ Pole
	$16,622

	
	Truck Mounted Storage Box for Quickview Haloptic 
	$1,108

	
	Jet Bugs Grease System
	$3,929

	
	Vapo Rooter System
	$45,434

	
	8” x 6’ Soil Surgeon 
	$2,881

	
	8”x  5’ Soil Surgeon
	$2,493


ITEM 2: Truck Mounted Catch Basin Cleaner, Five Axle
#0818 – Deductible Options Part Of Base Bid
	
	
	Deduct Price

	
	DEDUCT FOR IH 7600 CHASSIS (Includes Pusher & Tag Axles)
	$127,388

	
	DEDUCT CHASSIS PUSHER AXLE ONLY
	$7,656

	
	DEDUCT CHASSIS TAG AXLE ONLY
	$7,858

	 
	 DEBRIS TANK  ACCESSORIES
	

	1003P
	DEBRIS BODY FLUSH OUT SYSTEM
	$978

	1007P
	6" BUTTERFLY VALVE/REAR DOOR LOCATED 3:00 POSITION WITH FIXED BASKET SCREEN
	$536

	1014P
	CENTRIFUGAL SEPARATOR  REAR MOUNTED (PLUS STYLE)
	$3,421

	1015P
	FOLDING PIPE RACK/CURBSIDE
	$678

	1015PA
	FOLDING PIPE RACK/STREET SIDE
	$678

	1023PA
	LAMINATED LUBE CHART
	$40

	 
	WATER TANK ACCESSORIES
	

	2001P
	LOW WATER LIGHT AND ALARM AND WATER PUMP FLOW INDICATOR-GPM
	$421

	 
	BOOM ACCESSORIES
	

	4004P
	8 FT. HYDRAULIC TELESCOPIC BOOM WITH 180 DEGREE ROTATION
	$9,124

	4006P
	JOYSTICK CONTROL FOR BOOM FUNCTION (1) - FRONT
	$516

	4010P
	POST TYPE FRONT BUMPER BOOM STORAGE ILO STD 
(STANDARD WITH 5X5 BOOM OPTION)
	$351

	 
	HIGH PRESSURE WATER PUMP
	

	5015P
	FRONT AND REAR HANDGUN COUPLERS
	$344

	 
	HOSE REEL ACCESSORIES
	

	6002P - 43571
	600' X 1" AERO-QUIP SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$655

	6004PD
	PINCH ROLLER - 2100 SERIES ONLY 
(INCLUDED IN 6004PA & 6004PB) 
	$927

	6008P
	HOSE REEL MANUAL REWIND
	$344

	6011P
	HANDGUN HOSE REEL - SPRING RETRACTABLE REEL WITH 50' HOSE ASSEMBLY
	$842

	6017P
	HYDRAULIC SHUT-OFF VALVES AT SUCTION, RETURN AND FILTER LINE (3)
	$618

	 
	LIGHT ACCESSORIES
	

	8003P
	HAND LIGHT WITH RETRACTABLE REEL 
	$366

	8008P
	BRACKETS AND WIRING FOR REVOLVING OR STROBE LIGHT (EACH)  (BRACKET IS FOR REVOLVING OR STROBE ONLY) REAR
	$284

	8008PA
	BRACKETS AND WIRING FOR REVOLVING OR STROBE LIGHT (EACH)  (BRACKET IS FOR REVOLVING OR STROBE ONLY) FRONT
	$284

	8012P
	ADDITIONAL CONNECTOR FOR HAND LIGHT 
	$93

	8028P
	LED WORK LIGHTS (2) ON ALL BOOMS
	$509

	 
	CHASSIS ACCESSORIES
	

	9000P
	ADDITIONAL VACTOR FULL PRINTED MANUAL 
	$106

	9000PA
	ADDITIONAL VACTOR MANUAL 
	$106

	9071PA
	46849NT/17W X 30H X 48D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Back of Cab Toolbox/Passenger Side Access - Exhaust position dependent
	$1,632

	9071PG
	46849PM/18W x 36H x 26D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Rain Coat Style Mounted Behind Cab Driver Side Access
	$1,041

	 
	PAINT
	

	P112
	MODULE - IMRON (PRIMER BASE)
	$1,344

	ITEM #
	SPECIAL OPTIONS/INSERT DESCRIPTIONS
	

	NPN1
	6" Standpipe
	$599

	NPN2
	Decant Flush
	$599

	NPN3
	Hard Elbow
	$529

	NPN4
	6" Air Gap
	$458

	NPN5
	1 1/4 10' leader hose
	$67

	NPN6
	Chute
	$2,468

	
	6' Operator safety tube handle
	$317

	
	Water Pump Over Pressure Light
	$212

	
	High Water Temp, Low Oil Shutdown
	$317

	
	Handgun Shut Off Valves At Each Location
	$353

	 
	SPARE PARTS/ACCESSORIES
	

	
	#10 Storm Nozzle W/8 Replaceable  Nozzles - 80 GPM
	$244

	
	Nozzle Pipe For  #10 Nozzle - 1" Pipe (Included w/#10 Nozzle)
	$55

	
	8" Adjustable Air Adapter
	$180

	
	6" Adjustable Air Adapter
	$226

	
	6" Quick Clamp Assy
	$19

	
	8" x 6" Flange Adapter
	$79

	
	Additional 6" Lay Flat Drain Hose - 25ft
	$124

	
	Catch Basin Handle Assy
	$316

	
	6" x 3' Alum Pipe Assy
	$146

	
	6" x 7.5' Alum Pipe Assy
	$256


ITEM 2: Truck Mounted Catch Basin Cleaner, Five Axle

#0818 – Additional Purchase Options Available

Pricing For Converting to a Positive Displacement System


For a 16”PD –Add $4,030.00


For an 18” PD – Add $6,044.00


For a 1024-18” PD – Add $23,650
Pricing For Upgrading to Water Recycler

Water Recycler Upgrade (Requires minimum 425HP Chassis) $123,750.00

Pricing For Other Chassis manufacturers


For A Tandem Axle 2017 Kenworth T440 - Add $125,361


For A Tandem Axle 2017 Kenworth T800 - Add $125,361


For A Tandem Axle 2017 Kenworth T880 - Add $125,361

For A Single Axle 2017 Freightliner 108SD – Add $94,815.00


For A Tandem Axle 2017 Freightliner 114SD – Add $124,212


For a Tandem Axle 2017 Volvo VHD64F – Add $128,947

For a Tandem Axle 2017 Peterbilt 348 – Add 125,361

For a Tandem Axle 2017 Peterbilt 567-Add 125,361


Pusher Axle – Add $9,520
Tag Axle – Add $9,914
Pricing for additional Chassis

Tandem Axle IH 7400 - $100,792.00


Single Axle IH 7400 - $91,792.00


Tandem Axle IH 7500 - $103,815.00


Single Axle IH 7500 - $94,815.00

Pricing for Hydro Excavator Options (HXX)
1) HXX Fan Unit- Add $16,000.00- (Includes 1,200 gallons of water, 320 degree boom, no front hose reel) (Some option content adjustments may be required)

2) 6 Yard HXX 16" PD Unit- Deduct $50,000.00- (Includes 600 gallons of water,320 degree boom, no front hose reel) (Some option content adjustments may be required)

3)  Water Heater Option for HXX Units- $6,550.00

4) 28" PD Blower Option for HXX Units- $17,330.00
5) Pricing for Single Stage Fan - <$9,500.00>

Other Modifications To These Chassis Priced At Time Of Order 

	Part Number
	Description
	New Price

	Tier IV Aux Engine, Replaced by
Single Engine Dual Fan System
Amendment #5
	Upgrade charge for Tier IV Aux Engine, Provides transfer case driven Dual Stage Fan powered by the chassis engine,  if required by Vactor Manufacturing
	$13,902

No Price Change

	2105-PLUS
	Centrifugal Fan, 5 Yard Debris Body Capacity
1000 Gallon Water Capacity As Standard/4X2 Chassis Only 
	-$2,015

	2112-PLUS
	Centrifugal Fan, 12 Yard Debris Body Capacity
1000 Gallon Water Capacity As Standard/6X4 Chassis Only
	$5,994

	2115-PLUS
	Centrifugal Fan, 15 Yard Debris Body Capacity
1300 Gallon Water Capacity As Standard/6X4 Chassis Only
	$13,776

	PN1
	Debris Body Vibrator
	$3,410

	PN2
	Front & Rear Water Supply To Rodder Pump 
	$4,000

	PN3
	Environmental Hydraulic Oil
	$5,500

	1004P
	DEBRIS BODY VACUUM RELIEF SYSTEM WITH DEBRIS BODY LOAD LIMIT ALARM
	$2,117

	1004PB
	ONBOARD ELECTRONIC/DIGITAL SCALE SYSTEM/TIED TO VAC RELIEF AND CONT FILL IF EQUIPPED TO MAINTAIN LEGAL LOADS
	$13,126

	1005PA
	Stainless Steel Float Ball Cages
	$577

	1007PA
	6" BUTTERFLY VALVE & PORT/REAR DOOR LOCATED 6:00 POSITION WITH FIXED BASKET SCREEN
	$1,086

	1008P
	6" KNIFE VALVE/REAR DOOR WITH CAMLOC LOCATED 3:00 POSITION WITH FIXED BASKET SCREEN
	$1,263

	1008PA
	6" KNIFE VALVE & PORT/REAR DOOR WITH CAMLOC LOCATED 6:00 POSITION WITH FIXED BASKET SCREEN
	$1,507

	1008PB
	6" PORT IN REAR DOOR, BDC 6:00 POSITION WITH FIXED BASKET SCREEN / NO STANDPIPE / NO VALVE
	$598

	1008PC
	PERFORATED STAND PIPE AND HINGED PERFORATED SCREEN BDC 6:00 POSITION / NO VALVE (MUST SELECT PORT ONLY OR 6:00 VALVE OPTION IN ADDITION TO THIS)
	$1,064

	1008PE
	6" KNIFE VALVE/REAR DOOR WITH CAMLOC LOCATED 3:00 POSITION, AIR ACTUATED
	$1,923

	1008PF
	6" KNIFE VALVE/REAR DOOR WITH CAMLOC LOCATED 6:00 POSITION, AIR ACTUATED
	$2,167

	1009P
	SUBMERSIBLE TRASH PUMP -  INTERNAL MOUNTED - FORWARD WALL IN BODY/INCLUDES INTERNAL SCREEN/2.5 X 25' DRAIN HOSE AND HOSE HOLDER
	$11,138

	1009PA
	SUBMERSIBLE TRASH PUMP/ EXTERNAL MOUNTED - FORWARD WALL W/ FLOATING ARM/2.5 X 25' DRAIN HOSE AND HOSE HOLDER
	$11,967

	1009PB
	INTERNAL PERFORATED SCREEN FOR PUMP OFF PORTS ONLY
	$708

	1009PD
	FULL WIDTH SWINGING PERFORATED DECANT SCREEN (A SCREEN DESIGNED TO COVER VALVES LOCATED AT 6:00 AND 3:00 POSITIONS ON REAR DOOR,  AVAILABLE ON SINGLE VALVES ALSO)
	$806

	1010P
	PLUMBING ONLY FOR TRASH PUMP  
2.5" LINE PLUMBED TO FRONT BUMPER OR BACK OF CAB - ACTUAL LOCATION IS CHASSIS DEPENDENT. 
NOT ALL CHASSIS HAVE THIS CAPABILITY - CONSULT FACTORY
(USE ONLY WITH OPTION 1009P OR 1009PA)
	$3,043

	1010PA
	PUMP-OFF PORT INSTALLATION ONLY (PORTS ONLY IN BODY)
	$591

	1010PB 
	PUMP-OFF PORT INSTALLATION: INCLUDES ELECTRONIC FUNCTION, PORTS, HYDRAULIC VALVES (MANIFOLD CARTRIGES (1) flow valve, (1) relief valve, SWITCHES AND WIRING/ (LESS TRASH PUMP AND PLUMBING)  Does not have any plumbing from hydraulic manifold-Hosing to Ports, fittings, valves etc)
NOT AVAILABLE ON EXTERNAL PUMP OFF SYSTEMS
	$2,470

	1011P
	GRAVITY DRAIN-OFF SYSTEM 
2.5" LINE PLUMBED TO FRONT BUMPER OR BACK OF CAB -
ACTUAL LOCATION IS CHASSIS DEPENDENT.
NOT ALL CHASSIS HAVE THIS CAPABILITY - CONSULT FACTORY
(2.5" PLUMBING, VALVE, GRAVITY DRAIN PIPE IN BODY)
	$3,085

	1012P
	6" DECANT SYSTEM WITH AIR OPERATED KNIFE VALVE  - FORWARD MOUNTED W/SCREEN (THIS MAY BE INSTALLED ON STREETSIDE WITH CERTAIN OPTION CONTENT)
	$2,371

	1013P
	DEBRIS/WATER TANKS COMBINED - ADDITIONAL WATER CAPACITY
	$2,470

	1014PA
	CENTRIFUGAL SEPARATOR 304 STAINLESS STEEL/REAR MOUNTED (PLUS STYLE)
	$6,934

	1015PB
	FOLDING PIPE RACK/REAR DOOR 
(May not be available due to valves, lighting, etc) 
	$1,066

	1015 PH
	Hydraulic Pipe Racks (Price per side)
	$2,000

	1022P
	SPLASH SHIELD - BOLTED TO BODY FLANGE REAR DOOR
	$1,725

	1023P
	LUBE MANIFOLD (INCLUDES LAMINATED LUBE CHART)
	$2,324

	1030P
	DEBRIS BODY INSPECTION PORT/LADDER
	$1,281

	1041P
	Body Up Alarm
	$925

	2003P
	LAVAL WATER SEPARATOR (THIS IS A CENTRIFUGAL WATER SEPARATOR AT WATER TANK FILL)
	$1,820

	2004P
	CONTINUOUS FILL SYSTEM AT WATER TANK INLET 
	$1,820

	2006P
	AIR PURGE SYSTEM UTILIZING CHASSIS AIR SYSTEM
	$1,329

	2007P
	650 GALLON STREET FLUSHER - 4 HEADS - CONTROLS IN CAB INCLUDES TANKS JOINED OPTION 
REQUIRES ADDITIONAL 18" CHASSIS CA & FRONT CRANKSHAFT DRIVE IF A MANUAL TRANSMISSION (CONSULT FACTORY)
	$22,149

	2008P
	300 GALLON STREET FLUSHER - 2 HEADS - ON/OFF IN CAB ONLY
REQUIRES ADDITIONAL 18" CHASSIS CA & FRONT CRANKSHAFT DRIVE IF A MANUAL TRANSMISSION (CONSULT FACTORY)
	$15,232

	2011P
	3" Y-STRAINER IN LIEU OF 2" AT WATER TANK FILL
	$446

	2016P
	1300 GALLON WATER CAPACITY - ADDITIONAL ON 10 & 12 YD UNITS
6X4 CHASSIS REQUIRED, WILL HAVE 60" DUMP HEIGHT 
(DEPENDING ON CHASSIS FRAME HEIGHT)
	$2,782

	2017P
	1500 GALLON WATER CAPACITY - ADDITIONAL ON 15 YD UNITS
6X4 CHASSIS REQUIRED, WILL HAVE 60" DUMP HEIGHT 
(DEPENDING ON CHASSIS FRAME HEIGHT)
	$1,392

	2018P
	1500 GALLON WATER CAPACITY - ADDITIONAL ON 10 & 12 YD UNITS
6X4 CHASSIS REQUIRED, WILL HAVE 60" DUMP HEIGHT
(DEPENDING ON CHASSIS FRAME HEIGHT)
	$4,168

	2020P
	6" GRAVITY WATER FILL WITH 3" Y-STRAINER ON WATER TANK IN ADDITION TO STD FILL SYSTEM
	$928

	2021P
	ADDITIONAL AIR GAP - WATER FILL SYSTEM 
(INCLUDES Y-STRAINER, 2.5" X 25' FILL HOSE, HOSE STORAGE) 
	$761

	3013P
	Vac on go level 1 no longer available with model change
	$1,229

	3013PA
	LEVEL II-VAC-ON-THE-GO DRIVEN VIA Hydrostatic drive. 
This utilizes hydraulic system from the transmission to drive hydraulic wheel motors. Require an automatic transmission.
LEVEL II is for the cleaning of drying beds, vacuuming leaves and debris along curbs. INCLUDES;
1. Vac-On The-Go with full, constant vacuum
2. Full range of the boom 
3. System includes hydrostatic drive pedal to allow operator both hands on the wheel while operating the truck.


	$30,480

	3017P
	Blower High Temp Safety Shutdown
	$540

	3019P
	Digital Water Pressure Gauge
	$650

	4003P
	8 FT. HYDRAULIC EXTENDABLE BOOM WITH 180 DEGREE ROTATION
	$9,920

	4014P
	5 x 5 TELESCOPIC & EXTENDABLE BOOM
(INCLUDES OPTION 4010P)
	$18,280

	4008P
	GRATE LIFTING HOOK - INSTALLED ON BOOM
	$319

	4009P
	WATER RING ASSEMBLY - INSTALLED IN VACUUM SUCTION HOSE AT ELBOW
	$840

	4009PA
	WATER RING ASSEMBLY - INSTALLED IN VACUUM SUCTION HOSE TO  BODY
	$840

	4011PB
	T300 OMNEX REMOTE CONTROL BELLY PACK - WIRED OR WIRELESS CAPABILITY. THIS SYSTEM WILL ACTIVATE ALL BOOM FUNCTIONS: UP, DOWN, LEFT, RIGHT, (IN & OUT IF SO EQUIPPED) VACUUM RELIEF ON/OFF, RODDER PUMP ON/OFF, THROTTLE UP/DOWN, E-STOP, HOSE REEL PAY IN/PAY OUT, HOSE REEL SPEED CONTROL, WATER PRESSURE CONTROL (IF REMOTE IS REQUIRED, YOU MUST SELECT THIS OPTION FOR A 5X5 BOOM)
	$3,166

	4013P
	ROTATABLE INLET HOSE ASSEMBLY, TELE/EXTENDABLE
	$591

	4013PA
	ROTATABLE INLET HOSE ASSEMBLY, 5X5
	$916

	4017P
	Boom Out Of Position Alarm
	$1,650

	5000P
	40 GPM/2500 PSI WATER SYSTEM - ILO 60GPM/2000PSI SYSTEM- DOES NOT INCLUDE WATER ACCUMULATOR. OR MULTI FLOW
	NC

	5001PA
	60 GPM/2500 PSI WATER SYSTEM - ILO STD WATER SYSTEM
	NC

	5002P
	80 GPM/2000 PSI WATER SYSTEM - ILO STD WATER SYSTEM
	NC

	5002PA
	80 GPM/2500 PSI WATER SYSTEM - ILO STD WATER SYSTEM
	NC

	5004P
	100 GPM/2000 PSI WATER SYSTEM - INCLUDES 500' X 1 1/4" SEWER HOSE
	$4,151

	5004PB
	100 @ 2000 PSI SYSTEM - PUMP AND PLUMBING ONLY 
	$2,203

	5008PA
	12 GPM COLD WEATHER RECIRCULATION SYSTEM – (FAN MACHINES) 
DRIVEN FROM AUXILIARY ENGINE; include with Vac-On-G0-II
	$3,118

	5008PB
	EXTREME COLD WEATHER RECIRCULATION SYSTEM – MINIMUM 25 GPM - DRIVEN FROM ALLISON AUTOMATIC TRANS
	$1,762

	5009PA
	12 GPM COLD WEATHER RECIRCULATION SYSTEM - THIS OPTION AVAILABLE FOR ALL MACHINES WITH MANUAL TRANSMISSION. REQUIRES CHASSIS FRONT CRANKSHAFT DRIVE PROVISION. CHASSIS MUST BE ORDERED WITH FRONT CRANK PROVISION.
	$4,540

	5010P
	ACCUMULATOR SYSTEM FOR JET RODDER WATER SYSTEM
	$2,829

	5021P
	HYDRO EXCAVATION KIT WITH RETRACTABLE REEL, 50' X 3/8" HOSE, HANDGUN & PLUMBING 
(MUST HAVE OPTION #5010 ACCUMULATOR ON THE MACHINE) 
THIS IS NOT AVAILABLE ON CATCH BASIN UNITS
	$3,521

	5023P
	FAN FLUSH OUT SYSTEM
	$522

	5029P
	Cyclone Separator Washout
	$518

	PN3
	Vanguard Pathogen Defense System
	$7,200

	6000PB - 48783VS4
	400' X 1" PIRANHA SEWER HOSE/2500 PSI 
	NC

	6001PB - 48783VS5
	500' X 1" PIRANHA SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$502

	6002PB - 48783VS6
	600' X 1" PIRANHA SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$940

	               - 48783VS7
	700' X 1" PIRANHA SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$1,378

	6003PC - 48783VS8
	800' X 1" PIRANHA SEWER HOSE/2500 PSI (IN LIEU OF STD) 
	$1,817

	             - 43569
	400' X 1" AEROQUIP SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$122

	6001P - 43570
	500' X 1" AERO-QUIP SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$575

	            - 43569F
	700' X 1" AERO-QUIP SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$1,482

	6003P - 43569E
	800' X 1" AERO-QUIP SEWER HOSE/2500 PSI (IN LIEU OF STD) 
	$1,935

	               - 48783AS4
	400' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI 
(IN LIEU OF STD)
	$608

	6001PC - 48783AS5
	500' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI 
(IN LIEU OF STD)
	$1,183

	6002PE - 48783AS6
	600' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI
(IN LIEU OF STD)
	$1,758

	6002PC - 48783AS7
	700' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI 
(IN LIEU OF STD HOSE) REQUIRES EXTRA CAPACITY REEL
	$2,333

	               - 48783AS8
	800' X 1" PIRANHA ARMOR BELT SEWER HOSE/2500 PSI REQ EXTRA CAP Reel
	$2,907

	               - 48783BS4
	400' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$807

	6001PD - 48783BS5
	500' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI (IN LIEU OF STD)
	$1,431

	6002PF - 48783BS6
	600' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI
(IN LIEU OF STD)
	$2,056

	6002PD - 48783BS7
	700' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI (IN LIEU OF STD) REQUIRES EXTRA CAPACITY REEL
	$2,681

	               - 48783BS8
	800' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE/2500 PSI (IN LIEU OF STD) REQUIRES EXTRA CAPACITY REEL
	$3,304

	6000PA - 476504
	400' X 1" SHARK SEWER HOSE/3000 PSI (IN LIEU OF STD) REQUIRES 80 GPM WATER SYSTEM
	$4,173

	6001PA - 476505
	500' X 1" SHARK SEWER HOSE/3000 PSI (IN LIEU OF STD) REQUIRES 80 GPM WATER SYSTEM
	$5,638

	6002PA - 476506
	600' X 1" SHARK SEWER HOSE/3000 PSI (IN LIEU OF STD) REQUIRES 80 GPM WATER SYSTEM
	$7,104

	               - 476507
	700' X 1" SHARK SEWER HOSE/3000 PSI (IN LIEU OF STD) REQUIRES 80 GPM WATER SYSTEM
	$8,570

	6003PA - 476508
	800' X 1" SHARK SEWER HOSE/3000 PSI (IN LIEU OF STD) REQUIRES 80 GPM WATER SYSTEM & EXTRA CAPACITY REEL
	$10,037

	PN2
	600’ x 1” Cobra Hose
	$3,355

	6004PA
	AUTOMATIC HOSE LEVEL WIND GUIDE
	$4,888

	6004PB
	INDEXING AUTOMATIC HOSE LEVEL WIND GUIDE
	$5,333

	6005PA
	ADDITIONAL MECHANICAL HOSE FOOTAGE COUNTER 
LOCATED ON THE REAR OF HOSE REEL
	$510

	6005PD
	DIGITAL HOSE COUNTER - ENGLISH OR METRIC - (STD FRONT MECHANICAL HOSE FOOTAGE COUNTER MOVES TO REAR) 
	$1,762

	6006P
	HOSE GUARD/RODDER HOSE
	$1,183

	6012P
	LATERAL CLEANING KIT WITH 150' HOSE AND NOZZLE/25 GPM, 2000 PSI

	$3,189

	6013P
	HYDRAULIC TOOL PACKAGE 
(WILL OPERATE CLASS THREE TOOLS - 9 TO 12 GPM)
	$1,513

	6019P
	RODDER PUMP DRAIN VALVES (2)
	$510

	6020PC
	TELESCOPING ROTATING HOSE REEL W/DUAL CONTROLS - CAPACITY:  
600' X 1-1/4" AERO-QUIP OR 600' X 1-1/4" PIRANHA SEWER HOSE
800' X 1" SHARK SEWER HOSE
900' X 1" PIRANHA ARMOR BELT OR 900' X 1" PIRANHA ARMOR BELT BEACON SEWER HOSE
1000' X 1" AERO-QUIP OR 1000' X 1" PIRANHA SEWER HOSE
	$2,449

	6022P
	SEWER INSPECTION CAMERA SYSTEM (IBAK)/FRONT MOUNTED, CONTROLLER, CABLE REEL, CRAWLER W/CAMERA (PAN AND TILT) INCLUDES STORAGE TOOLBOX    
	$89,508

	7005P
	HYDRAULIC OIL HIGH TEMPERATURE LIGHT AND ALARM
	$383

	7005PA
	INTELLIVIEW IN CAB MOUNT - (Gives the operator the capability of mounting front Intelliview display in cab)
	$619

	8001P
	SPLIT ARROW TRAFFIC CONTROLLER
TWO PIECE 10 LIGHTS - REAR ONLY
	$1,439

	8001PA
	SIGNAL-MASTER DIRECTIONAL ARROW 
ONE PIECE 10 LIGHTS - REAR
	$1,439

	8001PB
	SIGNAL-MASTER DIRECTIONAL ARROW STICK 
ONE PIECE 8 LED LIGHTS - REAR
	$2,112

	8001PC
	SIGNAL-MASTER DIRECTIONAL ARROW STICK 
ONE PIECE 8 LED LIGHTS - FRONT
	$2,112

	8001PD
	WHELEN DIRECTIONAL LARGE ARROW 
ONE PIECE 16 STROBE LIGHTS - REAR ONLY
	$4,910

	8001PE
	LED SPLIT ARROW TRAFFIC CONTROLLER
TWO PIECE 10 LED LIGHTS - REAR ONLY
	$1,646

	8002P
	HAND LIGHT WITH BUMPER PLUG 
	$383

	8004P
	REVOLVING AMBER BEACON LIGHT - FED SIG 100 SERIES
MOUNTED REAR ONLY
	$719

	8007P
	STROBE LIGHT - FED SIG US-5 SERIES
REAR MOUNTED ONLY
	$1,004

	8007PB
	STROBE LED AMBER LIGHT - FED SIG
FRONT CAB GUARD MOUNTED  
	$1,119

	8007PC
	STROBE LED AMBER LIGHT - FED SIG
REAR MOUNTED ONLY
	$1,119

	8013P
	LIMB GUARD FOR REVOLVING OR STROBE LIGHT (EACH)
	$203

	8020P
	WHELEN DOT 3 LIGHTING SYSTEM 
FOUR STROBE LIGHT HEAD ASSEMBLY
	$5,345

	8020PA
	WHELEN DOT 3 LIGHTING SYSTEM 
SIX STROBE LIGHT HEAD ASSEMBLY
	$5,602

	8020PC
	VACTOR FOUR FLASHING LIGHT ASSEMBLY - TWO PIECE 
EACH WITH (2) AMBER LIGHTS 7" DIA
	$639

	8020PE
	FS DOT 3 - 6 LIGHT SYSTEM - ALL LED SYSTEM - 2 FED SIG MIRROR MOUNT STROBES, 2 MID-SHIP, 2 REAR MOUNTED OVAL LED QUAD FLASH STROBES
	$2,969

	8020PF
	FS DOT 3 - 4 LIGHT SYSTEM - ALL LED SYETEM - 2 FED SIG MIRROR MOUNT STROBES, 2 REAR MOUNTED OVAL LED QUAD FLASH LIGHTS
	$2,355

	8020PG
	FS DOT 3 - 5 LIGHT SYSTEM - ALL LED SYSTEM - 1 CAB GUARD STROBE, 2 MID-SHIP, 2 REAR MOUNTED  OVAL LED QUAD FLASH LIGHTS
	$2,725

	8022P
	LED BUMPER STROBES LIGHTS - FED SIG 
RECESSED IN THE TAIL PLATE OF THE VACTOR
	$1,299

	8029P
	LED WORK LIGHTS (2) ON REAR DOOR 
	$635

	8029PA
	LED WORK LIGHT AT OPERATOR STATION (EACH)
	$673

	8029PB
	LED WORK LIGHT @ HOSE REEL MANHOLE (EACH)
	$673

	8029PC
	LED WORK LIGHT @ CURB SIDE
	$505

	8029PD
	LED WORK LIGHT @ STREET SIDE
	$505

	8029PE
	LED WORK LIGHT @ AUX ENGINE
	$505

	9001P
	ZIEBART CORROSION PROTECTION 
	$1,583

	9001PA
	ROAD SALT PROTECTION - A PROTECTIVE COATING/KATS UL5000 A water based synthetic acrylic copolymer coating sprayed on the exterior of the machine for protection against the elements during transit. Requires a water based KATS UL8000 (Supplied by Vactor) to remove the coating.  
	$388

	9011P
	PINTLE HITCH ASSEMBLY (STATE HEIGHT REQUIRED)
	$1,247

	9021P
	CAMERA SYSTEM, REAR CAMERA ONLY
	$1,762

	9021PA
	CAMERA SYSTEM, FRONT & REAR CAMERA 
	$2,407

	9021PB
	CAMERA SYSTEM, FRONT, REAR AND BOTH SIDES
	$3,003

	9023P
	SAFETY CONE STORAGE RACK/PLATE FOR DROP IN CONES
	$166

	9023PA
	SAFETY CONE STORAGE RACK/POST TYPE
	$166

	9024P
	WATER COOLER STORAGE RACK
	$166

	9070PA
	46849MQ/16x12x18 FRONT BUMPER TOOLBOXES (2)
PD or FAN
4X2 & 6X4 CHASSIS
1000, 1300, 1500 GALLON CAPACITIES
	$2,024

	9070PB
	LONG HANDLE TOOL STORAGE - (6) 2.5" PVC STORAGE TUBES 
LOCATED REAR SUBFRAME AND ON BOOM REST
	$359

	9071PA
	46849NT/17W X 30H X 48D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Back of Cab Toolbox/Passenger Side Access - Exhaust position dependent
	$2,563

	9071PB
	46849PT/14W x 8H x 48D TOOLTRAY
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Behind Cab Tool Tray Passenger Side  Access
	$754

	9071PD
	46849PF/17W x 30H x 48D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Behind Cab Tool Box Driver Side Access - Exhaust position dependent
	$2,563

	9071PC
	46849PU/14W x 8H x 48D TOOLTRAY
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Behind Cab Tool Tray Driver Side Access
	$754

	9071PE
	46849AB/16W x 30H x 96D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Appropriate Cab To Axle Is Required For  Dual Access
	$3,229

	9071PF
	46849CM/14W x 36H x 96L TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Appropriate Cab To Axle Is Required For  Dual Access
	$3,287

	9071PG
	46849PM/18W x 36H x 26D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Rain Coat Style Mounted Behind Cab Driver Side Access
	$1,635

	9072PA
	46849JF/60W x 24H x 24D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000, 1300 GALLON ONLY
Located in Area Between Boom Pedestal to Boom Guard
	$2,684

	9072PB
	46849DY/24W x 24H x 24D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1500 GALLON ONLY
Located Rear of Boom Guard Area
	$1,635

	9073PA
	46849MG/30W x 18H x 24D TOOLBOX
PD or FAN
6X4 CHASSIS ONLY
1000,1300,1500 GALLON CAPACITIES
Available When Both Handgun and HXX Reels Are Omitted.
	$1,781

	9075PA
	46849MH/60W x 20H x 12D TOOLBOX
FAN ONLY
6X4 CHASSIS ONLY
1000, 1300, 1500 GALLON CAPACITIES
Mounted at fan inlet
	$1,507

	9075PB
	46849PG/48W x 20H x 12D TOOLBOX
FAN ONLY
4X2 CHASSIS
1000 GALLON CAPACITIES
Mounted at fan inlet
	$1,340

	P110STD
	MODULE - DUPONT (WET-ON-WET)
	$0

	P113
	MODULE STRIPE - SINGLE
	$2,307

	P114
	MODULE STRIPE - MULTIPLE (3 MAXIMUM)
	$2,801

	P115
	REAR DOOR STRIPE - PAINTED
	$1,154

	P116
	REAR DOOR STRIPE - REFLECTIVE TAPE (CHEVRON)
	$735

	P119
	CAB PAINT- IMRON
	$4,678

	P120
	CAB STRIPE - SINGLE
	$1,489

	P121
	CAB STRIPE - MULTIPLE (3 MAXIMUM)
	$1,646

	P124STD
	VACTOR 2100 PLUS BODY DECAL / MULTI-COLORED  (49601-D)
	$0

	P124B
	VACTOR 2100 PLUS BODY DECAL / BLUE  (49601-E)
	$0

	P124G
	VACTOR 2100 PLUS BODY DECAL / FOREST GREEN  (49601-G)
	$0

	P124R
	VACTOR 2100 PLUS BODY DECAL / CARDINAL RED  (49601-J)
	$0

	P124S
	VACTOR 2100 PLUS BODY DECAL / SILVER  (49601-C)
	$0

	P124W
	VACTOR 2100 PLUS BODY DECAL / WHITE  (49601-F)
	$0

	P124BW
	VACTOR 2100 PLUS BODY DECAL / BLACK & WHITE  (49601-H)
	$0

	
	1" - 15 Deg. Sand Nozzle W/6-Tungsten Carbide Inserts - 60 GPM @ 2000
	$332

	
	1" - 15 Deg. Sand Nozzle W/6-Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$332

	
	1" - 15 Deg. Sand Nozzle W/6-Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$332

	
	1" - 15 Deg. Sand Nozzle W/6-Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$332

	
	1" - 30 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Ins - 60 GPM @ 2000 PSI
	$730

	
	1" - 30 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$730

	
	1" - 30 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$730

	
	1" - 30 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$730

	
	1" - 15 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 60 GPM @ 2000 PSI
	$730

	
	1" - 15 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$730

	
	1" - 15 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$730

	
	1" - 15 Deg. Penetrator Nozzle W/10 - Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$730

	
	3" Dia. General Purpose Nozzle W/8 - Replaceable Nozzles
	$715

	
	3" Dia. General Purpose Nozzle W/8 - Replaceable Nozzles
	$715

	
	3" Dia. General Purpose Nozzle W/8 - Replaceable Nozzles
	$715

	
	3" Dia. General Purpose Nozzle W/8 - Replaceable Nozzles
	$715

	
	Storm Nozzle W/12 Replaceable  Nozzles - 60 GPM
	$1,356

	
	 Floor Cleaner Nozzle W/11- Replaceable Nozzles - 40 GPM
	$4,080

	
	 Floor Cleaner Nozzle W/11- Replaceable Nozzles - 60 GPM
	$4,080

	
	Floor Cleaner Nozzle W/11- Replaceable Nozzles - 80 GPM
	$4,080

	
	Floor Cleaner Nozzle W/11- Replaceable Nozzles - 100 GPM
	$4,080

	
	Culvert Nozzle W/11- Replace Nozzles 40GPM
	$4,080

	
	Culvert Nozzle W/11- Replaceable Nozzles - 60 GPM
	$4,080

	
	Culvert Nozzle W/11- Replaceable Nozzles - 80 GPM
	$4,080

	
	Culvert Nozzle W/11- Replaceable Nozzles - 100 GPM
	$4,080

	
	1" - 15 Deg. Probe Nozzle W/5 Jets - 60 GPM @ 2000 PSI
	$528

	
	1" - 15 Deg. Probe Nozzle W/5 Jets - 60 GPM @ 2500 PSI
	$528

	
	1" - 15 Deg. Probe Nozzle W/5 Jets - 80 GPM @ 2000 PSI
	$528

	
	1" - 15 Deg. Probe Nozzle W/5 Jets - 80 GPM @ 2500 PSI
	$528

	
	1" - 30 Deg. Lateral Kit Nozzle (Non-Tungsten Carbide)
	$157

	
	1" - 30 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2000 PSI
	$715

	
	1" - 30 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$715

	
	1" - 30 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$715

	
	1" - 30 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$715

	
	1" - 15 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2000 PSI
	$715

	
	1" - 15 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$715

	
	1" - 15 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$715

	
	1" - 15 Deg. Sanitary Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$715

	
	1" - 30 Deg. Sand Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2000 PSI
	$1,159

	
	1" - 30 Deg. Sand Nozzle W/8 Tungsten Carbide Inserts - 60 GPM @ 2500 PSI
	$1,159

	
	1" - 30 Deg. Sand Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2000 PSI
	$1,159

	
	1" - 30 Deg. Sand Nozzle W/8 Tungsten Carbide Inserts - 80 GPM @ 2500 PSI
	$1,159

	S190 - 69649A
	Additional 1/2" Handgun Hose - 10ft
	$73

	S190 - 69649E
	Additional 1/2" Handgun Hose - 15ft
	$63

	S190 - 69649B
	Additional 1/2" Handgun Hose - 25ft
	$89

	S190 - 69649D
	Additional 1/2" Handgun Hose - 35ft
	$146

	S190 - 69649C
	Additional 1/2" Handgun Hose - 50ft
	$187

	S190 - 69649F
	Additional 1/2" Handgun Hose - 75ft
	$312

	S200 - 31096
	Additional 1"  Leader Hose - 30" (Not Shark)
	$66

	S200 - 31096A
	Additional 1"  Leader Hose - 5ft (Not Shark)
	$113

	S200 - 31096B
	Additional 1"  Leader Hose - 10ft (Not Shark)
	$195

	S200 - 31096C
	Additional 1"  Leader Hose - 15ft (Not Shark)
	$297

	S200 - 31096D
	Additional 1"  Leader Hose - 25ft (Not Shark)
	$500

	S200 - 31096E
	Additional 1"  Leader Hose - 30ft (Not Shark)
	$693

	S200 - 31096F
	Additional 1"  Leader Hose - 35ft (Not Shark)
	$809

	S210 - 44492
	Basin Retriever (Handi-Clam)
	$952

	S220 - 20943
	Basin Shovel
	$323

	S230 - 20944
	Basin Spoon
	$534

	S240 - 36983
	Offset Manhole Roller
	$548

	S250 - 43516
	Root Cutter Kit (Does Not Include Saws)
	$4,059

	S260 - 43517
	6" Spiral Saw Blade
	$279

	S270 - 43518
	8" Spiral Saw Blade
	$319

	S280 - 43519
	10" Spiral Saw Blade
	$339

	S290 - 43520
	12" Spiral Saw Blade
	$381

	S300 - 43521
	15" Spiral Saw Blade
	$468

	S310 - 31685
	Nozzle Pipe For Std. 1" Nozzle
	$97

	S320 - 67488
	Nozzle Pipe For  #10 Nozzle - 1-1/4" Pipe (Included w/#10 Nozzle)
	$106

	S330 - 34142
	Round Leaf Pick-up Nozzle
	$284

	S340 - 34878
	Grate Lifting Hook
	$66

	S360 - 50507
	Underwater Debris Nozzle (Snorkel Kit)
	$1,010

	S370 - 25637C
	8" x 3' Aluminum Pipe Assy
	$185

	S380 - 25637
	8" x 5' Aluminum Pipe Assy
	$243

	S390 - 25637F
	8" x 7.5' Aluminum Pipe Assy
	$338

	S400 - 25268
	8" x 6.5' Catch Basin Nozzle Assy
	$278

	S410 - 16584
	8" Quick Clamp Assy
	$30

	S430 - 29314
	Water Ring Assy
	$380

	S450 - 33838
	8"x4"x4" Adapter
	$600

	S460 - 65297A
	Additional Handgun Assy. With Hose
	$788

	S470 - 29898A
	Additional 6" Lay Flat Drain Hose - 5ft
	$44

	S470 - 29898F
	Additional 6" Lay Flat Drain Hose - 6ft
	$101

	S470 - 29898B
	Additional 6" Lay Flat Drain Hose - 8ft
	$136

	S470 - 29898C
	Additional 6" Lay Flat Drain Hose - 10ft
	$88

	S470 - 29898E
	Additional 6" Lay Flat Drain Hose - 15ft
	$132

	S470 - 29898D
	Additional 6" Lay Flat Drain Hose - 35ft
	$308

	S470 - 29898i
	Additional 6" Lay Flat Drain Hose - 40ft
	$353

	S470 - 29898H
	Additional 6" Lay Flat Drain Hose - 50ft
	$522

	S480 - 81321C
	Additional 2 1/2" Water Fill Hose - 15ft
	$262

	S480 - 81321
	Additional 2 1/2" Water Fill Hose - 25ft
	$285

	S480 - 81321K
	Additional 2 1/2" Water Fill Hose - 30ft
	$313

	S480 - 81321A
	Additional 2 1/2" Water Fill Hose - 50ft
	$389

	S480 - 81321B
	Additional 2 1/2" Water Fill Hose - 75ft
	$719

	S490 - 45803
	Additional 2" Water Screen
	$27

	S500 - 41280
	Additional 3" Water Screen
	$29

	S510 - 48806D
	1" Piranha Swage Kit - Manual (Includes Machine, Dies, and Pusher)
	$938

	S510 - 48786D
	1" Piranha Armor Belt and Armor Belt Beacon Swage Kit - Manual (Includes Machine, Dies, and Pusher)
	$1,013

	S510 - 66286
	1" Areoquip Swedge Kit (Includes Machine, Dies, and Pusher)
	$2,119

	S515 - 47748C & 47748D & 47748E & 47748F
	1" Shark Hose Swedge Kit (Includes Machine, Dies, and Pusher)
	$4,129

	S520 - 66286A
	1 1/4" Aeroquip Hose Swedge Kit (Includes Machine, Dies, and Pusher)
	$2,817

	S530 - 52846
	Flexible Hose Guide
	$86

	S550 - 20836
	Hydrant Wrench
	$28

	S560 - 40615
	Emergency Flare Kit
	$26

	S570 - 36158
	8" Jet Digger
	$1,790

	S590 - 45124
	5# Fire Extinguisher
	$114

	89957
	Higbee C/B Nozzle Assy 8" x 78"
	$1,074

	89957A
	Higbee C/B Nozzle Assy 8" x 36"
	$780

	501523
	Higbee C/B Nozzle Assy 6" x 36"
	$981

	501523A
	Higbee C/B Nozzle Assy 6" x 78"
	$950

	34763A
	6" x 5' Alum Pipe Assy
	$329

	34766
	6" x 6.5' Catch Basin Nozzle Assy
	$409

	
	1” High Speed Rotational Drill Nozzle
	$1,713

	
	1” Injector Nozzle 20” to 80”
	$6,850

	
	1” Injector Nozzle 16” to 40”
	$5,742

	
	1” Oil Filled Rotational Nozzle
	$1,964

	
	1” Magnetic Rotational Nozzle
	$3,123

	
	1” Chain Cutter
	$3,627

	
	1” Lift Station Nozzle
	$3,022

	
	1” Chain Cutter 8” – 16”
	$9,067

	
	1” Chain Cutter 16” – 32”
	$11,837

	
	Quickview Haloptic Camera – 30’ Pole
	$18,133

	
	Quickview Haloptic Camera – 16’ or 24’ Pole
	$16,622

	
	Truck Mounted Storage Box for Quickview Haloptic 
	$1,108

	
	Jet Bugs Grease System
	$3,929

	
	Vapo Rooter System
	$45,434

	
	8” x 6’ Soil Surgeon 
	$2,881

	
	8”x  5’ Soil Surgeon
	$2,493


WSDOT Options:

Tandem Axle

	1. Pusher Axle with a 13,500# rating will be located in front of the drive axles. Hendrickson Model Para lift Ultra Light or equal. The tires shall be 255/70R22.5 mounted on 8.25x22.5” hub piloted wheels. Fender to be included.
	
	
	
	Watson - $9,520.00

	2. Tag Axle with a 13,500# rating and will be located behind the drive axles. Hendrickson Model Para lift Ultra Light or equal. The tires shall be 255/70R22.5 mounted on 8.25x22.5” hub piloted wheels. Fender to be included.
	
	
	
	Watson - $9,841.00

	3. All optional axles shall be cab controlled for deployment only.  All adjustment controls will be located outside, directly behind the cab on the street side.
	
	
	
	

	4. All optional axles shall rise when the transmission is in reverse.
	
	
	
	

	5. When WSDOT chooses the additional rear mounted tag axle a chute shall be provided to ensure debris does not fall onto the axle or the unit.
	
	
	
	$3,526

	6. Bidders shall provide a deduct amount for the WSDOT radio installation. 
	
	
	
	 <$504.00> Deduct

	7. Fuller 18 Speed manual transmission, with an Easy Pedal Plus clutch and a two-piece clutch brake.
	
	
	
	<$8,059> Deduct

	8. An 80 gallon fuel tank for the chassis 
	
	
	
	<$50.00>

	9. Provide pricing for alternate Rodder hose reel locations.
	
	
	
	N/A

	10. Wireless controls for Boom and Rodder systems (Radio Controlled).
	
	
	
	$4,810.00

	11. Add 500 gallons of water carrying capability.
	
	
	
	$4,211.00

	12. 300 feet of 1-inch high-pressure hose in lieu of the 1 ¼ inch hose. 
	
	
	
	<403.00> Deduct

	13. Shall provide a deduct amount for the entire high pressure Rodding Water System.
	
	
	
	<$18,133.00> Deduct

	14. Shall have a hose reel shield to protect the operator in case of hose failure.
	
	
	
	$1,195.00

	15. Overweight debris-warning system with a light and audible alarm.
	
	
	
	$6,548.00 Digital read out w/alarm & light

$12,089.00 Digital read out, vac-disable system with alarm and truck weights



	16. The ability of the boom to reach 24 feet from the centerline of the chassis. 
	
	
	
	$18,468.00  5X5 boom

	17. Shall provide a deduct amount for each set of diagnostic software.
	
	
	
	<$1,209.00> Deduct – Allison

<$1,914.00>Deduct -  Navistar



	18. Rear mounted hose reel in lieu of a front mounted reel. 
	
	
	
	N/A

	19. Provide deduct pricing for each hour of required equipment training. 
	
	
	
	<$81.00> Deduct

	20. Option for suck on the go capability to include a fully functional boom and water flow to the hand gun.  The unit shall have the specified vacuum capability during this style of operation.
	
	
	
	$30,480 Fan Only



WSDOT Options

5 Axle

	1. An 80 gallon fuel tank for the chassis. 
	
	
	
	<$50.00>

	2. Vendor shall provide pricing for alternate hose reel locations.
	
	
	
	N/A

	3. Wireless controls for Boom and Rodder systems (Radio Controlled).
	
	
	
	$4,810.00

	4. Add 500 gallons of water carrying capability.
	
	
	
	$4,211.00

	5. 300 feet of 1-inch high-pressure hose in lieu of the 1 ¼ inch hose. 
	
	
	
	<403.00> Deduct

	6. Shall provide a deduct amount for the entire high pressure Rodding Water System.
	
	
	
	<$18,133.00> Deduct

	7. Shall have a hose reel shield to protect the operator in case of hose failure.
	
	
	
	$1,195.00

	8. Overweight debris-warning system with a light and audible alarm.
	
	
	
	$6,548.00 Digital read out w/alarm & light

$12,089.00 Digital read out, vac-disable system with alarm and truck weights



	9. Bidders shall provide a deduct amount for the WSDOT radio installation  
	
	
	
	<$504.00> Deduct

	10. Provide pricing for alternate rodder hose reel locations.
	
	
	
	N/A

	11.  Provide a deduct amount for each set of diagnostic software.
	
	
	
	<$1,209.00> Deduct – Allison

<$1,914.00>Deduct -  Navistar



	12. Provide deduct pricing for each hour of required equipment training.
	
	
	
	<$81.00> Deduct

	13. Fuller 18 Speed manual transmission, with an Easy Pedal Plus clutch and a two-piece clutch brake.
	
	
	
	<8,0059.00> Deduct

	14.  Option for suck on the go capability to include a fully functional boom and water flow to the hand gun.  The unit shall have the specified vacuum capability during this style of operation.
	
	
	
	$30,480 Fan Only


Contractor Information & Pricing

Contractor: 
Hi-Vac Corporation    
Contact:
Kent Parks 

                       117 Industry Rd

                        Marietta Ohio 45750
             Phone:         740-374-2306



FAX: (740) 374-5447


  Email:
kparks@hi-vac.com
Website address:
www.hi-vac.com 

	Fed. I.D. No.: 31-1395565  
31-1395565     
 
	
	
	

	
	
	
	

	
	
	
	

	
	
	 
	

	
	   
	
	

	Minimum orders:
	None

	Delivery:
	FOB Destination

	Delivery time:
	180 days After Receipt of Order (ARO)

	Credit card acceptance:
	Yes

	Payment terms:
	Net 30

	Shipping destination:
	Free On Board (FOB) Destination

	Freight:
	Prepaid and included in unit 

	Contract pricing:
	See below

	Payment address:

Items Awarded:
	Same as order placement

See below

	
	


Pricing shall be FOB Destination, Freight Prepaid & Included and Does Not Include Sales Tax
	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price

	1.
	765-77
	Truck Mounted Catch Basin Cleaner Tandem Axle
Mfg :Aquatech /International 7600
Brand/Model: 
F-10
Delivery ARO: 180 Days

	1
	EA
	$ 324,851.72

	Item
	Comm. Code
	Description
	Qty
	Unit
	Unit Price

	2.
	765-77
	Truck Mounted Catch Basin Cleaner 

Five (5) Axle
Mfg :Aquatech /International 7600
Brand/Model: 
F-10
Delivery ARO: 
180 Days
	1
	EA
	$343,029.25

	Alternate Chassis

	Chassis
	Deduct IH7600 three axle
	$     (118,500.00)

	 
	Deduct IH7600 five axle
	$     (129,768.00)

	 
	Add for Kenworth T800 three axle
	$       121,817.35 

	 
	Add for Kenworth T800 five axle
	$       130,448.98

	 
	Add for Freightliner 114SD three axle
	$       121,450.00 

	 
	Add for Freightliner 114SD five axle
	$       137,628.00 

	 
	Add for Peterbilt 320 three axle
	$       126,995.00 

	 
	Add for Peterbilt 320 five axle
	$       136,952.00 

	 
	 
	 

	 
	 
	 

	International 
	Chassis Options
	 

	 
	Omit Front Bumper    
	$              (15.00)

	 
	7 Piece Crossmember
	$                56.00 

	 
	20" Front Frame Extension
	$              176.00 

	 
	21 CFM Air Compressor
	$              301.00 

	 
	For 330/350hp deduct
	$         (8,000.00)

	 
	ON-OFF Regen Switch
	$                35.00 

	 
	CIGAR Lighter / Ash Cup
	$                14.00 

	 
	CIGAR Type Power Source
	$                24.00 

	 
	Body Builder Wiring harness Inside Cab
	$                    -   

	 
	J1939 Harness  / Transmission
	$                32.00 

	 
	2 Sealed Battery Posts, 1 POS, 1 NEG
	$                32.00 

	 
	Manual Engine Fan Override
	$                23.00 

	 
	Auto Transmission  Dipstick Relocate
	$                24.00 

	 
	Eaton Ultrashift 16E09ALL  11SP (ILO Allison)
	$         (2,250.00)

	 
	100 GAL Aluminum F/T DUAL SUPPLY & RTN 
	$              195.00 

	 
	Convex Look Down Mirror Passenger Side
	$                45.00 

	 
	Power Windows and Door Locks
	$              294.00 

	 
	Exterior Sunshade
	$              162.00 

	 
	Traction Rear Tires
	$              750.00 

	 
	RT-463 Rear Suspension ILO HMX
	$            (520.00)

	 
	Non-Polished Aluminum Wheels Front, two (2)
	$              325.00 

	 
	Non-Polished Aluminum Wheels Rear, four (4)
	$           1,595.00 

	 
	Back-up alarm
	$              168.00 

	 
	Vertical DPF & DOC
	$                    -   

	 
	NAVISTAR TRAINING   MINIMUM 8 TO A CLASS 8 HR MINIMUM $1800.00 PER CLASS
	 

	 
	 
	 

	 
	 
	 

	Kenworth
	Chassis Options
	 

	 
	20” front frame extension
	$           1,400.00

	 
	37.4 CFM air pump
	$           2,500.00 

	 
	Cigar type power source
	$                STD 

	 
	Manual engine override
	$                STD 

	 
	Eaton Ultrashift 16E09ALL 11sp (ilo of Alison)
	$         (3,500.00) 

	 
	100 gallon fuel tank, dual supply & return
	$                85.00 

	 
	Power windows & door locks
	$              145.00 

	 
	Jump start terminals
	$              160.00 

	 
	Exterior sun shade
	$                STD 

	 
	Traction Tires
	$                STD

	 
	RT463 rear suspension ILO of Haulmax
	$            (650.00) 

	 
	Non-Polished aluminum front wheels, two (2)
	$              (60.00)

	
	Non-Polished aluminum rear wheels, four (4)
	$           1,080.00

	
	Back-up alarm
	$                  STD

	
	Additional Training
	$           1,800.00

	 
	 
	 

	Freightliner
	Chassis Options
	 

	 
	Three Alliance Batteries: 3375CCA
	$              200.00 

	 
	Cummins Jake Brake
	$           2,200.00 

	 
	Cummins Exhaust Brake
	$                25.00 

	 
	Battery shutoff switch mounted in cab
	$              250.00 

	 
	DEF tank aluminum cover
	$              200.00 

	 
	Front PTO flange
	$              200.00 

	 
	20000# front axle w/tapered leaf suspension
	$           4,500.00 

	 
	Chalmers model 854 rear suspension
	$           8,075.00 

	 
	Hendrickson Haul-Max suspension
	$           3,900.00 

	 
	Rear locking differential (both)
	$           1,250.00 

	 
	22.5x12.25 Alcoa aluminum front wheels two (2) 
	$              500.00 

	 
	22.5x8.5 Alcoa aluminum wheels eight (8)
	$           1,200.00 

	 
	120 gallon fuel tank left hand side
	$              300.00 

	 
	Fuel cooler
	$              126.00 

	 
	Fiberglass hood 114SD with access latches
	$              525.00 

	 
	Dual 24" air horns with shields
	$              175.00 

	 
	Exterior sun visor
	$              225.00 

	 
	Lower Fresnel lens in right hand side door
	$              240.00 

	 
	Chrome front bumper
	$              215.00 

	 
	Goodyear MSA front tires 425/65R 22.5
	$           1,500.00 

	 
	Front frame extension
	 N/C 

	 
	 
	 

	 
	 
	 

	 
	 
	 

	Peterbilt
	Chassis Options 
	 

	 
	 
	 

	 
	20” front frame extension
	$           1,400.00

	 
	37.4 CFM air pump
	$           2,400.00 

	 
	Cigar type power source
	$                30.00

	 
	Manual engine override
	$                80.00

	 
	Eaton Ultrashift 16E09ALL 11sp (ilo of Alison)
	$         (4,500.00) 

	 
	100 gallon fuel tank, dual supply & return
	$              795.00 

	 
	Power windows & door locks
	$              120.00 

	 
	Jump start terminals
	$              259.00 

	 
	Exterior sun shade
	$                STD 

	 
	Traction Tires
	$           1,800.00

	 
	RT463 rear suspension ILO of Haulmax
	$            (650.00) 

	 
	Non-Polished aluminum front wheels, two (2)
	$              550.00

	
	Non-Polished aluminum rear wheels, four (4)
	$           2,200.00

	
	Back-up alarm
	$                67.00

	
	Additional Training
	$           1,800.00

	 
	 
	 

	 
	 
	 

	 
	Module Options
	 

	 
	Module options for three (3) axle chassis
	 

	B5
	For a 5 cuyd rear hose reel jet/vac truck
	$       (46,058.62)

	B6
	For a 6 cuyd rear hose reel jet/vac truck
	$       (56,498.16)

	B10
	For a 10 cuyd rear hose reel jet/vac truck
	$       (43,980.09)

	B15
	For a 15 cuyd rear hose reel jet/vac truck
	$       (33,384.64)

	B52
	For a 5 cuyd rear hose reel jet/vac truck
	$       (29,749.41)

	CB10
	For a 10 cuyd no hose reel catch basin cleaner
	$       (58,699.19)

	CB15
	For a 15 cuyd no hose reel catch basin cleaner
	$       (47,915.21)

	F10/Poly 
	For a 10 cuyd front hose reel jet/vac truck
	$       (29,299.98)

	F10/Alum 
	For a 10 cuyd front hose reel jet/vac truck
	$       (13,390.89)

	F15/Poly 
	For a 15 cuyd front hose reel jet/vac truck
	$       (20,437.03)

	F15/Alum 
	For a 15 cuyd front hose reel jet/vac truck
	$         (4,527.94)

	X10
	For a 12 cuyd no hose reel hydro excavator
	$         83,977.97 

	X15
	For a 15 cuyd no hose reel hydro excavator
	$       120,368.88 

	 
	 
	 

	
	
	

	 
	Module options for five (5) axle chassis
	 

	B10
	For a 10 cuyd rear hose reel jet/vac truck
	$       (43,773.53)

	B15
	For a 15 cuyd rear hose reel jet/vac truck
	$       (33,178.08)

	B52
	For a 5 cuyd rear hose reel jet/vac truck
	$       (29,542.85)

	CB10
	For a 10 cuyd no hose reel catch basin cleaner
	$       (58,492.62)

	CB15
	For a 15 cuyd no hose reel catch basin cleaner
	$       (47,708.64)

	F10/Poly 
	For a 10 cuyd front hose reel jet/vac truck
	$       (29,093.42)

	F10/Alum 
	For a 10 cuyd front hose reel jet/vac truck
	$       (13,184.33)

	F15/Poly 
	For a 15 cuyd front hose reel jet/vac truck
	$       (20,230.46)

	F15/Alum 
	For a 15 cuyd front hose reel jet/vac truck
	$         (4,321.37)

	X10
	For a 12 cuyd no hose reel hydro excavator
	$         84,184.54 

	X15
	For a 15 cuyd no hose reel hydro excavator
	$       120,575.45 

	 
	 
	 

	 
	Module ONLY installed on your chassis at Hi-Vac Corp:
	 

	B5
	5 cuyd debris tank w/rear hose reel, 1000g water
	$       154,109.75 

	B6
	6 cuyd debris tank w/rear hose reel, 500g water
	$       142,262.25 

	B10
	10 cuyd debris tank w/rear hose reel, 1000g water
	$       156,396.13 

	B15
	15 cuyd debris tank w/rear hose reel, 1500g water
	$       168,051.13 

	B52
	5 cuyd debris tank/2000 gallons of water
	$       172,049.88 

	CB10
	10 cuyd debris body w/o hose reel, 1000g water
	$       140,205.13 

	CB15
	15 cuyd debris body w/o hose reel, 1500g water
	$       152,067.50 

	F10/Poly tanks
	10 cuyd debris tank w/front hose reel, 1000g water
	$       172,544.25 

	F10/Alum tanks
	10 cuyd debris tank w/front hose reel, 1100g water
	$       190,044.25 

	F15/Poly tanks
	15 cuyd debris tank w/front hose reel, 1000g water
	$       182,293.50 

	F15/Alum Tanks
	15 cuyd debris tank w/front hose reel, 1100g water
	$       199,793.50 

	X10
	12 cuyd debris tank w/o hose reel, 5250cfm blower, 1000 gallons of water, including hot water
	$       280,111.76 

	X15
	15 cuyd debris tank w/o hose reel, 5250cfm blower, 1000 gallons of water, including hot water
	$       317,787.06 

	 
	 
	 

	 
	 
	 

	Body Options:

	 Paint

	252
	Export prep
	 $             681.00 

	397
	Imron paint - body only B-15
	 $          3,000.00 

	380
	Imron paint, body only B-10
	 $          3,000.00 

	363
	Paint outside of chassis
	 $          3,500.00 

	401
	Tank top nonskid coating
	 $             770.00 

	222980
	Rear door safety stripes 
	 $             533.00 

	830
	All other two-tone striping
	 $          4,500.00 

	 
	 
	 

	 
	 
	 

	 Chassis, Body Modifications 

	241032
	Rear bumper and hitch plate for rear reel units
	 $          2,372.00 

	220302
	Combination pintle & ball hitch (order with 239093)
	 $             392.00 

	MRAXL
	Relocate rear axles 
	 $          3,000.00 

	 
	 
	 

	 
	 
	 

	 Tool Boxes, Shrouding & Skirting

	238078
	48"Wx20.5"Dx10"H aluminum tool box (space permitting)
	 $             876.00 

	270760
	24"Wx20.5"Dx10"H aluminum tool box (space permitting)
	 $             718.00 

	180552-1
	30"Wx18"Dx18"H aluminum tool box (space permitting)
	 $          1,016.00 

	180555-1
	60"Wx24"Dx24"H aluminum tool box (space permitting)
	 $          1,514.00 

	180549-S
	72"Wx15"Dx36"H behind cab tool box (space permitting)
	 $          2,130.00 

	NPN
	Custom tool box to customer specification not to exceed
	 $        10,000.00 

	NOTE: Requires additional Cab to Axle length and approved factory layout. 
	 

	720
	Side mounted tube racks for 6" tubes (Holds two lengths of tubes on each side, space permitting)
	 $          1,490.00 

	000364-1
	Side mounts tube racks, one side only
	 $             685.00 

	000364-2
	Side mounts tube racks, both sides
	 $          1,477.00 

	000364-S
	Single 8" vertical tube holder
	 $             785.00 

	000364-3
	Tube racks under splash shield
	 $             653.00 

	315
	Power deck shrouding, includes doors and ladder on side. (No top, front, back or bottom). 
	 $          4,662.00 

	243924-1
	Access steps - tank top
	 $             539.00 

	243923
	Tool basket (perforated metal) - under standard toolbox
	 $             466.00 

	NPN
	Tool tray (perforated metal) - behind cab
	 $          1,028.00 

	246022
	Side tool trays (steel) - full length of water tanks, on both sides of unit
	 $          1,180.00 

	 
	 
	 

	
	
	

	 Water Tanks

	238210
	Tank inter-connect for B6, B10, B15, B52
	 $             983.00 

	 
	 (Must also order Part #121707 - Load limit switch & alarm)
	 $             731.00 

	NPN
	Tank inter-connect select
	 $          1,560.00 

	224640
	Tank inter-connect for B5 only
	 $          1,571.00 

	221370
	Fill line strainer
	 $             295.00 

	241629
	Dual fill system
	 $             618.00 

	235373
	Tank top strainer
	 $             915.00 

	220192
	Auto fill line shut-off poly tank
	 $          2,182.00 

	NPN
	B10/1300 Tank--Additional 300 gallons inside front of debris tank
	 $          7,316.00 

	NPN
	B10/1500 Tank--Additional 500 gallons inside front of debris tank
	 $          9,997.00 

	 
	 
	 

	 
	 
	 

	 Debris Tank

	130635
	B10 internal tank flusher, high flow
	 $          2,190.00 

	130635-1
	B6 internal tank flusher, high flow
	 $          1,850.00 

	130636
	B15 internal tank flusher, high flow
	 $          2,828.00 

	130639
	B5 internal tank flusher
	 $          2,178.00 

	220320
	Additional 5" diameter sight eye
	 $             222.00 

	120079
	Liquid level probe and alarm
	 $          1,378.00 

	368
	Pump-off system (180 GPM)
	 $          4,719.00 

	249023
	Pump-off system (300 GPM)
	 $          5,463.00 

	380383
	Pump-off system (500 GPM)
	 $        12,540.00 

	238425
	Waste water recycling and pump-off system
	 $          6,814.00 

	303
	304 Stainless Steel Debris Tank
	 Custom Quote 

	CYCLNE
	Cyclone separator with collection chamber and discharge valve, each 
	 $          5,214.00 

	221850
	Tank top strainer for B5 only
	 $             649.00 

	NPN
	KevGuard interior coating
	 $          2,359.00 

	BTEL
	Telescopic boom- -23 foot
	 $        14,842.00 

	B23B
	23 foot extendable boom
	 $          3,270.00 

	B25B
	25 foot extendable boom
	 $          5,746.00 

	382413
	Splash shield, 1/2 rear door(3 o'clock to 9 o'clock)
	 $          1,283.00 

	246155
	6" butterfly drain valve, in lieu of gate valve
	 $             641.00 

	380741
	High dump debris body option
	 $        24,068.00 

	NPN
	Dual boom cylinders
	 $          1,311.00 

	383806
	Boom back-up power system, 12V (in case of hydraulic failure)
	 $          1,966.00 

	381999
	Wet ring for debris tank inlet
	 $          1,604.00 

	245901-4
	Debris tank vibrator
	 $          4,585.00 

	338837-1
	Dual floor flusher
	 $          2,359.00 

	NPN
	B12 upgrade - additional 2 cuyd debris capacity
	 $          7,316.00 

	NPN
	CB12 upgrade - additional 2 cuyd debris capacity
	 $          7,316.00 

	 
	 
	 

	 
	 
	 

	 Hose Reel

	BFR
	Front reel in lieu of rear reel (includes hydraulic tilt for reel assembly)
	 $        16,052.00 

	BFRRR
	Front reel in addition to rear reel
	 $        26,595.00 

	367
	Front reel hand crank
	 $             956.00 

	AULEV
	Automatic hose levelwind
	 $        11,764.00 

	239978
	Level wind without counter for front reel
	 $             544.00 

	240695
	Counter for level wind for rear reel units only
	 $             727.00 

	240099
	Front reel level wind with counter
	 $             700.00 

	381960
	Clamshell opening level wind for front or rear reel
	 $          1,288.00 

	241966
	Control panel cover - rear reel
	 $          1,221.00 

	243926
	1100' cap rear hose reel
	 $          5,881.00 

	242322
	Street side articulation
	 $             683.00 

	220230-1
	Hose reel counter (o-ring type)
	 $          1,073.00 

	242312
	Rear reel hand crank
	 $             607.00 

	OBJIaC
	IntelACount digital hose counter
	 $          3,328.00 

	 
	 
	 

	 
	 
	 

	Water System

	 
	(65 or 80 GPM@2000 PSI standard)
	 

	215523
	80 GPM @ 2500 PSI water pump system
	 $          4,859.00 

	NPN
	120 GPM@2000PSI water pump system
	 $        23,500.00 

	NPN
	Plumbing to accommodate 1 1/4" system
	 $          2,500.00 

	 
	(ENGINE MUST PROVIDE APPROPRIOTE HP FOR PUMP UPGRADE - CONSULT FACTORY)
	 

	215555-1
	Unloader valve - Rear reel
	 $          5,725.00 

	215555-13-FR
	Unloader valve - Front reel
	 $          7,023.00 

	131401
	Cold weather recirculation for units with front reels
	 $          1,012.00 

	131402
	Cold weather recirculation for units with rear reels
	 $          1,012.00 

	NPN
	700,000 BTU Water heater (Utilizes existing cold weather recirculation system)
	 $        19,044.00 

	130561
	1/2" hose reel - 100' cap. (order hose separately)
	 $          1,152.00 

	130568
	1/2" hose reel - 200' cap. (order hose separately)
	 $          1,152.00 

	130572
	1/2" retractable hose reel -100' cap. (order hose separately)
	 $          2,409.00 

	131471
	Cold weather recirculation for 1/2" hose reel
	 $          1,248.00 

	239902
	Air purge system, runs off air brakes to purge pump (requires air brakes)
	 $             353.00 

	120045
	Water pump over pressure indicator light
	 $             607.00 

	130651
	Rear hand gun connection, front reel B5, B10
	 $             413.00 

	130652
	Rear hand gun connection, front reel B15
	 $             438.00 

	130655
	Side hand gun connection, rear reel B5, B10
	 $             516.00 

	130656
	Front hand gun connection, rear reel B5, B10
	 $             503.00 

	270740
	Lateral cleaning kit installed on unit with plumbing (Does not include 1/2" hose reel)
	 $          4,670.00 

	NPN
	Hydro-Excavation kit w/ 50' x 1/2" hose, no reel
	 $          4,621.00 

	249110
	Street sprayer, 0-80 GPM, B-series - water supplied by water pump(flow rate depends on speed of vehicle)
	 $          5,518.00 

	130613
	650 GPM street flusher w/aux diesel engine.  (This is a standalone system requiring only a water connection at the rear of the truck.)
	 $        33,687.00 

	239946-PATS
	Lateral cleaning kit with hydraulic power reel
	 $          6,964.00 

	NPN
	12V cold weather recirculation package
	 $          1,629.00 

	NPN
	Degreaser system
	 $          3,370.00 

	 
	 
	 

	 Sewer Hose

	 
	 1" 2500 PSI hose, 400' standard with unit. Additional price:
	 

	175241
	500' of 2500 PSI hose installed on unit
	 $             431.00 

	175252
	600' of 2500 PSI hose installed on unit
	 $             863.00 

	175261
	700' of 2500 PSI hose installed on unit
	 $          1,293.00 

	175271
	800' of 2500 PSI hose installed on unit
	 $          1,725.00 

	NPN
	Upgrade to 3000 PSI hose installed on unit (for standard 400' length)
	 $             387.00 

	NPN
	500' of 3000 PSI hose installed on unit
	 $             957.00 

	NPN
	600' of 3000 PSI hose installed on unit
	 $          1,914.00 

	NPN
	700' of 3000 PSI hose installed on unit
	 $          2,871.00 

	NPN
	800' of 3000 PSI hose installed on unit
	 $          3,829.00 

	220250
	3/4" - 1" swage tool
	 $          1,130.00 

	220254
	1" pusher
	 $             109.00 

	220252
	1" die set 
	 $             184.00 

	176100
	10' leader hose, 1"
	 $             179.00 

	176110
	20' leader hose, 1"
	 $             244.00 

	131629
	1/2" x 50' hose assembly with fittings
	 $             395.00 

	NPN
	1/2" x 100' hose assembly with fittings
	 $             787.00 

	130690
	1" swivel for connecting 2 hoses
	 $               12.00 

	SAHL400
	400' x 1" 2500psi Piranha Sewer hose
	 $          1,232.00 

	SAHL500
	500' x 1" 2500psi Piranha Sewer hose
	 $          1,490.00 

	SAHL600
	600' x 1" 2500psi Piranha Sewer hose
	 $          1,748.00 

	SAHL700
	700' x 1" 2500psi Piranha Sewer hose
	 $          2,241.00 

	SAHL400-1
	400' x 1" 3000psi Piranha Sewer hose
	 $          1,336.00 

	SAHL500-2
	500' x 1" 3000psi Piranha Sewer hose
	 $          1,642.00 

	SAHL600-3
	600' x 1" 3000psi Piranha Sewer hose
	 $          1,904.00 

	SAHL700-4
	700' x 1" 3000psi Piranha Sewer hose
	 $          2,330.00 

	 
	 
	 

	 Exhausters/Blowers

	340405
	ROOTS Model 824 (3600cfm)
	 $        12,303.00 

	340407
	ROOTS Model 827 (4200cfm)
	 $        14,844.00 

	NPN
	HIBON Model TS-56 (3600cfm)
	 $        12,303.00 

	NPN
	HIBON Model 8702 (5250CFM, 27" Hg.)Requires tower PTO in lieu of split shaft
	 $        45,652.00 

	NPN
	HIBON Model 840 (3850CFM, 27" Hg.)
	 $        29,554.00 

	 
	 
	 

	 
	 
	 

	 Electrical and Gauges

	121707
	Load limit alarm & switch(mounts on chassis rails)
	 $             731.00 

	120063
	Low water warning light
	 $             542.00 

	120094
	Low water warning shutdown on auxiliary engine
	 $             533.00 

	120096
	Low water warning horn
	 $             681.00 

	120051
	Water pump hour meter
	 $             489.00 

	120041
	Engine hour meter 
	 $             455.00 

	249043
	Wireless radio remote boom control
	 $          3,576.00 

	110452-1
	6 way boom control joy stick
	 $          2,215.00 

	372
	Exhauster hour meter
	 $             500.00 

	131781
	Hydraulic oil pressure gauge
	 $             244.00 

	120002
	Back up alarm, 12 volt electric
	 $             255.00 

	120705
	12 volt electrical outlet
	 $             233.00 

	120111-2
	(Cigarette) quick disconnect for 20' light
	 $             468.00 

	120141
	Automatic Shutdown to boom
	 $             785.00 

	120058
	PTO hour meter
	 $             543.00 

	120124
	hydraulic Temperature Gauge
	 $             577.00 

	120134
	Temp gauge for blower
	 $             874.00 

	120135
	Trans. temp. warning light
	 $             430.00 

	121704
	Tank up warning light
	 $             819.00 

	NPN
	Vacuum breaker
	 $          4,313.00 

	121704-4
	Boom up warning light & alarm
	 $             819.00 

	121704-4-IHC
	Boom up warning light, alarm and chassis lockout(IH chassis only and requires switch pack)
	 $             819.00 

	383774
	Omnix wireless remote(14 function)
	 $          5,184.00 

	NPN
	Belly pack wireless remote
	 $        10,400.00 

	NPN
	Weather resistant junction box
	 $          3,600.00 

	 
	 
	

	 Lights

	120111
	20' retractable cord & halogen spotlight
	$              396.00 

	120121
	50' retractable cord & halogen spotlight
	$              468.00 

	120378
	Dual retractable halogen work lights on boom 
	$              711.00 

	120401
	Flood light (Specify desired location) 
	$              453.00 

	402
	Rotating beacon on cab
	$              650.00 

	403
	Strobe light on unit 
	$              698.00 

	404
	Strobe light on chassis cab
	$              979.00 

	220180
	Limb guard for standard strobe
	$              240.00 

	120011
	Rotating beacon on unit 
	$              545.00 

	120373
	Arrowstik, installed on unit 
	$           1,108.00 

	120395
	Light board, installed on unit
	$           1,213.00 

	120395-5
	LED light board, installed on unit
	$           1,867.00 

	120101
	Control panel lights
	$              344.00 

	120109
	Dual strobe lights on boom
	$           1,193.00 

	241853
	Limb guard, standard beacon
	$              206.00 

	NPN
	Arrow board, split two-piece
	$           2,406.00 

	249066-1
	Safety strobes in turn signals
	$           1,170.00 

	LED000
	All DOT lights to be LED
	$              899.00 

	380282
	Boom clearance lights
	$              421.00 

	383168
	Strobe lights in front grill
	$           1,031.00 

	381525
	Strobe lights in rear bumper
	$           1,097.00 

	NPN
	Mirror strobes
	$           1,097.00 

	383098
	Strobe light bar on chassis cab
	$           1,408.00 

	380713
	Linear strobe lights, left & right side
	$           1,971.00 

	NPN
	Rear view color camera system
	$           4,500.00 

	NPN
	Additional mirrors for blind spot elimination
	$              350.00 

	NPN
	 LED work zone lighting, eight lights (8)
	$           4,800.00

	 
	 
	 

	 Intake and Extension Tubes: Any Style Connection

	383966
	8" x 8' aluminum extension tube
	 $             427.00 

	383964
	8" x 6' aluminum extension tube
	 $             403.00 

	383963
	8" x 5' aluminum extension tube
	 $             393.00 

	383961
	8" x 3' aluminum extension tube 
	 $             316.00 

	383971
	8" x 8' aluminum intake tube
	 $             453.00 

	383962
	8" x 4' aluminum extension tube
	 $             272.00 

	383970
	8" X 6' aluminum intake tube
	 $             425.00 

	238083
	8" intake tube handle
	 $             445.00 

	238213
	8" female to 6" male reducer
	 $             257.00 

	244262
	6" intake tube handle
	 $             322.00 

	238080
	Jet digger nozzle 
	 $             489.00 

	150157
	6" x 2' aluminum intake tube
	 $             215.00 

	150171
	6" x 4' aluminum intake tube
	 $             296.00 

	150461
	6" x 3' aluminum extension tube
	 $             269.00 

	150471
	6" x 4' aluminum extension tube
	 $             286.00 

	150481
	6" x 6' aluminum extension tube
	 $             306.00 

	150491
	6" x 10' aluminum extension tube
	 $             484.00 

	240879
	8" x 4" x 4" "Y" reducer
	 $             395.00 

	240805
	6" fluidizer nozzle
	 $             324.00 

	384071
	8" fluidizer nozzle
	 $             448.00 

	244263
	8" vacuum tube handle
	 $             359.00 

	381546
	Soil Surgeon
	 $          4,582.00 

	 
	 
	 

	
	
	

	 
	 
	 

	 Hose, Elbows and Fittings: Any Style Connection

	176630
	8" x 80" suction hose, without fittings 
	 $             476.00 

	176620
	8" x 19' suction hose, without fittings
	 $          2,292.00 

	171240
	8" female hose coupler, weld type
	 $               52.00 

	171290
	8" male hose coupler, weld type
	 $               20.00 

	171300
	8" male coupler ring
	 $               15.00 

	191080
	8" coupler O-ring
	 $               22.00 

	171130
	6" female hose coupler
	 $             147.00 

	171160
	6" male hose coupler
	 $             141.00 

	190760
	6" O-ring for coupler and cap
	 $               12.00 

	152930
	6" coupler steel ring
	 $               73.00 

	170320
	6" hose coupler cap
	 $             159.00 

	238213
	8" x 6" reducer
	 $             257.00 

	220720
	Hose bands for 6" and 8" hose (requires tool below)
	 $               11.00 

	238082
	8" x 70 degree elbow and quick coupler 
	 $             542.00 

	238227
	Tube connector tool
	 $               54.00 

	176831
	8" plastic hose x 20' w/fittings
	 $          1,486.00 

	220750
	Banding tool 
	 $             288.00 

	238083
	Manhole vacuum tube support, for 8" tube
	 $             423.00 

	 
	 
	 

	 
	 
	 

	 
	Hydro-Excavator Options
	 

	A304529
	Sludge Pump Offload System
	 $          8,202.00 

	UV1-9225
	6" NVE Slide Gate Valve
	 $          2,051.00 

	UV1-9225
	4" NVE Slide Gate Valve
	 $          1,113.00 

	NPN
	Paint Truck Cab
	 $          6,240.00 

	A384004
	Slide rear tandem axle
	 $          7,280.00 

	NPN
	20000# lift axle with wheels and tires
	 $        13,520.00 

	A384815 
	12" NVE Slide Gate Valve
	 $          1,560.00 

	A000403
	Strobe light on unit, each (customer to specify location)
	 $             512.00 

	A000404
	Strobe light on cab, each (customer to specify location)
	 $             545.00 

	A120395
	Light board on unit
	 $             817.00 

	A338421-2-X-10
	Hydraulic rear tube rack
	 $          3,224.00 

	A240404-1
	Front bumper tube rack
	 $             374.00 

	A384002
	Chassis transmission programming
	 $          1,991.00 

	NPN
	12v recirculation pump (hot water from the hotsy)
	 $          5,200.00 

	NPN
	Hot water debris tank flush-out system
	 $          2,496.00 

	NPN
	Delete hot water system
	 $          8,000.00 

	A382557-1
	Back-up Camera
	 $          1,134.00 

	A121707
	Load limit alarm
	 $          1,100.00 

	Option 240
	50' ground cable reel
	 $             451.00 

	A121704-5
	"Tank Up" warning light and alarm
	 $             609.00 

	A304127-7
	Work lights / Pair Top of tank at the rear
	 $             235.00 

	A304127-ENC
	Work lights / Pair Inside the enclosure
	 $             235.00 

	A304127-BOOM
	Work lights / Pair Boom End
	 $             327.00 

	A304127-9
	Work lights / Pair Outside enclosure
	 $             277.00 

	A180549-2
	Back of cab toolbox (72"W x 15"D x 36"H)
	 $          1,978.00 

	A381239
	PTO Hour meter (in-cab)
	 $             383.00 

	A1200079-1
	Debris tank full indicator light
	 $             584.00 

	A120002
	Back-up alarm
	 $               77.00 

	A249206-2
	12v Hydraulic power back-up
	 $          1,508.00 

	A220327
	5lb ABC Fire Extinguisher
	 $             127.00 

	A120111-4
	Retractable light w/20' cord
	 $             302.00 

	A380712-V
	Vulcan on board scales
	 $          5,177.00 

	A338561
	Vertical tube rack, behind cab - Two (2) tubes
	 $             763.00 

	A384105
	Wand storage rack
	 $               85.00 

	A384092-1
	Water tank signage, hardware only, customer supplied sign
	 $          1,641.00 

	NPN 
	High pressure water pump (5000psi @ 5-8 gpm)
	 $        18,000.00 

	 
	 
	 

	 Miscellaneous

	176150
	25' fill hose
	 $             205.00 

	176154
	50' fill hose
	 $             340.00 

	220260
	Traffic cone holder, behind cab (space permitting) 
	 $             500.00 

	220271
	Left side tow hook 
	 $             217.00 

	220281
	Right side tow hook
	 $             217.00 

	220330
	Hydrant wrench
	 $               85.00 

	222240
	Aquatech mud flap
	 $               97.00 

	237004
	Manual (unit)
	 $             165.00 

	243920
	Ladder rack on side of poly tank 
	 $             396.00 

	243921
	Pendent control basket on level wind
	 $             129.00 

	220327
	5 lb. ABC fire extinguisher
	 $             256.00 

	NPN
	Tower PTO in lieu of split shaft. Required for Hibon 8702 blower.
	 $          4,582.00 

	NPN
	700,000 BTU Water heater 
	 $        19,044.00 

	NPN
	Full enclosure around powerdeck 
	 $          8,845.00 

	NPN
	Remote lubrication manifold
	 $          3,700.00 

	NPN
	Jet camera system
	 $        22,464.00 

	NPN
	Rear mounted mirror
	 $             281.00 

	NPN
	Provision TV210 back up camera
	 $          2,191.00 

	NPN
	Automatic lubrication system
	 $        11,466.00 

	380903
	Petcock valve on y-strainer cap
	 $             146.00 

	 
	 
	 

	 
	 
	 

	Factory Service/Operator Training & Visits

	Service/Operator training at the factory comes at no cost if travel expenses are not being covered by Hi-Vac Corp

	Service/Operator Training
	Airfare, hotel, lunch & dinner, ground transportation while in Marietta for two nights, per person
	 $          2,250.00 

	Pre-Build Inspection
	Airfare, hotel, lunch & dinner, ground transportation while in Marietta for two nights, per person
	 $          2,250.00 

	Mid-Build Inspection
	Airfare, hotel, lunch & dinner, ground transportation while in Marietta for two nights, per person
	 $          2,250.00 

	Post-Build Inspection
	Airfare, hotel, lunch & dinner, ground transportation while in Marietta for two nights, per person
	 $          2,250.00 

	 
	 
	 

	 
	 
	 

	Specialty Nozzles, Root Cutters, Milling Cutters

	 
	Grand Slam-3D
	 

	1-0100-5030-C
	Grand Slam - 3D w/8 ceramic inserts SW14, 6" ~ 15" pipe, 3/4" hose
	 $          1,219.00 

	1-0101-6020-C
	Grand Slam - 3D w/8 ceramic inserts, SW14, 6" ~ 15" pipe, 1" hose
	 $          1,219.00 

	1-0101-8020-C
	Grand Slam - 3D w/8 ceramic inserts SW14, 6" ~ 15" pipe, 1" hose
	 $          1,219.00 

	1-0102-10020-C
	Grand Slam - 3D w/8 ceramic inserts SW14, 6" ~ 15" pipe, 1 1/4" hose
	 $          1,325.00 

	 
	 
	 

	 
	Super Slam-3D
	 

	1-0110-6020-C
	Super Slam-3D w/12 ceramic inserts SW14, 10" ~ 40" pipe, 1" hose
	 $          1,590.00 

	1-0110-8020-C
	Super Slam-3D w/12 ceramic inserts SW14, 10" ~ 40" pipe, 1" hose
	 $          1,590.00 

	1-0111-10020-C
	Super Slam-3D w/12 ceramic inserts SW14, 10" ~ 40" pipe, 1 1/4" hose
	 $          1,590.00 

	 
	Replacement ceramic inserts for SW14, each
	 $               49.00 

	 
	 
	 

	 
	Superior Penetrator-3D
	 

	1-0120-5030-C
	Superior Penetrator-3D w/9 ceramic inserts M8, 6" ~ 15" pipe, 3/4" hose
	 $             716.00 

	1-0121-6020-C
	Superior Penetrator-3D w/9 ceramic inserts M8, 6" ~ 15" pipe, 3/4" hose
	 $             716.00 

	1-0121-8020-C
	Superior Penetrator-3D w/9 ceramic inserts M8, 6" ~ 15" pipe, 3/4" hose
	 $             716.00 

	1-0122-10020-C
	Superior Penetrator-3D w/9 ceramic inserts M8, 6" ~ 15" pipe, 3/4" hose
	 $             836.00 

	 
	Replacement ceramic inserts for M8, each
	 $               28.00 

	 
	 
	 

	 
	Standard Nozzle
	 

	1-0130-0840
	Standard nozzle w/forward drilled jet, 2"~ 4" pipe, 3/4" hose
	 $               85.00 

	1-0131-1830
	Standard nozzle w/forward drilled jet, 4"~ 6" pipe, 1/2" hose
	 $             119.00 

	1-0132-5030-S
	Standard nozzle w/forward jet w/9 steel inserts M6, 6"~ 8" pipe, 3/4" hose
	 $             159.00 

	1-0133-6020-S
	Standard nozzle w/forward jet w/11 steel inserts M6, 8"~ 12" pipe, 3/4" hose
	 $             193.00 

	1-0133-8020-S
	Standard nozzle w/forward jet w/11 steel inserts M6, 8"~ 12" pipe, 1" hose
	 $             193.00 

	1-0134-8020-S
	Standard nozzle w/forward jet w/11 steel inserts M6, 8"~ 12" pipe, 1 1/4" hose
	 $             207.00 

	 
	Replacement M6 steel inserts, each
	 $               11.00 

	 
	 
	 

	 
	Rotor Nozzle
	 

	1-0140-0840 
	Rotor nozzle drilled, 2"~4" pipe, 1/4" hose
	 $             205.00 

	1-0141-1840-C
	Rotor nozzle w/6 M6 ceramic inserts, 4"~ 6" pipe, 1/2" hose
	 $             646.00 

	1-0142-5030-C
	Rotor nozzle w/9 M6 ceramic inserts, 6"~ 10" pipe, 3/4" hose
	 $             823.00 

	1-0143-6020-C
	Rotor nozzle w/9 M6 ceramic inserts, 8"~ 12" pipe, 1" hose
	 $             933.00 

	1-0143-8020-C
	Rotor nozzle w/9 M6 ceramic inserts, 8"~ 12" pipe, 1" hose
	 $             933.00 

	1-0144-10020-C
	Rotor nozzle w/9 M12 ceramic inserts, 12" and up pipe, 1 1/4" hose
	 $          1,128.00 

	 
	Replacement M6 & M12 ceramic inserts, each
	 $               20.00 

	 
	 
	 

	 
	Rotor nozzle spare parts
	 

	1-0144
	Cover
	 $               66.00 

	1-0145
	Hexagon screw set
	 $                 3.70 

	1-0146
	Safety ring/lock washer
	 $                 1.60 

	1-0147
	Rotor
	 $             237.00 

	1-0148
	Shaft & propulsion unit w/o nozzle inserts
	 $             330.00 

	 
	 
	 

	 
	Rocker Nozzle
	 

	1-0150-1840-C
	Rocker Nozzle w/6 M6 ceramic inserts, 4" pipe, 1/2" hose
	 $             763.00 

	1-0151-5030-C
	Rocker Nozzle w/9 M6 ceramic inserts, 6" pipe, 3/4" hose
	 $             954.00 

	1-0152-6020-C
	Rocker Nozzle w/9 M6 ceramic inserts, 8" ~ 12" pipe, 1" hose
	 $          1,193.00 

	1-0152-8020-C
	Rocker Nozzle w/9 M6 ceramic inserts, 8" ~ 12" pipe, 1" hose
	 $          1,193.00 

	1-0153-10020-C
	Rocker Nozzle w/9 M12 ceramic inserts, 12" & up pipe, 11/4" hose
	 $          1,717.00 

	 
	Replacement M6 & M12 ceramic inserts, each
	 $               20.00 

	 
	 
	 

	 
	Aluminum Flying-3D
	 

	1-0160-5030-S
	Aluminum Flying-3D w/8 M8 steel inserts, 6 ~ 12" pipe, 3/4" hose
	 $             350.00 

	1-0161-6020-S
	Aluminum Flying-3D w/8 M8 steel inserts, 6 ~ 12" pipe, 1" hose
	 $             456.00 

	1-0161-8020-S
	Aluminum Flying-3D w/8 M8 steel inserts, 6 ~ 12" pipe, 1" hose
	 $             456.00 

	 
	Replacement M8 steel inserts, each
	 $               16.00 

	 
	 
	 

	 
	Flying Nozzle-3D
	 

	1-0162-1840-C
	Flying Nozzle-3D w/6 M6 ceramic inserts, 4" ~ 8" pipe, 1/2" hose
	 $             355.00 

	1-0163-5030-C
	Flying Nozzle-3D w/9 M8 ceramic inserts, 6" ~ 10" pipe, 3/4" hose
	 $             631.00 

	1-0164-6020-C
	Flying Nozzle-3D w/9 M8 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $             822.00 

	1-0164-8020-C
	Flying Nozzle-3D W/9 M8 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $             822.00 

	 
	Replacement M8 inserts, each
	 $               28.00 

	 
	 
	 

	1-0165-5030-C
	Flying Nozzle-3D (large) w/8 SW14 ceramic inserts, 8" ~ 15" pipe, 3/4" hose
	 $             901.00 

	1-0166-6020-C
	Flying Nozzle-3D (large) w/8 SW14 ceramic inserts, 8" ~ 15" pipe, 1" hose
	 $             901.00 

	1-0166-8020-C
	Flying Nozzle-3D (large) w/8 SW14 ceramic inserts, 8" ~ 15" pipe, 1" hose
	 $             901.00 

	1-0167-10020-C
	Flying Nozzle-3D (large) w/8 SW14 ceramic inserts, 12" & up pipe, 11/4" hose
	 $             901.00 

	 
	Replacement SW14 inserts, each
	 $               49.00 

	 
	 
	 

	 
	Radial Cleaning Nozzle-3D
	 

	1-0170-6020-C
	Radial Cleaning Nozzle-3D w/6 M8 ceramic inserts & 6 SS fan jet inserts, 8" ~ 20" pipe, 1" hose
	 $          1,230.00 

	1-0170-8020-C
	Radial Cleaning Nozzle-3D w/6 M8 ceramic inserts & 6 SS fan jet inserts, 8" ~ 20" pipe, 1" hose
	 $          1,230.00 

	 
	Replacement stainless steel fan jet inserts
	 $               28.00 

	 
	Replacement M8 ceramic inserts, each
	 $                34.00 

	 
	 
	 

	 
	Cleaning Nozzle-3D
	 

	1-0180-1840-C
	Cleaning Nozzle-3D w/7 M6 ceramic inserts, 4" ~ 8" pipe, 1/2" hose
	 $             355.00 

	1-0181-5030-C
	Cleaning Nozzle-3D w/9 M8 ceramic inserts, 6" ~ 10" pipe, 3/4" hose
	 $             631.00 

	1-0182-6020-C
	Cleaning Nozzle-3D w/9 M8 ceramic inserts, 6" ~ 12" pipe, 3/4" hose
	 $             822.00 

	1-0182-8020-C
	Cleaning Nozzle-3D w/9 M8 ceramic inserts, 6" ~ 12" pipe, 3/4" hose
	 $             822.00 

	1-0183-6020-C
	Cleaning Nozzle-3D (Large) w/11 ceramic inserts, 6" ~ 15" pipe, 1" hose
	 $             875.00 

	1-0183-8020-C
	Cleaning Nozzle-3D (Large) w/11 ceramic inserts, 6" ~ 15" pipe, 1" hose
	 $             875.00 

	 
	Replacement M8 ceramic inserts, each
	 $               28.00 

	 
	 
	 

	 
	FJ Penetrator-3D
	 

	1-0190-0840-C
	FJ Penetrator-3D w/10 M4 ceramic inserts, 2" ~ 4" pipe, 1/4" hose
	 $             203.00 

	1-0191-1840-C
	FJ Penetrator-3D w/10 M6 ceramic inserts, 4" ~ 8" pipe, 1/2" hose
	 $             444.00 

	1-0192-5030-C
	FJ Penetrator-3D w/12 M8 ceramic inserts, 4" ~ 12" pipe, 3/4" hose
	 $             631.00 

	1-0192-6020-C
	FJ Penetrator-3D w/12 M8 ceramic inserts, 6" ~ 15" pipe, 1" hose
	 $             822.00 

	1-0192-8020-C
	FJ Penetrator-3D w/12 M8 ceramic inserts, 6" ~ 15" pipe, 1" hose
	 $             822.00 

	 
	Replacement M4 ceramic inserts, each
	 $               11.00 

	 
	Replacement M6 ceramic inserts, each
	 $               20.00 

	 
	Replacement M8 ceramic inserts, each
	 $               28.00 

	 
	 
	 

	 
	Chisel Nozzle w/forward jets
	 

	1-0200-0840
	Chisel Nozzle w/forward jets drilled (no inserts), 2" ~ 4" pipe, 1/4" hose
	 $             134.00 

	1-0201-1840-S
	Chisel nozzle w/4 M5 stainless steel inserts, 4" ~ 8" pipe, 1/2" hose 
	 $             197.00 

	1-0202-5030-S
	Chisel nozzle w/10 M6 stainless steel inserts, 4" ~ 8" pipe, 3/4" hose 
	 $             345.00 

	1-0203-6020-S
	Chisel nozzle w/12 M6 stainless steel inserts, 8" ~ 12" pipe, 1" hose 
	 $             384.00 

	1-0203-8020-S
	Chisel nozzle w/12 M6 stainless steel inserts, 8" ~ 15" pipe, 1" hose 
	 $             384.00 

	 
	Replacement M5 & M6 stainless steel inserts, each
	 $               11.00 

	 
	 
	 

	 
	Chisel Nozzle w/forward jets and drill point
	 

	1-0210-1840-S
	Chisel w/forward and drill point, w/3 M5 stainless steel inserts, 4" pipe, 1/2" hose 
	 $             207.00 

	1-0211-5030-S
	Chisel w/forward and drill point, w/9 M6 stainless steel inserts, 4" ~ 8" pipe, 3/4" hose 
	 $             358.00 

	1-0212-5020-S
	Chisel w/forward and drill point, w/11 M6 stainless steel inserts, 8" ~ 12" pipe, 1" hose 
	 $             396.00 

	1-0212-8020-S
	Chisel w/forward and drill point, w/11 M6 stainless steel inserts, 8" ~ 15" pipe, 1" hose 
	 $             396.00 

	 
	Replacement M5 & M6 stainless steel inserts, each
	 $               11.00 

	 
	 
	 

	 
	Ultimate Chisel Nozzle w/forward jets and drill point
	 

	1-0220-6020-S
	Ultimate Chisel Nozzle w/4 M8 SS forward jets and drill point and 6 SW14 SS inserts, 6" ~ 15" pipe, 1" hose
	 $             789.00 

	1-0220-8020-S
	Ultimate Chisel Nozzle w/4 M8 SS forward jets and drill point and 6 SW14 SS inserts, 6" ~ 24" pipe, 1" hose
	 $             789.00 

	1-0221-10020-S
	Ultimate Chisel Nozzle w/4 M8 SS forward jets and drill point and 6 SW14 SS inserts, 12" & up pipe, 11/4" hose
	 $             829.00 

	 
	Replacement M8 stainless steel inserts, each
	 $               16.00 

	 
	Replacement SW14 stainless steel inserts, each
	 $               49.00 

	1-0226
	Replacement drill point for Chisel w/forward jets, each
	 $               27.00 

	1-0225
	Replacement drill point for Ultimate Chisel w/forward jets, each
	 $               37.00 

	 
	 
	 

	 
	Digger Nozzle
	 

	1-2030-1784-S
	Digger nozzle w/7 M6 stainless steel inserts, 4" ~ 8" pipe, 1/2" hose 
	 $             239.00 

	 
	 
	 

	 
	Dredger Nozzle
	 

	1-0300-6020-C
	Dredger Nozzle 6 jet w/6 SW14 ceramic inserts, 8" ~ 15" pipe, 1" hose
	 $          2,115.00 

	1-0300-8020-C
	Dredger Nozzle 6 jet w/6 SW14 ceramic inserts, 8" ~ 15" pipe, 1" hose
	 $          2,115.00 

	1-0301-6020-C
	Dredger Nozzle 8 jet w/8 SW14 ceramic inserts, 12" ~ 24" pipe, 1" hose
	 $          2,643.00 

	1-0301-8020-C
	Dredger Nozzle 8 jet w/8 SW14 ceramic inserts, 12" ~ 24" pipe, 1" hose
	 $          2,643.00 

	1-0302-6020-C
	Dredger Nozzle 10 jet w/10 SW14 ceramic inserts, 18" ~ 36" pipe, 1" hose
	 $          3,190.00 

	1-0302-8020-C
	Dredger Nozzle 10 jet w/10 SW14 ceramic inserts, 18" ~ 36" pipe, 1" hose
	 $          3,190.00 

	1-0303-8020-C
	Dredger Nozzle 14 jet w/14 SW14 ceramic inserts, 20" ~ 98" pipe, 1" ~ 11/4" hose
	 $          3,590.00 

	1-0303-10020-C
	Dredger Nozzle 14 jet w/14 SW14 ceramic inserts, 20" ~ 98" pipe, 1" ~ 11/4" hose
	 $          3,590.00 

	1-0305
	Y connector for tandem dredger nozzle including hose coupling and 11/2" swivel joint
	 $             983.00 

	 
	Replacement SW14 ceramic inserts, each
	 $               49.00 

	 
	 
	 

	 
	Venturi Nozzle
	 

	1-0310-6012
	Venturi Nozzle I, 5" single barrel, 32" ~ 48" pipe, 1" hose 
	 $          4,524.00 

	1-0311-8012
	Venturi Nozzle II, 6.2" single barrel, 32" ~ 56" pipe, 1" hose 
	 $          5,649.00 

	1-0312-8012
	Venturi Nozzle III, 5" double barrel, 48' ~ 72" pipe, 11/4" hose
	 $          6,786.00 

	1-0321-10012
	Venturi Nozzle III, 5" double barrel, 48' ~ 72" pipe, 11/4" hose
	 $          6,786.00 

	 
	 
	 

	 
	Pipe Wolf-3D
	 

	1-0320-1784-C
	Pipe Wolf w/8 M6 ceramic inserts, 4" ~ 6" pipe, 1/2" hose
	 $             920.00 

	1-0321-5030-C
	Pipe Wolf w/9 M6 ceramic inserts, 6" ~ 15" pipe, 3/4" hose
	 $          1,545.00 

	1-0321-6020-C
	Pipe Wolf w/9 M6 ceramic inserts, 6" ~ 15" pipe, 1" hose
	 $          1,545.00 

	1-0321-8020-C
	Pipe Wolf w/9 M6 ceramic inserts, 6" ~ 15" pipe, 1" hose
	 $          1,545.00 

	1-0322-8020-C
	Pipe Wolf w/6 M12 & 3 M6 ceramic inserts, 10" ~ 24" pipe,  11/4" hose
	 $          2,243.00 

	1-0322-10020-C
	Pipe Wolf w/6 M12 & 3 M6 ceramic inserts, 10" ~ 24" pipe,  11/4" hose
	 $          2,243.00 

	 
	Replacement M5 ceramic inserts, each
	 $               20.00 

	 
	Replacement M12 ceramic inserts, each
	 $               43.00 

	1-03022 
	Replacement head for Pipe Wolf 1/2" & 1"
	 $             366.00 

	1-03023
	Replacement turbine for Pipe Wolf 1/2" & 1"
	 $             631.00 

	 
	 
	 

	 
	Flounder Nozzle
	 

	1-0330-S 
	Flounder Nozzle w/4 M6 stainless steel inserts, 4" ~ 8" pipe, 1/2" hose
	 $             519.00 

	1-0331-S
	Flounder Nozzle w/6 M6 stainless steel inserts, 6" ~ 12" pipe, 3/4" hose
	 $             756.00 

	 
	Replacement M6 stainless steel inserts, each
	 $               11.00 

	 
	 
	 

	 
	Alphajet
	 

	1-0350
	Alphajet, 1"
	 $          2,795.00 

	 
	 
	 

	 
	Antiblaster-3D
	 

	1-0361-5030-C
	Antiblaster-3D w/9 M8 ceramic inserts, 6" ~ 12" pipe, 3/4" hose
	 $             866.00 

	1-0362-6020-C
	Antiblaster-3D w/9 M8 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $             866.00 

	1-0362-8020-C
	Antiblaster-3D w/9 M8 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $             866.00 

	 
	Replacement M8 ceramic inserts, each
	 $               28.00 

	 
	 
	 

	 
	Nozzle Cases
	 

	 
	1/2" Nozzle Cases
	 

	1-0330-S 
	Flounder
	 

	1-0500-C
	Primus-3D 
	 

	1-0161-C
	Cleaning-3D
	 

	1-0161-C
	Flying-3D
	 

	1-0201S
	Chisel w/forward jet
	 

	3-09603
	Case
	 

	 
	Total for this 5 nozzle case
	 $          2,794.00 

	 
	 
	 

	1-0400-C
	Turbo 0
	 

	1-0320-C
	Pipe Wolf
	 

	1-0180-C
	Cleaning-3D
	 

	1-0162-C
	Flying-3D
	 

	1-0500-C
	Primus-3D
	 

	1-0201-S
	Chizzle w/forward jet
	 

	3-09603
	Case
	 

	 
	Total for this 6 nozzle case
	 $          4,342.00 

	 
	 
	 

	 
	3/4" Nozzle Case
	 

	1-0501-C
	Primus-3D
	 

	1-0321-C
	Pipe Wolf
	 

	1-0181-C
	Cleaning-3D
	 

	1-0162-C
	Flying-3D
	 

	1-0202-S 
	Chisel w/forward jet
	 

	3-09603
	Case
	 

	 
	Total for this 5 nozzle case
	 $          4,918.00 

	 
	 
	 

	 
	1" Nozzle Cases
	 

	1-0182-C
	Cleaning 
	 

	1-0163-C
	Rotor 
	 

	1-0203-S
	Chisel w/forward jet
	 

	1-0220-S 
	Ultimate Chisel
	 

	1-0362-C
	Anti Blaster-3D
	 

	3-09603 
	Case
	 

	 
	Total for this 5 nozzle case
	 $          4,852.00 

	 
	 
	 

	1-0502-C
	Primus-3D
	 

	1-0321-C
	Pipe Wolf
	 

	1-0182-C
	Cleaning-3D
	 

	1-0163-C
	Flying-3D
	 

	1-0203-S
	Chisel w/forward jet
	 

	3-09603
	Case
	 

	 
	Total for this 5 nozzle case
	 $          5,499.00 

	 
	 
	 

	1-0502-C
	Primus-3D
	 

	1-0321-C
	Pipe Wolf
	 

	1-0101-C
	Grand Slam-3D
	 

	1-0121-C
	Superior Penetrator-3D
	 

	1-0220-S
	Ultimate Chisel
	 

	3-09603
	Case
	 

	 
	Total for this 5 nozzle case
	 $          6,195.00 

	 
	 
	 

	 
	Chain Cutters
	 

	 
	Turbo 0
	 

	1-0400-1840-C
	Turbo 0 with 9 M6 inserts, 4' pipe, 1/2" hose
	 $          1,147.00 

	1-0424
	4' replacement chain
	 $               38.00 

	1-0456
	Chain retainer
	 $               56.00 

	1-0457
	Chain retainer w/chain, 4" pipe
	 $               91.00 

	1-0458
	Chain retainer w/chain & end bits, 4" pipe
	 $             112.00 

	 
	Replacement M6 ceramic inserts, each
	 $               20.00 

	 
	 
	 

	 
	Turbo II w/rigid guide skid
	 

	1-0402-5030-C
	Turbo II w/rigid guide skid, 3/M6 and 3/M12 ceramic inserts, 6" ~ 12" pipe, 3/4" hose
	 $          2,830.00 

	1-0402-6020-C
	Turbo II w/rigid guide skid, 3/M6 and 3/M12 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $          2,830.00 

	1-0402-8020-C
	Turbo II w/rigid guide skid, 3/M6 and 3/M12 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $          2,830.00 

	1-0407
	Guide Skid, 6"
	 $             289.00 

	1-0408
	Guide Skid, 8"
	 $             375.00 

	1-0409
	Guide Skid, 10"
	 $             520.00 

	1-0410
	Guide Skid, 12"
	 $             626.00 

	1-0411
	Chain Retainer w/chain & end bits 6"
	 $             103.00 

	1-0412
	Chain Retainer w/chain & end bits 8"
	 $             117.00 

	1-0413
	Chain Retainer w/chain & end bits 10"
	 $             131.00 

	1-0414
	Chain Retainer w/chain & end bits 12"
	 $             154.00 

	1-0425
	Replacement chain, 6'
	 $               49.00 

	 
	Replacement M6 ceramic inserts, each
	 $               20.00 

	 
	 
	 

	 
	Turbo II w/flexible guide skid
	 

	1-0403-5030-C
	Turbo II w/flexible skid and 3/M6 & 3/M12 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $          2,830.00 

	1-0403-6020-C
	Turbo II w/flexible skid and 3/M6 & 3/M12 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $          2,830.00 

	1-0403-8020-C
	Turbo II w/flexible skid and 3/M6 & 3/M12 ceramic inserts, 6" ~ 12" pipe, 1" hose
	 $          2,830.00 

	1-0425
	Replacement chain, 6'
	 $               49.00 

	1-0412
	Chain retainer w/chain & end bits, 8"
	 $             117.00 

	1-0413
	Chain retainer w/chain & end bits, 10"
	 $             131.00 

	1-0414
	Chain retainer w/chain & end bits, 12"
	 $             154.00 

	1-0439
	Bits for chain, each
	 $                 3.50 

	1-0441
	Bolts for chain, each
	 $                 3.50 

	1-0462
	Diamond tap cutter, 6"
	 $          1,038.00 

	1-0463
	Diamond tap cutter, 8"
	 $          1,236.00 

	1-0462-PVC
	PVC tap cutter, 6"
	 $             740.00 

	1-0463-PVC
	PVC tap cutter, 8"
	 $             940.00 

	1-0464-PVC
	PVC tap cutter, 10"
	 $          1,123.00 

	1-0490
	Extension kit (3 pieces) up to 15" sewer line 
	 $             983.00 

	2-04029
	Carbide bit with hole for chain, each
	 $               43.00 

	 
	Replacement M6 ceramic inserts, each
	 $               20.00 

	 
	Replacement M12 ceramic inserts, each
	 $               43.00 

	 
	 
	 

	 
	Turbo III w/flexible skid
	 

	1-0404-6020-C
	Turbo III w/flexible skid and 6/M12 ceramic inserts, 10" ~ 20" pipe, 1" hose
	 $          6,792.00 

	1-0404-8020-C
	Turbo III w/flexible skid and 6/M12 ceramic inserts, 10" ~ 20" pipe, 1" hose
	 $          6,792.00 

	1-0404-10020-C
	Turbo III w/flexible skid and 6/M12 ceramic inserts, 10" ~ 20" pipe, 1" hose
	 $          6,792.00 

	1-0415
	Chain retainer w/chain and end bits, 10"
	 $             244.00 

	1-0416
	Chain retainer w/chain and end bits, 12"
	 $             261.00 

	1-0417
	Chain retainer w/chain and end bits, 15"
	 $             276.00 

	1-0418
	Chain retainer w/chain and end bits, 18"
	 $             295.00 

	1-0419
	Chain retainer w/chain and end bits, 20"
	 $             322.00 

	1-0422
	Chain retainer wheel for larger pipe, SS, 11.5"
	 $          1,565.00 

	1-0426
	Replacement chain, 6'
	 $             186.00 

	1-0440
	Bits for chain, each
	 $                 5.00 

	1-0443
	Extension kit (3 pieces) for up to 29" sewer pipe
	 $          1,798.00 

	1-0464
	Diamond tap cutter, 10"
	 $          1,469.00 

	2-04071
	Carbide bit for large chain, each
	 $             120.00 

	2-04070
	Bolt for chain, each
	 $               25.00 

	 
	Replacement M12 ceramic inserts, each
	 $               43.00 

	 
	 
	 

	 
	Turbo IV w/flexible skid
	 

	1-0405-8020-C
	Turbo IV w/flexible skid and 6/M12 & 3/SW14 ceramic inserts, 15" ~ 36" pipe, 1" hose
	 $        15,895.00 

	1-0405-10020-C
	Turbo IV w/flexible skid and 6/M12 & 3/SW14 ceramic inserts, 15" ~ 36" pipe, 11/4" hose
	 $        15,895.00 

	1-0426
	Replacement chain, 6'
	 $             186.00 

	1-0446
	HP-swivel joint w/pulling eye
	 $             370.00 

	1-0422
	Chain retainer for larger pipes, SSw/o chain, 11.5"
	 $          1,565.00 

	1-0477
	Chain retainer for larger pipes, SSw/o chain, 19.45"
	 $          1,895.00 

	1-0465
	Diamond tap cutter, 12"
	 $          1,796.00 

	1-0466
	Diamond tap cutter, 15"
	 $          2,309.00 

	 
	Replacement M12 ceramic inserts, each
	 $               43.00 

	 
	Replacement SW14 ceramic inserts, each
	 $               49.00 

	 
	 
	 

	 
	Turbo S400 w/flexible skid
	 

	1-0480-6020-C
	Turbo S400 w/flexible skid w/6 M12 ceramic inserts, 8' ~ 16" pipe, 1" hose
	 $          5,247.00 

	1-0480-8020-C
	Turbo S400 w/flexible skid w/6 M12 ceramic inserts, 8' ~ 16" pipe, 1" hose
	 $          5,247.00 

	1-0425-S400
	Replacement chain
	 $               49.00 

	1-0481
	Chain retainer w/chain and bits, 8"
	 $             183.00 

	1-0482
	Chain retainer w/chain and bits, 10"
	 $             208.00 

	1-0483
	Chain retainer w/chain and bits, 12"
	 $             236.00 

	1-0484
	Chain retainer w/chain and bits, 15"
	 $             269.00 

	1-0499 
	Dual chain retainer
	 $          2,000.00 

	1-0485
	Pulling eye
	 $             763.00 

	1-0486
	Extension kit for up to 24" sewer line
	 $          1,610.00 

	1-0487
	Diamond tap cutter, 8"
	 $          1,463.00 

	1-0488
	Diamond tap cutter, 10"
	 $          1,688.00 

	1-0489
	Diamond tap cutter, 12"
	 $          1,913.00 

	2-04072
	Carbide bit with hole for chain, each
	 $               75.00 

	1-0491
	Quick change chain retainer w/o chain
	 $               97.00 

	1-0492
	Chain w/bits for QC retainer, 1 set of 3 pieces, 8"
	 $               50.00 

	1-0493
	Chain w/bits for QC retainer, 1 set of 3 pieces, 10"
	 $               60.00 

	1-0494
	Chain w/bits for QC retainer, 1 set of 3 pieces, 12"
	 $               86.00 

	1-0495
	Chain w/bits for QC retainer, 1 set of 3 pieces, 15"
	 $               96.00 

	1-0496
	Chain w/bits for QC retainer, 1 set of 3 pieces, 18"
	 $             118.00 

	1-0497
	Chain w/bits for QC retainer, 1 set of 3 pieces, 21"
	 $             166.00 

	1-0498
	Chain w/bits for QC retainer, 1 set of 3 pieces, 24"
	 $             206.00 

	 
	Replacement M12 ceramic inserts, each
	 $               43.00 

	 
	 
	 

	 
	Additional accessories for the Turbo chain cutters
	 

	1-0427
	Bag of chain, 12 pieces T-II, 6"
	 $               88.00 

	1-0428
	Bag of chain, 12 pieces T-II, 8"
	 $             100.00 

	1-0429
	Bag of chain, 12 pieces T-II, 10"
	 $             105.00 

	1-0430
	Bag of chain, 12 pieces T-II, 12"
	 $             105.00 

	1-0431
	Bag or chain w/bits 12 pieces T-II, 6"
	 $             309.00 

	1-0432
	Bag or chain w/bits 12 pieces T-II, 8"
	 $             315.00 

	1-0433
	Bag or chain w/bits 12 pieces T-II, 10"
	 $             326.00 

	1-0434
	Bag or chain w/bits 12 pieces T-II, 12"
	 $             326.00 

	1-0435
	Bag or chain w/bolts 12 pieces T-II, 6"
	 $            274.00 

	1-0436
	Bag or chain w/bolts 12 pieces T-II, 8"
	 $             280.00 

	1-0437
	Bag or chain w/bolts 12 pieces T-II, 10"
	 $             291.00 

	1-0438
	Bag or chain w/bolts 12 pieces T-II, 12"
	 $             291.00 

	1-0471
	Jig for Turbo 0 & I
	 $             238.00 

	1-0472
	Jig for Turbo II
	 $             185.00 

	1-0473
	3 piece chain For T-III w/bits, w/o chain retainer, 10"
	 $               53.00 

	1-0474
	4 piece chain For T-III w/bits, w/o chain retainer, 12"
	 $               79.00 

	1-0475
	5 piece chain For T-III w/bits, w/o chain retainer, 15"
	 $             106.00 

	1-0476
	6 piece chain For T-III w/bits, w/o chain retainer, 18"
	 $             106.00 

	1-0478-T2
	Manganese bit w/o chain T-II, each
	 $               62.00 

	1-0478-S400
	Manganese bit w/o chain T-S400, each
	 $               62.00 

	1-0478-T3
	Manganese bit w/o chain T-III, each
	 $               62.00 

	1-0179-T2
	Bit w/two bolts, T-II, three (3) piece set, each
	 $             186.00 

	1-0479-S400
	Bit w/two bolts, T-S400, three (3) piece set, each
	 $             238.00 

	1-0479-T3
	Bit w/two bolts, T-III, three (3) piece set, each
	 $             310.00 

	 
	 
	 

	 
	Primus Nozzle-3D
	 

	1-0500-1840-C
	Primus Nozzle-3D w/5 M6 ceramic inserts, 4" ~ 8" pipe, 1/2" hose
	 $          1,014.00 

	1-0501-5030-C
	Primus Nozzle-3D w/10 M6 ceramic inserts, 6" ~ 12" pipe, 3/4" hose
	 $          1,411.00 

	1-0502-6020-C
	Primus Nozzle-3D w/12 M6 ceramic inserts, 6" ~ 15" pipe, 1" hose
	 $          1,729.00 

	1-0502-8020-C
	Primus Nozzle-3D w/12 M6 ceramic inserts, 6" ~ 15" pipe, 1" hose
	 $          1,729.00 

	1-0503-8020-C
	Primus Nozzle-3D w/8 M6 and 4/SW14 ceramic inserts, 12" and up pipe, 11/4" hose
	 $          2,115.00 

	1-0503-10020-C
	Primus Nozzle-3D w/8 M6 and 4/SW14 ceramic inserts, 12" and up pipe, 11/4" hose
	 $          2,115.00 

	 
	Replacement M6 ceramic inserts, each
	 $               20.00 

	 
	Replacement SW14 ceramic inserts, each
	 $               49.00 

	 
	 
	 

	 
	Primus accessories
	 

	1-0503
	Guide skid, 6' ~ 8"
	 $             368.00 

	1-0504
	Guide skid, 8' ~ 12"
	 $             398.00 

	1-0505
	Guide skid, 12' ~ 15"
	 $             535.00 

	1-0506
	Ceramic nozzle inserts for Primus 1", 2" long G 1/4"
	 $               40.00 

	1-0507
	Ceramic nozzle inserts for Primus 1", 4" long G 1/4"
	 $               46.00 

	1-0508
	SS cleaning head w/extended ceramic inserts
	 $             171.00 

	1-0509
	Rubber head
	 $               36.00 

	 
	 
	 

	 
	Twister Nozzle
	 

	2-0500-5030-C
	Twister Nozzle w/10 M10 ceramic inserts, 6" ~ 12" pipe, 3/4" hose
	 $          3,148.00 

	2-0501-6020-C
	Twister Nozzle w/10 M11 ceramic inserts, 6" ~ 18" pipe, 1" hose
	 $          3,148.00 

	2-0502-8020-C
	Twister Nozzle w/10 M12 ceramic inserts, 6" ~ 24" pipe, 1" hose
	 $          3,148.00 

	 
	Replacement M10, M11 and M12 ceramic inserts, each
	 $               43.00 

	 
	 
	 

	 
	Black Blaster
	 

	2-0100-6020-S
	Black Blaster cleaning nozzle/9 M10 stainless steel inserts, 6" ~ 15" pipe, 3/4" & 1" hose
	 $             596.00 

	2-0100-8020-S
	Black Blaster cleaning nozzle/9 M10 stainless steel inserts, 8" ~ 20" pipe, 1" hose
	 $             596.00 

	2-01001
	Guide skid for 6" & 8"
	 $             297.00 

	2-01002
	Guide skid for 10" & 12"
	 $             328.00

	2-01003
	Guide skid for 12" & 20"
	 $             525.00

	 
	**Note** (1) guide skid for 6" & 8" included
	 

	 
	Replacement M10 stainless steel inserts, each
	 $               20.00 

	 
	 
	 

	 
	Black Star
	 

	2-0200-6020-S
	Black Star cleaning nozzle w/10 M10 stainless steel inserts, 6" ~ 15" pipe, 3/4" & 1" hose
	 $             613.00 

	2-0200-8020-S
	Black Star cleaning nozzle w/10 M10 stainless steel inserts, 8" ~ 20" pipe, 1" hose
	 $             613.00 

	 
	 
	 

	 
	Milling Cutters
	 

	2-03000
	Milling cutter type II, 3.8" bore, 4" pipe
	 $          3,751.00 

	2-04000
	Milling head w/o bits and center bit
	 $             417.00 

	2-04014
	Guide skid w/o locking ring
	 $             290.00 

	 
	 
	 

	2-03001
	Milling cutter type IV/1, 5.4" bore, 6" pipe
	 $          4,692.00 

	2-04001
	Milling head w/o bits and center bit
	 $             731.00 

	2-04009 
	Turbine w/ adapter sleeve
	 $             668.00 

	2-04015
	Guide skid w/o locking ring
	 $             341.00 

	 
	 
	 

	2-03002
	Milling cutter type V/1, 6.2" bore, 8" pipe
	 $          5,264.00 

	2-04002
	Milling head w/o bits and center bit
	 $          1,084.00 

	2-04009
	Turbine w/ adapter sleeve
	 $             668.00 

	2-04016
	Guide skid w/o locking ring
	 $             500.00 

	 
	 
	 

	2-03003 
	Milling cutter type V, 7.3" bore, 8" pipe
	 $          7,003.00 

	2-04047
	Turbine ring w/bracket
	 $             618.00 

	2-04002
	Milling head w/o bits & center ring
	 $          1,084.00 

	2-04010
	Tubing w/adapter sleeve
	 $             684.00 

	2-04017
	Guide skid w/o wheels & locking ring
	 $             530.00 

	 
	 
	 

	2-03004
	Milling cutter type VI, 8.9" bore, 10" pipe
	 $          7,330.00 

	2-04048
	Turbine ring w/bracket
	 $             674.00 

	2-01003
	Milling head w/o bits & center ring
	 $          1,167.00 

	2-04011
	Tubing w/adapter sleeve
	 $             750.00 

	2-04018
	Guide skid w/o wheels & locking ring
	 $             588.00 

	 
	 
	 

	2-03005
	Milling cutter type VII, 22.25" bore, 12" pipe
	 $          9,415.00 

	2-04048
	Turbine ring w/bracket
	 $             683.00 

	2-04004
	Milling head w/o bits & center ring
	 $          3,398.00 

	2-04011
	Tubing w/adapter sleeve
	 $             674.00 

	2-04019
	Guide skid w/o wheels & locking ring
	 $          2,415.00 

	 
	 
	 

	2-03006
	Milling cutter type VIII, 14.4" bore, 15" & 16" pipe
	 $        12,743.00 

	2-04048
	Turbine ring w/bracket
	 $             683.00 

	2-04005
	Milling head w/o bits & center ring
	 $          4,876.00 

	2-04012
	Tubing w/adapter sleeve
	 $          1,118.00 

	2-04020
	Guide skid w/o wheels & locking ring
	 $          2,667.00 

	 
	 
	 

	2-03007
	Milling cutter type X, 17" bore, 18" pipe
	 $        17,919.00 

	2-04060
	Turbine ring w/bracket
	 $             731.00 

	2-04013
	Tubing w/adapter sleeve
	 $          1,185.00 

	2-04061
	Guide skid w/ wheels, w/o locking ring
	 $          3,633.00 

	 
	 
	 

	2-03008
	Milling cutter type XII, 19" bore, 20" pipe
	 $        19,197.00 

	2-04060
	Turbine ring w/bracket
	 $             731.00 

	2-04007
	Milling head w/o bits & center ring
	 $          8,533.00 

	2-04013
	Tubing w/adapter sleeve
	 $          1,185.00 

	2-04068
	Guide skid w/ wheels, w/o locking ring
	 $          4,023.00 

	 
	 
	 

	 CLEANING ACCESSORIES

	.
	Flexible hose guide with 20' rope
	 $             146.00 

	239183
	Lower manhole roller assembly
	 $             802.00 

	221520
	3/4" x 60" straight pipe for shoe
	 $               55.00 

	221530
	3/4" x 60" curved pipe for shoe
	 $               82.00 

	234585
	Grapple tongs
	 $             266.00 

	220081
	Basin spoon, 10'
	 $             440.00 

	220082
	Basin scraper
	 $             441.00 

	220010
	Small manhole trap - 6" - 8"
	 $             616.00 

	220020
	Medium manhole trap - 10" - 12"
	 $             966.00 

	220030
	Large manhole trap - 15" - 18"
	 $          1,031.00 

	220120
	Top manhole roller
	 $             704.00 

	220100
	Over the ground rollers
	 $             990.00 

	220090
	Easement kit roller
	 $             220.00 

	130540
	Lateral kit with 100' hose 
	 $          3,568.00 

	221800
	Manhole cover removal hook
	 $               61.00 

	220040
	 6' manhole clam cleaner
	 $             370.00 

	220050
	8' manhole clam cleaner
	 $             536.00 

	220060
	10' manhole clam cleaner
	 $             676.00 

	220070
	12' manhole clam cleaner
	 $             725.00 

	220080
	15' manhole clam cleaner
	 $             984.00 

	220110
	Slant jack roller for manhole
	 $          1,210.00 

	220083
	Round point shovel, 6'
	 $             127.00 

	238061
	Basin lance agitator
	 $             799.00 

	235259
	90° shoe guide
	 $             675.00 

	 
	 
	 


WSDOT Options:

Tandem Axle

	1. Pusher Axle with a 13,500# rating will be located in front of the drive axles. Hendrickson Model Para lift Ultra Light or equal. The tires shall be 255/70R22.5 mounted on 8.25x22.5” hub piloted wheels. Fender to be included.
	
	
	
	Watson Chalin $10,450.00

	2. Tag Axle with a 13,500# rating and will be located behind the drive axles. Hendrickson Model Para lift Ultra Light or equal. The tires shall be 255/70R22.5 mounted on 8.25x22.5” hub piloted wheels. Fender to be included.
	
	
	
	Watson Chalin $10,841.00

	3. All optional axles shall be cab controlled for deployment only.  All adjustment controls will be located outside, directly behind the cab on the street side.
	
	
	
	

	4. All optional axles shall rise when the transmission is in reverse.
	
	
	
	

	5. When WSDOT chooses the additional rear mounted tag axle a chute shall be provided to ensure debris does not fall onto the axle or the unit.
	
	
	
	$1,000.00

	6. Bidders shall provide a deduct amount for the WSDOT radio installation. 
	
	
	
	 <$500.00> Deduct

	7. Fuller 18 Speed manual transmission, with an Easy Pedal Plus clutch and a two-piece clutch brake.
	
	
	
	<$9,250.00> Deduct

	8. An 80 gallon fuel tank for the chassis 
	
	
	
	<$80.00> Deduct

	9. Provide pricing for alternate Rodder hose reel locations.
	
	N/A
	
	

	10. Wireless controls for Boom and Rodder systems (Radio Controlled).
	
	
	
	$9,999.00 – Belly Pack
$4,900.00 - OMNIX

	11. Add 500 gallons of water carrying capability.
	
	
	
	$9,6100.00 

	12. 300 feet of 1-inch high-pressure hose in lieu of the 1 ¼ inch hose. 
	
	
	
	No Charge

	13. Shall provide a deduct amount for the entire high pressure Rodding Water System.
	
	N/A
	
	

	14. Shall have a hose reel shield to protect the operator in case of hose failure.
	
	
	
	$1,200.00

	15. Overweight debris-warning system with a light and audible alarm.
	
	
	
	$13,000.00 Vulcan Scales

	16. The ability of the boom to reach 24 feet from the centerline of the chassis. 
	
	
	
	No Charge

	17. Shall provide a deduct amount for each set of diagnostic software.
	
	
	
	<1,450.00> Deduct – Allison
<$2,200.00> Deduct - Engine

	18. Rear mounted hose reel in lieu of a front mounted reel. 
	
	N/A
	
	

	19. Provide deduct pricing for each hour of required equipment training. 
	
	
	
	Training is provided at no cost to the customer

	20. Option for suck on the go capability to include a fully functional boom and water flow to the hand gun.  The unit shall have the specified vacuum capability during this style of operation.
	
	
	
	$75,000.00


WSDOT Options

5 Axle

	1. An 80 gallon fuel tank for the chassis. 
	
	
	
	<$65.00> Deduct

	2. Vendor shall provide pricing for alternate hose reel locations.
	
	N/A
	
	

	3. Wireless controls for Boom and Rodder systems (Radio Controlled).
	
	
	
	$10,000.00 – Belly Pack
$4,900.00 - OMNIX

	4. Add 500 gallons of water carrying capability.
	
	
	
	$9,600.00

	5. 300 feet of 1-inch high-pressure hose in lieu of the 1 ¼ inch hose. 
	
	
	
	No Charge

	6. Shall provide a deduct amount for the entire high pressure Rodding Water System.
	
	N/A
	
	

	7. Shall have a hose reel shield to protect the operator in case of hose failure.
	
	
	
	$1,200.00

	8. Overweight debris-warning system with a light and audible alarm.
	
	
	
	$13,000.00 Vulcan Scales

	9. Bidders shall provide a deduct amount for the WSDOT radio installation  
	
	
	
	<$500.00> Deduct

	10. Provide pricing for alternate rodder hose reel locations.
	
	N/A
	
	

	11.  Provide a deduct amount for each set of diagnostic software.
	
	
	
	<$1,450.00> Deduct – Allison
<$2,200.00> Deduct - Engine

	12. Provide deduct pricing for each hour of required equipment training.
	
	
	
	Training is provided at no cost for the customer

	13. Fuller 18 Speed manual transmission, with an Easy Pedal Plus clutch and a two-piece clutch brake.
	
	
	
	<$9,250.00> Deduct 

	14.  Option for suck on the go capability to include a fully functional boom and water flow to the hand gun.  The unit shall have the specified vacuum capability during this style of operation.
	
	
	
	$75,000.00


21

